{Transiey

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

KEDJEHJUL FORBORRADE

STANDARD SPROCKETS

Kedja Nr. / Chain No.
ISO 04

6 x 2.8 mm

Kedjehjul mm
Tandradie r3 6
Radie C 0.6
Tandbredd Bf1 2.6
Tandbredd b1 -
Tandbredd B2 -
Tandbredd B3 -
Sprocket mm
Tooth Radius r3 6
Radius C 0.6
Tooth Width Bf1 2.6
Tooth Width b1 -
Tooth Width B2 -
Tooth Width B3 -
Kedja mm
Delning 6
Inv. bredd 2.8
Rulldiam. 4
Chain mm
Pitch 6
Inside (or internal) 2.8
Roller dia. 4

[TH i
EF: AE[ a8 1—4l§
4
.
B
B A
Il
gt d5  &81------- 8%
4
ii ol .
A

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-6-26 alt. P-6-50

HOW TO ORDER: S

pecify S, D, T or P plus chain pitch and no. of teeth ex. S-6-26 alt. P-6-50

Tand- Plant=P| Tand-
JBntal Simplex=S | Duplex=D Triplex=T _|Plate=P| 22!
teeth teeth
z Dy | Do |dm | Di| A |dm|[D:. | A |dm| D | A | D z
8 180 | 1667 | 98 5 | 10 5 8
9 199 | 1754 | 115 [ 5 | 10 5 9
10 21.7 19.42 13.0 6 10 6 10
11 236 | 2130 | 140 6 | 10 6 11
12 254 | 2318 [ 160 | 6 | 10 6 12
13 273 | 2506 | 180 | 6 | 10 8 13
14 202 | 269 [200 | 6 | 10 8 14
15 311 | 2686 [ 200 | 6 | 10 8 15
16 330 | 8076 [ 200 | 8 | 13 8 16
17 350 | 3266 [ 200 8 | 13 8 17
18 369 | 3455 [ 200 8 [ 13 8 18
19 388 | 3644 | 200 | 8 | 13 8 19
20 407 | 5634 [200| 8 | 18 8 20
21 426 | 4025 | 250 | 8 | 13 8 21
22 445 | 4216 | 250 | 8 | 13 8 22
23 464 | 4406 | 250 | 8 | 13 8 23
24 483 | 459 [ 250 | 8 | 13 8 24
25 50.2 47.87 25.0 8 13 8 25
2 521 | 4977 | 800 | 8 [ 15 10 26
27 540 | 5167 | 800 | 8 | 15 10 27
28 559 | 5358 | 300 | 8 | 16 10 2
29 578 | 5550 | 300 | 8 | 16 10 2
30 508 | 6742 [ 300 | 8 | 15 10 30
3t 617 | 5931 [ 300 | 10 | 15 10 3t
32 636 | 6121 [ 300 | 10 | 15 10 32
33 655 | 6311 [ 800 | 10 [ 15 10 33
3 674 | 6502 | 300 | 10 | 15 10 3
35 693 | 6693 [500 | 10 | 15 10 £
36 712 | 6884 [ 300 | 10 | 15 10 36
a7 731 | 7075 | 300 | 10 | 16 10 a7
38 750 | 7266 | 300 | 10 | 15 10 38
39 769 | 7456 | 300 | 10 | 15 10 39
a0 789 | 7647 | 600 | 10 | 18 10 a0
a1 808 | 78.38 a1
42 827 | 80.8 12 22
a3 847 | 8219 a3
a4 866 | 8410 12 a4
a5 865 | 8601 | 620 | 12 | 18 12 a5
46 904 | 879 [620 | 12 | 18 12 46
a7 923 | 8983 a7
48 94.2 91.74 62.0 12 18 12 48
29 9.1 | 9364 29
50 960 | 0556 [ 620 | 12 | 18 12 50
51 995 | o747 51
52 1018 | 99.37 12 52
53 1087 | 101.27 53
54 1056 | 108.17 12 54
55 1076 | 105.08 12 5%
56 1005 | 107.00 12 56
57 1114 | 10893 | 62 | 12 | 18 12 57
58 1133 | 11082 12 58
59 1162 | 112.71 50
60 1174 | 11462 12 60
62 1209 | 118.45 16 62
64 1247 | 122.07 16 64
65 126.6 124.18 16 65
66 1285 | 126.00 16 66
68 1324 | 129,01 68
70 1362 | 133.73 16 70
72 1400 | 137.55 72
75 1457 | 143.08 16 75
76 1476 | 14519 | 62 | 12 | 18 16 76
78 1515 | 149.01 78
80 1653 | 152.62 16 80
85 1648 | 162.37 16 85
9 1744 | 17192 16 9%
95 1839 | 18147 16 95
100 | 1035 | 101.01 16 100
110 | 2116 | 210.11 16 110
14| 2002 | 217.5 16 114
120 231.7 229.20 16 120
125 241.2 238.75 16 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




tif: 08-446 39 90

{Transicy

www.translev.se

info@translev.se
fax: 08-756 44 73

STANDARD SPROCKETS

KEDJEHJUL FORBORRADE

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-8-26 alt. P-8-50

HOW TO ORDER: S

pecify S, D, T or P plus chain pitch and no. of teeth ex. S-8-29 alt. S-8-50

Kedja Nr. / Chain No. Tand- Plant=P| Tand-
antal Simplex=S Duplex=D Triplex=T _p| antal
|SO 058 No. of P P P Plate=P No. of
teeth teeth
8 x 3.0 mm Z Dy Do |dn| Di| A |dn |D: | A |dm| Ds | A D p 4
8 234 2090 | 13 6 | 12 | 12 6 | 18 6 8
L 9 25.9 2339 | 15 6 | 12 | 15 6 | 18 6 9
Kedjehijul mm
) 10 28.4 2589 | 17 6 | 12 | 17 8 | 18 3 10
Tandradie r3 5 11 31.0 28.39 18 7 | 13 | 19 8 | 18 8 11
: 12 33.7 30.91 20 7 | 13 | 21 8 | 18 8 12
Radie C 0.8 13 36.7 3342 | 23 7 | 13 | 24 8 | 18 8 13
Tandbredd B1 2.8 14 39.2 35.95 25 7 | 13 | 26 8 | 18 8 14
Tandbredd b1 2.7 15 a7 3848 | 28 7 | 13 | 29 3 | 18 3 15
Tandbredd B2 8.3 16 44.2 41.01 30 8 | 14 | 32 10 | 20 8 16
17 46.7 4353 |30 8 | 14 | 34 10 | 20 3 17
Tandbredd B3 - 18 492 46.07 30 8 | 14 37 10 | 20 8 18
19 51.7 48.61 30 8 | 14 | 39 10 | 20 8 19
Sprocket mm 20 54.2 5114 | 30 8 | 14 | 40 | 10 | 20 8 20
, 21 57.2 5367 | 35 8 | 14 | 45 12 | 20 10 21
Tooth Radius r35 22 59.4 56.21 35 8 | 14 45 12 | 20 10 22
Radius C 0.8 23 62.2 58.75 | 35 8 | 14 | 45 12 | 20 10 23
. 24 64.7 6129 | 35 8 | 14 | 45 12 | 20 10 24
Tooth Width B1 2.8
; 25 67.2 63.83 | 35 8 | 14 | 45 12 | 20 10 25
Tooth W’,dth b1 2.7 26 69.7 66.37 | 40 | 10 | 16 | 50 12 | 22 10 26
Tooth Width B2 8.3 27 723 68.91 40 | 10 | 16 | 50 12 | 22 10 27
: 28 74.7 7145 | 40 | 10 | 16 | 50 12 | 22 10 28
Tooth Width B3 - 29 77.2 7399 | 40 | 10 | 16 | 50 | 12 | 22 10 29
. 30 80.2 7653 | 40 | 10 | 16 | 50 12 | 22 10 30
Kedja mm 31 82.7 79.08 40 | 12 | 16 | 60 12 | 22 10 31
. 32 85.2 81.61 20 | _12 | 16 | 60 12 | 22 10 32
Delning 8 33 87.7 84.16 40 | 12 | 16 | 60 12 | 22 10 33
Inv. bredd 3 34 90.2 86.70 | 40 | 12 | 16 | 60 12 | 22 10 34
Rulldiam. 5 35 97 | 8924 | 40 | 12 | 16 | 60 | 12 | 22 10 35
36 95.2 91.79 | 40 | 12 | 16 | 60 12 | 22 10 36
i 37 97.7 9433 | 40 | 12 | 16 | 60 12 | 22 12 37
Chain mm 38 100.2 96.88 | 40 | 12 | 16 | 60 12 | 22 12 38
) 39 102.7 9942 | 40 | 12 | 16 | 60 12 | 22 12 39
Pitch 8
Inside (or internal 3 40 105.3 101.97 40 12 16 60 12 22 12 40
( s ) 41 107.8__ | 104.51 12 a1
Roller dia. 5 42 1104 | 107.05 12 42
43 1129 | 109.60 43
a4 1155 | 112.14 12 24
c 45 1180 | 11469 | 60 | 12 | 20 12 45
26 1206 | 11723 | 60 | 12 | 20 12 46
a7 1231 | 119.77 a7
13 a8 1256 | 122.32 | 60 | 12 | 20 12 a8
49 1282 | 124.86 a9
50 130.7 | 127.41 60 | 14 | 20 12 50
51 1333 | 129.95 51
. 52 135.8 | 132.49 16 52
*E[ 53 138.4 | 135.04 53
54 1409 | 137.59 16 54
% 55 1435 | 140.13 16 55
N - o l c 56 146.0 | 142.68 16 56
g g rE aa a3 57 1486 | 14522 | 80 | 14 | 20 16 57
58 151.0 | 147.77 16 58
59 153.6 | 150.31 59
Jis 60 1562 | 152.85 16 60
o 62 162.0 | 157.95 16 62
B i 64 167.1__| 163.04 16 64
65 169.2 | 165.58 16 65
66 1722 | 168.13 16 66
- );( { W— - 68 1773 | 173.22 68
— [ 70 182.4__| 178.31 16 70
72 187.5__ | 183.41 72
Jd TPl e— le 75 1951 | 191.04 20 75
- nlu oS | 76 197.7 | 19359 | 80 | 14 | 20 20 76
78 202.8 | 19868 | 80 | 14 | 20 78
it
80 207.9 | 203.77 20 80
1] 8 i 85 220.6 | 216,50 20 85
— il 90 2334 | 229.23 20 90
b, D1 |
”Jsz - B 95 2461 | 241.96 20 95
100 2589 | 254.68 20 100
110 284.3 | 280.15 20 110
114 2945 | 290.33 20 114
120 310.0 | 305.61 20 120
125 3225 | 318.34 20 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




tl

{Transiey

www.translev.se
If: 08-446 39 90

fax: 08-756 44 73

info@translev.se

KEDJEHJUL FORBORRADE

STANDARD SPROCKETS

Kedja NR. / Chain No.
ISO 06B

3/8” x 7/32”

Kedjehjul mm
Tandradie r3 10
Radie C 1

Tandbredd B1 5.3
Tandbredd b1 5.2
Tandbredd B2 154
Tandbredd B3 25.6

Sprocket mm
Tooth Radius r3 10
Radius C 1

Tooth Width B1 5.3
Tooth Width b1 5.2
Tooth Width B2 15.4
Tooth Width B3 25.6

Kedja mm
Delning 9.525
Inv. bredd 5.72
Rulldiam. 6.35
Chain mm
Pitch 9.525
Inside (or intenal) 5.72
Roller dia. 6.35

Dy
D
D1
Dy
Do
D1
dm

B:

Dy
Do

|

|

|

|
D>
dm

Dy

D

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-38-26 alt. P-38-50

HOW TO ORDER: S

pecify S, D, T or P plus chain pitch and no. of teeth ex. S-38-26 alt. P-38-50

Ds
dm

il Simplex=S | Duplex=D | Triplex=T |pi2mt=P! totai
anta = = = anta

zantal implex uplex riplex Plate=P| 2ntal

teeth teeth

Dy Do dm D+ A dm D: A dm Ds A D+

8 28.6 24.89 15 8 20 15 8 25 15 8 32 6 8
9 31.5 27.85 18 8 20 18 8 25 18 8 32 8 9
10 34.5 30.82 20 8 20 20 8 25 20 10 32 8 10
11 37.5 33.80 22 8 25 22 10 30 22 12 35 8 11
12 40.5 36.80 25 8 25 25 10 30 25 12 35 8 12
13 43.5 39.80 28 8 25 28 10 30 28 12 35 8 13
14 46.5 42.80 31 8 25 31 10 30 31 12 35 8 14
15 49.5 45.81 34 8 25 34 10 30 34 12 35 8 15
16 52.5 48.82 37 10 28 37 12 30 37 12 35 10 16
17 55.5 51.83 40 10 28 40 12 30 40 12 35 10 17
18 58.6 54.85 43 10 28 43 12 30 43 12 35 10 18
19 61.6 57.87 45 10 28 46 12 30 46 12 35 10 19
20 64.6 60.89 46 10 28 49 12 30 49 12 35 10 20
21 67.6 63.91 48 12 28 52 16 30 52 16 40 10 21
22 70.6 66.93 50 12 28 55 16 30 55 16 40 10 22
23 73.7 69.95 52 12 28 58 16 30 58 16 40 10 23
24 76.7 72.97 54 12 28 61 16 30 61 16 40 10 24
25 79.7 76.00 57 12 28 64 16 30 64 16 40 10 25
26 82.7 79.02 60 12 28 67 16 30 67 16 40 10 26
27 85.7 82.04 60 12 28 70 16 30 70 16 40 10 27
28 88.8 85.07 60 12 28 73 16 30 73 16 40 10 28
29 91.8 88.09 60 12 28 76 16 30 76 16 40 10 29
30 94.8 91.12 60 12 28 79 16 30 79 16 40 10 30
31 97.9 94.16 65 14 30 80 16 30 80 16 40 12 31
32 100.9 97.17 65 14 30 80 16 30 80 16 40 12 32
33 103.9 100.20 65 14 30 80 16 30 80 16 40 12 33
34 106.9 103.23 65 14 30 80 16 30 85 16 40 12 34
35 110.0 106.26 65 14 30 80 16 30 85 16 40 12 35
36 113.0 109.29 70 16 30 90 16 30 90 16 40 12 36
37 116.0 112.32 70 16 30 90 16 30 90 16 40 12 37
38 119.0 115.34 70 16 30 90 16 30 90 16 40 12 38
39 122.1 118.37 70 16 30 90 16 30 90 16 40 12 39
40 1251 121.40 70 16 30 90 16 30 90 16 40 12 40
1M 128.5 124.43 70 16 30 16 1M
42 131.6 127.46 70 16 30 90 16 30 16 42
43 134.6 130.49 70 16 30 16 43
44 137.6 133.52 70 16 30 16 44
45 140.7 136.54 70 16 30 90 16 30 16 45
46 143.7 139.58 70 16 30 90 16 30 90 16 40 16 46
47 146.7 42.61 16 47
48 149.7 45.64 70 16 30 16 48
49 152.7 48.66 16 49
50 155.7 151.69 80 20 30 20 50
51 158.7 154.72 20 51
52 161.8 157.75 20 52
53 164.8 160.78 20 53
54 167.8 163.82 90 20 30 20 54
55 170.8 166.85 90 20 30 20 55
56 173.8 169.88 20 56
57 176.9 172.91 80 20 30 90 20 30 90 16 40 20 57
58 179.9 175.93 20 58
59 183.0 178.96 59
60 186.0 181.99 20 60
62 192.1 188.06 20 62
64 198.2 194.12 20 64
65 201.6 197.15 20 65
66 204.6 200.18 20 66
68 210.7 206.24 20 68
70 216.7 212.30 20 70
72 222.8 218.37 20 72
74 228.4 224.43 90 20 30 20 74
76 234.9 230.49 80 20 30 90 20 30 90 16 40 20 76
78 241.0 236.55 20 78
80 247 1 242.61 90 20 30 20 80
85 262.2 257.77 25 85
920 277.4 272.93 25 920
95 292.5 288.08 80 20 30 90 20 30 90 16 40 25 95
100 307.7 303.25 25 100
110 338.0 333.55 25 110
114 349.5 345.68 80 20 30 90 20 30 90 16 40 25 114
120 368.3 363.86 25 120
125 383.5 379.02 25 125

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm




{Transicy

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
STANDARD SPROCKETS
BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-316-26 alt. P-316-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-316-26 alt. P-316-50
Kedja Nr. / Chain No. Tand- Plant=P| Tand-
antal Simplex=S Duplex=D Triplex=T _pl| antal
ISO 083/084 No. of P P P Plate=P| §o'of
” ” teeth teeth
1/2” x 3/16 z Dy Do [dm | D | A |dn|D. | A |dn| D | A D
8 395 3318 | 21 8 | 14 8 8
Kedjehjul mm 9 43.4 37.13 25 8 14 8 9
) 10 47.4 4110 | 28 8 | 14 8 10
Tandradie r3 13 11 51.4 45.07 31 8 | 16 8 11
Radie c 13 12 55.4 49.07 | 35 8 | 16 8 12
Tandoredd 81 45 Rl g lEEl el s
Tandbredd b1 - 15 674 61.00 | 47 | _8 | 16 8 15
Tandbr B2 _ 16 71.4 6510 | 50 | 10 | 18 8 16
Tznggr:gg B3 17 75.4 69.11 50 | 10 | 18 8 17
18 79.4 7314 | 50 | 10 | 18 8 18
19 83.5 7716 | 50 | 10 | 18 8 19
Sprocket mm 20 87.5 81.19 50 10 [ 18 8 20
, 21 91.5 85.22 60 | 12 | 20 8 21
Tooth Radius r3 13 22 955 89.24 | 60 | 12 | 20 10 2
Radius . C 1.3 23 99.6 9327 | 60 | 12 | 20 10 23
Tooth Width B1 4.5 24 103.6 97.29 60 | 12 | 20 12 24
: 25 1076 | 101.33_| 60 | 12 | 20 12 25
Tooth Width b1 - 26 1117 [ 10536 | 70 | 16 | 20 12 26|
Tooth Width B2 - 27 1157 | 10940 | 70 | 16 | 20 12 27
Tooth Width B3 - 28 119.7 | 11342 | 70 | 16 | 20 12 28
29 1238 | 11746 | 70 | 16 | 20 12 29
Kedi 30 1278 | 12150 | 70 | 16 | 20 12 30
edja mm 31 131.8 | 12554 70 | 16 | 20 12 31
Delnlng 127 32 135.9 129.56 70 16 20 12 32
nbredd 488 TR R ETE I3
Rulldiam. 7.75 35 1480 | 141.68 | 70 | 16 | 20 12 35
36 152.0 | 145.72 70 | 16 | 25 16 36
Chain mm 37 156.1 149.76 | 70 | 16 | 25 16 37
. 160.1 153, 7 1 2 1
pich N S RE AR AR s
Inside (or interna[) 4.88 40 168.2 161.87 70 16 25 16 40
. 41 1714 | 165.91 16 41
Roller dia. 7.75 22 1754 | 169.95 | 70 | 20 | 30 16 42
43 1795 | 173.99 16 43
44 1835 | 178.03 16 44
45 1875 | 182.07 16 45
c 46 1916 | 18610 | 70 | 20 | 30 20 46
T 47 1956 | 190.14 20 47
13 48 199.7 | 194.18 20 48
49 2037 | 198.22 20 49
50 207.8 | 20226 | 80 | 20 | 30 20 50
51 211.8 | 206.30 20 51
52 2159 | 210.34 20 52
] *E{ 53 219.9 | 214.37 20 53
54 2240 | 218.43 20 54
55 2280 | 22246 | 80 | 20 | 30 20 55
% 56 2321 | 226.50 20 56
N j ol 5[ c 57 2361 | 23054 | 80 | 20 | 30 20 57
o O o [af=) B
U] 58 2402 | 23458 20 58
59 2442 | 238.62 59
% 60 2482 | 24266 | 80 | 20 | 30 20 60
iy 62 256.7 | 250.76 20 62
o 64 2643 | 258.82 20 64
B1 A
65 268.8 | 262.86 20 65
66 2729 | 266.90 66
- W— - 68 2809 | 274.99 25 68
{ 70 289.0 | 283.07 25 70
— 72 2971 | 291.16 25 72
3ol QNIE SS ——————— -gl_g 75 - 75
aa s 76 3133 | 30733 | 80 | 20 | 30 25 76
78 321.4 | 315.40 78
/A 80 3294 | 323.48 25 80
85 349.7 | 343.70 25 85
- ™ i % 3699 | 363.90 25 %0
b, D1 |
”JEZ ‘lf B 95 80 | 20 | 30 25 95
A A 100 410.3 404.31 25 100
110 4507 | 444.74 25 110
114 4669 | 46090 | 80 | 20 | 30 25 114
120 4912 | 485.16 25 120
125 511.4 | 505.37 25 125

Reservation fér mattférandringar / Reservation for dimensional changes
4 Métt i mm / Dimensions in mm




{Transiey

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
STANDARD SPROCKETS
BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-12-26 alt. P-12-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-12-26 alt. P-12-50
Kedja Nr. / Chain No. Tand- Plant=P][ Tand-
antal Simplex=S Duplex=D Triplex=T _p| antal
1ISO 08B No. of P P P Plate=P| yo. o
teeth teeth
” ”
1/2” x 5/16 z Dy Do [dm | D:| A |dn|D. | A |dn| D | A D
8 38.0 3318 | 20 | 10 | 25 | 20 10 | 32 20 | 10 | 46 8 8
Kedjehjul mm 9 42.0 3713 | 24 | 10 | 25 | 24 10 | 32 24 | 12 | 46 8 9
Tandradie r3 13 10 459 4110 | 26 | 10 | 25 | 28 10 | 32 28 | 12 | 46 8 10
. 11 499 4507 | 29 | 10 | 25 | 32 12 | 35 32 | 16 | 50 10 11
Radie C 1.3 12 53.9 49.07 | 33 10 | 28 | 35 12 | 35 35 | 16 | 50 10 12
Tandbredd B1 7.0 13 57.9 5306 | 37 | 10 | 28 | a8 12 | 35 38 | 16 | 50 10 13
14 61.9 57.07_|_41 10 | 28 | 42 12 | 35 42 | 16 | 50 10 14
Tandbredd b1 7.0
15 65.9 61.09 | 45 | 10 | 28 | 46 12 | 35 46 | 16 | 50 10 15
Tandbredd B2 21.0 16 69.9 6510 | 50 | 12 | 28 | 50 16 | 38 50 | 16 | 50 10 16
Tandbredd B3 34.9 17 74.0 69.11 52 12 | 28 | 54 16 | 38 54 | _16 | 50 10 17
18 78.0 7314 | 56 | 12 | 28 | 58 16 | 38 58 | 16 | 50 10 18
19 82.0 7716 | 60 | 12 | 28 | 62 16 | 38 62 | 16 | 50 10 19
Sprocket mm
) 20 86.0 8119 | 64 | 12 | 28 | 66 16 | 38 66 | 16 | 50 10 20
Tooth Radius r3 13 21 90.1 85.22 68 14 | 28 70 16 | 40 70 | 16 | 55 12 21
: 22 94.1 89.24 | 70 | 14 | 28 | 70 16 | 40 70 | 16 | 55 12 22
Radius C 1.3 23 981 | 9327 | 70 | 14 | 28 | 70 | 16 | 40 | 70 | 16 | 56 12 23
Tooth Width B1 7.2 24 102.1 9729 | 70 | 14 | 28 | 75 16 | 40 75 | 16 | 55 12 24
Tooth Width b1 7.0 25 1062 | 101.33 | 70 | 14 | 28 | 80 16 | 40 80 | 16 | 55 12 25
Tooth Width B2 21.0 26 1102 | 105.36 | 70 | 16 | 30 | 85 16 | 40 85 | 20 | 55 16 26
. 27 1142 | 10940 | 70 | 16 | 30 | 85 16 | 40 85 | 20 | 55 16 27
Tooth Width B3 34.9 28 1183 | 11342 | 70 | 16 | 30 | 90 | 16 | 40 | 90 | 20 | 55 16 28
29 1223 | 11746 | 80 | 16 | 30 | 95 16 | 40 95 | 20 | 55 16 29
Kedja mm 30 1263 | 12150 | 80 | 16 | 30 | 100 16 | 40 | 100 | 20 | 55 16 30
: 31 130.4 12554 | 90 | 16 | 30 | 100 20 | 40 10 |_20 | 55 16 31
Delning 12.7 2 134.4 129.56 | 90 | 16 | 30 | 100 20 | 40 10 | 20 | 55 16 32
Inv. bredd 775 33 138.4 133.60 | 90 | 16 | 30 | 100 20 | 40 10 | 20 | 55 16 33
nv. ore . 34 1425 | 13764 | 90 | 16 | 30 | 100 | 20 | 40 | 110 | 20 | 55 16 34
Rulldiam. 8.51
35 1465 | 141.68 | 90 | 16 | 30 | 100 20 | 40 | 110 | 20 | 55 16 35
36 1506 | 145.72 | 90 | 16 | 35 | 100 20 | 40 | 120 | 25 | 55 16 36
; 37 1546 | 149.76 | 90 | 16 | 35 | 100 20 | 40 | 120 | 25 | 55 16 37
Chain mm 38 1586 | 153.80 | 90 | 16 | 35 | 100 20 | 40 | 120 | 25 | 55 16 38
Pitch 12.7 39 162.7 | 157.83 | 90 | 16 | 35 | 100 20 | 40 | 120 | 25 | 55 16 39
Inside (or internal) 7.75 20 166.7 | 161.87 | 90 | 16 | 35 [ 100 | 20 | 40 | 120 | 25 | 55 16 40
; 4 171.4__| 165.91 9 | 16 | 35 20 41
Roller dia. 8.51 42 1754 | 169.95 | 90 | 16 | 35 | 100 20 | 40 | 120 | 25 | 55 20 42
43 1797 | 17399 | 90 | 16 | 35 20 43
44 1838 | 178.03 | 90 | 16 | 35 | 100 20 | 40 20 44
c 45 1880 | 182.07 | 90 | 16 | 35 | 100 20 | 40 20 45
46 192.1 186.10 | 90 | 16 | 35 | 100 20 | 40 | 120 | 25 | 55 20 46
47 196.2 90.14 | 90 | 16 | 35 20 47
13 48 200.3 9418 | 90 | 16 | 35 | 100 20 | 40 20 48
49 204.3 98.22 20 49
50 2083 | 20226 | 100 | 20 | 35 | 110 20 | 40 20 50
51 2121 | 206.30 20 51
. 52 2161 | 21034 | 100 | 20 | 35 20 52
*E[ 53 2202 | 21437 | 100 | 20 | 35 20 53
54 2241 | 218.43 110 20 | 40 | 120 | 25 | 55 20 54
% 55 2281 | 20046 120 | 25 | 55 20 55
N . ol l c 56 2322 | 226.50 20 56
ad rE ao o 57 2364 | 23054 | 100 | 20 | 35 | 110 20 | 40 | 120 | 25 | 55 20 57
58 2405 | 234.58 20 58
59 2445 | 238.62 59
,,j 60 2486 | 24266 | 100 | 20 | 35 | 110 20 | 40 | 120 | 25 | 55 20 60
o 62 2569 | 250.75 25 62
B & 64 2651 | 258.82 | 100 | 20 | 35 | 110 20 | 40 | 120 | 25 | 55 25 64
65 269.0 | 262.86 120 | 25 | 55 25 65
66 273.0 | 266.90 25 66
- W— - 68 281.0 | 274.99 110 20 | 40 25 68
{ 69 286.0 | 279.02 110 20 | 40 25 69
72 2972 | 291.16 25 72
Jd Je  As1 = 715 75 3092 | 303.27 25 75
ag| - nlv s 76 3133 | 30733 | 100 | 20 | 35 | 110 20 | 40 | 120 | 25 | 55 25 76
78 321.4 | 315.40 25 78
/A
80 3294 | 32348 | 100 | 20 | 35 | 110 20 | 40 25 80
1 | i 85 349.0 | 343.69 25 85
5L rmal 90 369.9 | 363.90 25 90
B B 95 3901 | 38441 | 100 | 20 | 35 | 110 20 | 40 | 120 | 25 | 55 25 95
A
100 4103 | 404.31 25 100
110 450.7 | 444.74 25 110
114 4669 | 460.90 | 100 | 20 | 35 | 110 20 | 40 | 120 | 25 | 55 25 114
120 4912 | 485.16 25 120
125 511.3 | 505.37 25 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 5




info@translev.se
fax: 08-756 44 73

{TrANsLEV
'TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

STANDARD SPROCKETS

KEDJEHJUL FORBORRADE

Kedja Nr. / Chain No.

ISO 10B

5/8” x 3/8”

Kedjehjul mm
Tandradie r3 16
Radie C 1.6

Tandbredd B1 9.1
Tandbredd b1 9.0
Tandbredd B2 25.5
Tandbredd B3 42.1

Sprocket mm
Tooth Radius r3 16
Radius C 1.6

Tooth Width B1 9.1
Tooth Width b1 9.0
Tooth Width B2 25.5
Tooth Width B3 42.1

Kedja mm
Delning 15.875
Inv. bredd 9.65
Rulldiam. 10.16
Chain mm
Pitch 15.875

Inside (or internal) 9.65
Roller dia. 10.16

c

o

Dy
D
D1
Dy
Do
D1
dm

B:

Dy
Do
D>
dm
Dy
Do
D |
dm

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-58-26 alt. P-58-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. P-58-26 alt. P-58 50

Taf;dl' . . Plant=P Ta';dl-
antal = = - anta
Jantal Simplex=S Duplex=D Triplex=T |(pjate=P Jantal
teeth teeth
Dy Do dm | Di| A |dm | D | A |dm | Ds A D:
8 484 41.48 25 | 10 | 25 25 | 12 | 40 25 | 12 | 55 10 8
9 53.3 46.42 30 | 10 | 25 30 | 12 | 40 30 | 12 | 55 10 9
10 58.3 51.37 35 | 10 | 25 35 | 12 | 40 35 | 16 | 55 10 10
11 63.2 56.34 37 | 12 | 30 39 | 16 | 40 39 | 16 | 55 10 11
12 68.2 61.34 42 [ 12 | 30 44 | 16 | 40 44 | 16 | 55 10 12
13 732 66.32 47 | 12 | 30 49 | 16 | 40 49 | 16 | 55 10 13
14 78.2 71.34 52 | 12 | 30 54 | 16 | 40 54 | 16 | 55 12 14
15 832 76.36 57 | 12 | 30 59 | 16 | 40 59 | 16 | 55 12 15
16 88.3 81.37 60 | 12 | 30 64 | 16 | 45 64 | 16 | 60 12 16
17 93.3 86.39 60 | 12 | 30 69 | 16 | 45 69 | 16 | 60 12 17
18 98.3 91.42 70 | 14 | 30 74 |16 | 45 74 | 16 | 60 12 18
19 103.3 96.45 70 | 14 | 30 79 |16 | 45 79 | 16 | 60 12 19
20 1084 | 101.49 75 | 14 | 30 84 | 16 | 45 84 | 16 | 60 12 20
21 1134 | 106.52 75 | 16 | 30 85 | 20 | 45 85 | 20 | 60 12 21
22 1184 | 111.55 80 | 16 | 30 90 | 20 | 45 90 | 20 | 60 12 2
23 1235 | 116.58 80 | 16 | 30 95 | 20 | 45 95 | 20 | 60 12 23
24 1285 | 121.62 80 | 16 | 30 | 100 | 20 | 45 | 100 | 20 | 60 12 24
25 133.6 | 126.66 80 | 16 | 80 | 105 | 20 | 45 | 105 | 20 | 60 12 25
26 138.6 | 131.70 85 | 20 | 35 | 110 | 20 | 45 | 110 | 20 | 60 16 26
27 1436 | 136.75 85 | 20 | 35 | 110 | 20 | 45 | 110 | 20 | 60 16 27
28 1487 | 141.78 90 | 20 | 35 | 115 | 20 | 45 | 115 | 20 | 60 16 28
29 153.7 | 146.83 90 | 20 | 35 | 115 | 20 | 45 | 115 | 20 | 60 16 29
30 1588 | 151.87 90 | 20 | 35 | 120 | 20 | 45 | 120 | 20 | 60 16 30
31 163.8 | 156.92 95 | 20 | 35 | 120 | 20 | 45 | 120 | 20 | 60 16 31
2 168.9 | 161.95 95 | 20 | 35 | 120 | 20 | 45 | 120 | 20 | 60 16 32
33 173.9 | 167.00 95 | 20 | 35 | 120 | 20 | 45 | 120 | 20 | 60 16 33
34 178.9 | 172.05 95 | 20 | 35 | 120 | 20 | 45 | 120 | 20 | 60 16 34
35 184.0 | 177.10 95 | 20 | 35 | 120 | 20 | 45 | 120 | 20 | 60 16 35
36 189.0 | 18215 | 100 | 20 | 35 | 120 | 20 | 45 | 120 | 25 | 60 20 36
37 194.1 187.20 | 100 | 20 | 35 | 120 | 20 | 45 | 120 | 25 | 60 20 37
38 199.1 19224 | 100 | 20 | 35 | 120 | 20 | 45 | 120 | 25 | 60 20 38
39 2042 | 19729 | 100 | 20 | 35 | 120 | 20 | 45 | 120 | 25 | 60 20 39
40 2092 | 20234 | 100 | 20 | 35 | 120 | 20 | 45 | 120 | 25 | 60 20 40
41 2148 | 207.39 | 100 | 20 | 35 20 41
42 2199 | 21244 | 100 | 20 | 35 20 42
43 2249 | 21749 | 100 | 20 | 35 20 43
44 2300 | 22253 | 100 | 20 | 35 20 a4
45 2350 | 22758 | 110 | 20 | 35 120 | 25 | 60 20 45
46 240.1 23263 | 110 | 20 | 35 | 120 | 20 | 45 | 120 | 25 | 60 20 46
47 245 1 237.68 20 47
48 2502 | 242.73 | 110 | 20 | 35 | 120 | 20 | 45 20 48
49 25502 | 247.78 20 49
50 2603 | 25282 | 110 | 25 | 35 | 120 | 20 | 45 20 50
51 2653 | 257.87 20 51
52 2704 | 262.92 20 52
53 2754 | 267.97 20 53
54 2805 | 27303 | 110 | 25 | 35 | 120 | 20 | 45 20 54
55 2855 | 278.08 | 110 | 25 | 35 20 55
56 2906 | 283.13 25 56
57 2960 | 28818 | 110 | 25 | 35 | 120 | 20 | 45 | 120 | 25 | 60 25 57
58 300.7 | 293.23 25 58
59 305.7 | 298.27 59
60 3108 | 30332 | 110 | 25 | 35 25 60
62 3214 | 313.43 25 62
64 3315 | 32353 | 110 | 25 | 35 25 64
65 3365 | 328.58 25 65
66 3416 | 333.63 25 66
68 351.7 | 343.74 25 68
70 361.8 | 353.84 25 70
72 3719 | 363.95 25 72
75 387.1 379.09 25 75
76 392.1 38416 | 110 | 25 | 35 | 120 | 20 | 45 | 120 | 25 | 60 25 76
78 4022 | 394.25 25 78
80 4123 | 404.35 25 80
85 4376 | 429.62 30 85
90 462.8 | 454.88 30 90
95 4885 | 48014 | 110 | 25 | 35 | 120 | 20 | 45 | 120 | 25 | 60 30 95
100 5134 | 505.40 30 100
110 563.9 | 555.92 30 110
114 584.1 57613 | 110 | 25 | 35 | 120 | 20 | 45 | 120 | 25 | 60 30 114
120 614.8 | 606.44 30 120
125 639.7 | 631.71 30 125

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm




tl

{Transiey

www.translev.se
If: 08-446 39 90

fax: 08-756 44 73

info@translev.se

STANDARD SPROCKETS

KEDJEHJUL FORBORRADE

Kedja Nr. / Chain No.
ISO 12B

3/4” x 7/16”

Kedjehjul mm
Tandradie r3 19
Radie C 2

Tandbredd B1 11.1
Tandbredd b1 10.8
Tandbredd B2 30.3
Tandbredd B3 49.8

Sprocket mm
Tooth Radius r3 19
Radius C 2

Tooth Width B1 11.1
Tooth Width b1 10.8
Tooth Width B2 30.3
Tooth Width B3 49.8

Kedja mm
Delning 19.05
Inv. bredd 11.68
Rulldiam. 12.07
Chain mm
Pitch 19.05
Inside (or internal) 11.68
Roller dia. 12.07

c

o

Dy
D
D1
Dy
Do
D1
dm

B:

Dy
Do
I
I
I
|
D:
dm
Dy
Do
Ds
dm

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-34-26 alt. P-34-50

HOW TO ORDER: S

pecify S, D, T or P plus chain pitch and no. of teeth ex. S-34-26 alt. P-34-50

Taf;dl' . . Plant=P Tart'dl-
antal = = - anta
Jantal Simplex=S Duplex=D Triplex=T |(p/ate=P Jantal
teeth teeth
Dy Do dm | Di| A |dm | D | A |dm | Ds A D:

8 58.0 4978 31 12 | 30 31 16 | 45 31 16 | 65 10 8
9 63.9 55.70 37 | 12 | 30 37 | 16 | 45 37 | 16 | 65 10 9
10 69.8 61.64 42 | 12 | 30 42 | 16 | 45 42 | 16 | 65 10 10
11 75.8 67.61 46 | 16 | 35 47 | 16 | 50 47 | 20 | 70 12 11
12 81.8 73.60 52 | 16 | 35 53 16 | 50 53 | 20 | 70 12 12
13 87.8 79.59 58 | 16 | 35 59 16 | 50 59 | 20 | 70 12 13
14 93.8 85.61 64 | 16 | 35 65 | 20 | 50 65 | 20 | 70 16 14
15 99.8 91.63 70 | 16 | 35 71 20 | 50 71 20 | 70 16 15
16 105.8 97.65 75 | _16 | 35 77 | 20 | 50 77 | 20 | 70 16 16
17 111.9 | 103.67 80 | 16 | 35 83 | 20 | 50 83 | 20 | 70 16 17
18 117.9 | 109.71 80 | 16 | 35 89 | 20 | 50 89 | 20 | 70 16 18
19 1239 | 115.75 80 | 16 | 35 95 | 20 | 50 95 | 20 | 70 16 19
20 130.0 | 121.78 80 | 16 | 35 | 100 | 20 | 50 | 100 | 20 | 70 16 20
21 136.0 | 127.82 90 | 20 | 40 [ 100 | 20 | 50 | 100 | 25 | 70 16 21
22 142.0 | 133.86 90 | 20 | 40 [ 100 | 20 | 50 | 100 | 25 | 70 16 22
23 148.1 139.90 90 | 20 | 40 [ 110 | 20 | 50 | 110 | 25 | 70 16 23
24 154.1 145.94 90 | 20 | 40 | 110 | 20 | 50 | 110 | 25 | 70 16 24
25 160.2_ | 152.00 90 | 20 | 40 [ 120 | 20 | 50 | 120 | 25 | 70 16 25
26 166.2 | 158.04 95 | 20 | 40 [ 120 | 20 | 50 | 120 | 25 | 70 16 26
27 172.3 | 164.09 95 | 20 | 40 [ 120 | 20 | 50 | 120 | 25 | 70 16 27
28 1783 | 170.13 95 | 20 | 40 [ 120 | 20 | 50 | 120 | 25 | 70 16 28
29 184.4 | 176.19 95 | 20 | 40 [ 120 | 20 | 50 | 120 | 25 | 70 16 29
30 1904 | 182.25 95 | 20 | 40 [ 120 | 20 | 50 | 120 | 25 | 70 16 30
31 1965 | 188.31 95 | 20 | 40 | 120 | 25 | 50 | 130 | 25 | 70 20 31
32 2025 | 194.35 95 | 20 | 40 | 120 | 20 | 50 | 130 | 25 | 70 20 32
33 208.6 | 200.40 95 | 20 | 40 | 120 | 20 | 50 | 130 | 25 | 70 20 33
34 2146 | 206.46 95 | 20 | 40 [ 120 | 20 | 50 | 130 | 25 | 70 20 34
35 2207 | 21252 95 | 20 | 40 [ 120 | 20 | 50 | 130 | 25 | 70 20 35
36 2268 | 21858 | 100 | 25 | 40 | 120 | 25 | 50 | 130 | 25 | 70 20 36
37 2328 | 22464 | 100 | 25 | 40 | 120 | 25 | 50 | 130 | 25 | 70 20 37
38 2389 | 23069 | 100 | 25 | 40 | 120 | 25 | 50 | 130 | 25 | 70 20 38
39 2449 | 23675 | 100 | 25 | 40 | 120 | 25 | 50 | 130 | 25 | 70 20 39
40 2510 | 24281 | 100 | 25 | 40 | 120 | 25 | 50 | 130 | 25 | 70 20 40
41 2573 | 24887 | 100 | 25 | 40 25 41
42 2645 | 25493 | 100 | 25 | 40 25 42
43 2705 | 26098 | 100 | 25 | 40 25 43
44 2765 | 267.03 | 100 | 25 | 40 25 44
45 2825 | 27310 | 100 | 25 | 40 25 45
46 2879 | 27916 | 100 | 25 | 40 | 120 | 25 | 50 | 130 | 25 | 70 25 46
47 294.0 | 285.21 25 47
48 300.1 29127 | 100 | 25 | 40 | 120 | 25 | 50 25 48
49 3062 | 297.33 25 49
50 3123 | 30339 | 110 | 30 | 40 25 50
51 3184 | 309.45 25 51
52 3245 | 31550 25 52
53 3305 | 321.56 25 53
54 3366 | 32764 | 110 | 30 | 40 25 54
55 342.7 | 337.70 25 55
56 3487 | 339.75 25 56
57 3554 | 34581 | 110 | 30 | 40 | 120 | 25 | 50 | 130 | 25 | 70 25 57
58 3615 | 351.87 25 58
59 3675 | 357.93 59
60 3730 | 363.99 | 110 | 30 | 40 25 60
62 385.1 376.12 62
64 3972 | 38824 | 110 | 30 | 40 25 64
65 4032 | 394.29 25 65
66 409.2 | 400.35 30 66
68 4214 | 412.49 30 68
70 4336 | 424.60 30 70
72 447.0 | 436.74 30 72
75 463.9 | 454.91 30 75
76 4699 | 46099 | 110 | 30 | 40 | 120 | 25 | 50 | 130 | 25 | 70 30 76
78 482.1 473.10 30 78
80 4942 | 48522 30 80
85 5245 | 51555 30 85
90 554.8 | 545.86 30 90
95 585.1 57617 | 110 | 30 | 40 | 120 | 25 | 50 | 130 | 25 | 70 30 95
100 6154 | 606.47 30 100
110 676.1 667.11 30 110
114 7006 | 691.36_| 110 | 380 | 40 | 120 | 25 | 50 | 130 | 25 | 70 30 114
120 736.7 | 727.74 30 120
125 767.0 | 758.05 30 125

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm




info@translev.se
fax: 08-756 44 73

{TrANsLEV
'TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

STANDARD SPROCKETS

KEDJEHJUL FORBORRADE

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-1-26 alt. P-1-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-1-26 alt. P-1-50

Kedja Nr. / Chain No. Tand- Plant=P] Tand-
antal Simplex=S Duplex=D Triplex=T —p| antal
ISO 16B No. of P P p Plate=P| o, of
teeth teeth
”
17 x 17,02 mm Dy Do [dm | D:| A |dn | D. | A |dn| D | A D
8 779 6637 | 42 | 16 | 35 | 42 | 20 | 65 | 42 | 20 | 9 16 8
Kedjehijul mm 9 85.8 7457 | 50 | 16 | 35 | 50 | 20 | 656 | 50 | 20 | 95 16 o
; 10 93.8 8219 | 55 | 16 | 35 | 56 | 20 | 65 | 56 | 20 | 95 16 10
Tancllradle r3 26 11 101.7 90.14 | 61 | 16 | 40 | 64 | 20 | 70 | 64 | 25 | 100 16 11
Radie C 2.5 12 109.7 98.14 69 | 16 | 40 72 | 20 | 70 72 | 25 [ 100 16 12
13 1177 | 10612 | 78 | 16 | 40 | 80 | 20 | 70 | 80 | 25 | 100 16 13
Tandbredd B1 16.2 14 1257 | 11415 | 84 | 16 | 40 | 88 | 20 | 70 | 88 | 25 | 100 16 14
Tandbredd b1~ 15.8 15 1337 | 12247 | 92 | 16 | 40 | 96 | 20 | 70 | 96 | 25 | 100 16 15
Tandbredd B2 47.7 16 141.8 | 13020 | 100 | 20 | 45 | 104 | 25 | 70 | 104 | 25 | 100 20 16
Tandbredd B3 79.6 17 124908 | 13822 | 100 | 20 | 45 | 112 | 25 | 70 | 112 | 25 | 100 20 17
18 157.8 | 146.28 | 100 | 20 | 45 | 120 | 25 | 70 | 120 | 25 | 100 20 18
19 1659 | 15432 | 100 | 20 | 45 | 128 | 25 | 70 | 128 | 25 | 100 20 19
Sprocket mm 20 1739 | 16238 | 100 | 20 | 45 | 130 | 25 | 70 | 130 | 25 | 100 20 20
Tooth Radius r3 26 21 182.0 | 17043 | 110 | 20 | 50 | 130 | 25 | 70 | 130 | 25 | 100 20 21
; 22 1901 | 17848 | 110 | 20 | 50 | 130 | 25 | 70 | 130 | 25 | 100 20 22
Radius C 2.5 >3 1981 | 18653 | 110 | 20 | 50 | 130 | 25 | 70 | 130 | 25 | 100 20 23
Tooth Width B1 16.2 >4 2062 | 19459 | 110 | 20 | 50 | 130 | 25 | 70 | 130 | 25 | 100 20 24
Tooth Width b1 15.8 25 2142 | 20266 | 110 | 20 | 50 | 130 | 25 | 70 | 130 | 25 | 100 20 25
. 2 2203 | 210.72 | 120 | 20 | 50 | 130 | 25 | 70 | 130 | 30 | 100 20 2
Tooth W’.dth B2 47.7 27 2304 | 21879 | 120 | 20 | 50 | 130 | 25 | 70 | 130 | 30 | 100 20 27
Tooth Width B3 79.6 28 2384 | 226585 | 120 | 20 | 50 | 130 | 25 | 70 | 130 | 30 | 100 20 28
29 2465 | 234.92 | 120 | 20 | 50 | 130 | 25 | 70 | 130 | 30 | 100 20 29
. 30 2546 | 243.00 | 120 | 20 | 50 | 130 | 25 | 70 | 130 | 30 | 100 20 30
Kedja mm 31 262.6 | 251.08 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 31
; 32 270.7 | 25913 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 32
Delning 25.4 33 278.8 | 267.01 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 33
Inv. bredd 17.02 34 2869 | 27528 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 34
Rulldiam. 15.88 35 2949 | 28336 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 35
36 303.0 | 291.44 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 36
. 37 3111 29951 | 120 | 25 | 50 | 140 | 25 | 70 25 37
Chain mm 38 3192 | 30759 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 38
Pitch 25.4 39 3270 | 31567 | 120 | 25 | 50 | 140 | 25 | 70 25 39
Inside (or internal) 17.02 40 3353 | 32373 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 30 | 100 25 40
. M 3450 | 331.82 | 120 | 25 | 50 25 4
Roller dia. 15.88 22 353.0 | 339.90 | 120 | 25 | 50 25 42
23 361.1 | 347.98 | 120 | 25 | 50 25 43
24 369.1 | 356.06 | 120 | 25 | 50 25 24
o 25 3771 | 36412 | 120 | 25 | 50 140 |40 | 100 25 25
26 3852 | 372201 | 120 | 25 | 50 | 140 | 25 | 70 | 140 | 40 | 100 25 6
a7 3932 | 38020 | 120 | 25 | 50 25 47
3 28 401.3 | 388.36 | 120 | 25 | 50 25 28
29 400.3 | 396.44 | 120 | 25 | 50 25 )
50 2174 | 40452 | 130 | 30 | 50 25 50
51 4955 | 412.60 30 51
] 52 433.6 | 42067 | 130 | 30 | 50 30 52
*E[ 53 441.7 | 428.75 30 53
54 448.3 | 436.85 | 130 | 30 | 50 30 54
% 55 4579 | 444.93 30 55
A - Jd I3 56 466.0 | 453.01 30 56
& g rE ala gs 57 4740 | 461.07 | 130 | 30 | 50 | 140 | 30 | 70 | 140 | 40 | 100 30 57
58 4821 | 469.16 30 58
59 4902 | 477.04 59
Jis 60 4983 | 48532 | 130 | 30 | 50 30 60
- 62 514.5 | 501.50 30 62
B x 64 530.7 | 517.65 | 130 | 30 | 50 30 64
65 538.8 | 525.73 30 65
66 546.8 | 533.80 30 66
- );( { W - 68 562.9 | 549.98 30 68
— [70 579.0 | 566.14 30 70
72 5954 | 582.32 | 130 | 30 | 50 30 72
Jd Je da [ ds 75 619.7 | 606.55 30 75
&1 4l =S [ 76 627.0 | 614.65 | 130 | 30 | 50 | 140 | 30 | 70 | 140 | 40 | 100 30 76
78 643.3 | 630.80 30 78
7
80 660.0 | 646.96 30 80
i g ] 85 699.9 | 687.40 30 85
ol Al ) 7403 | 727.81 30 90
E B 95 7811 | 768.22 | 130 | 30 | 50 | 140 | 30 | 70 | 140 | 40 | 100 30 95
100 821.1 | 808.63 30 100
110 902.0 | 889.48 30 110
114 9343 | 921.81 | 130 | 30 | 50 | 140 | 30 | 70 | 140 | 40 | 100 30 114
120 982.8 | 970.33 30 120
125 10232 [1010.73 30 125

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm




{Transiey

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
STANDARD SPROCKETS
BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-114-26 alt. P-114-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-114-26 alt. P-114-50
Kedja Nr. / Chain No. Tand- Plant=P] Tand-
antal Simplex=S Duplex=D Triplex=T —p| antal
ISO 20B No. of P P P Plate=P| o, o
1/ 3/ teeth teeth
17727 X %/ z Dy Do [dm | D:| A |dn|D. | A |dn| D | A D
8 96.0 8296 | 53 | 20 | 40 | 53 20 | 75 53 | 25 | 110 16 8
Kedjehijul mm 9 106.5 9284 | 63 | 20 | 40 | 63 20 | 75 63 | 25 | 110 16 9
Tandradi r 2 10 1170 | 102.74 | 70 | 20 | 40 | 70 20 | 75 70 | 25 | 110 16 10
a d adie 3 3 11 127.0 | 112.68 | 77 | 20 | 45 | 80 25 | 80 80 | 30 | 115 20 11
Radie C 3.5 12 137.0 | 122.68 | 88 | 20 | 45 | 90 25 | 80 90 | 30 | 115 20 12
13 1475 | 132.65 | 98 | 20 | 45 | 100 25 | 80 | 100 | 30 | 115 20 13
Tandbredd  B1 18.5 14 1576 | 142.68 | 108 | 20 | 45 | 110 25 | 80 | 110 | 30 | 115 20 14
Tandbredd b1 18.2
15 167.7 | 152.72 | 118 | 20 | 45 | 120 25 | 80 | 120 | 30 | 115 20 15
Tandbredd B2 54.6 16 177.7 | 162.75 | 120 | 25 | 50 | 120 | 30 | 80 | 120 | 30 | 115 20 16
Tandbredd B3 91.0 17 187.8__ | 172.78 | 120 | 25 | 50 | 120 30 | 80 | 120 | 30 | 115 20 17
18 197.8 | 182.85 | 120 | 25 | 50 | 120 30 | 80 | 120 | 30 [ 115 20 18
19 2079 | 19291 | 120 | 25 | 50 | 120 30 | 80 | 120 | 30 | 115 20 19
Sprocket mm
) 20 2179 | 20298 | 120 | 25 | 50 | 120 30 | 80 | 120 | 30 | 115 20 20
Tooth Radius r3 32 21 228.0 213.04 | 140 30 55 | 140 30 [ 80 | 140 30 | 115 25 21
) 22 2381 | 22311 | 140 | 30 | 55 | 140 30 | 80 | 140 | 30 | 115 25 22
Radius C 3.5 23 | 2482 | 23317 | 140 | 30 | 55 | 140 | 30 | 80 | 140 | 30 | 115 25 23
Tooth Width B1 18.5 24 258.3 | 24323 | 140 | 30 | 55 | 140 30 | 80 | 140 | 30 | 115 25 24
Tooth Width b1 18.2 25 2684 | 253.33 | 140 | 30 | 55 | 140 | 30 | 80 | 140 | 30 [ 115 25 25
: 26 2784 | 26340 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 26
Tooth W’,dth Bz 54.6 27 2885 | 27348 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 27
Tooth Width B3 91.0 28 2985 | 28356 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 28
29 3086 | 29365 | 150 | 30 | 55 | 150 30 | 80 30 29
Kedja mm 30 3187 | 303.75 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 30
i 31 328.8 | 313.85 | 150 | 30 | 55 | 150 30 | 80 30 31
Delning 31.75 3 3389 [ 32391 | 150 | 30 | 55 | 150 | 30 | 80 | 150 | 30 [ 115 30 32
33 349.0 | 33401 | 150 | 30 | 55 150 | 30 | 115 30 33
Inv. blredd 19.56 34 359.1 | 344.10 | 150 | 30 | 55 | 150 | 30 | 80 | 150 | 30 | 115 30 34
Rulldiam. 19.05
35 3692 | 35420 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 35
36 3792 | 364.30 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 36
hain mm 37 3893 | 37439 | 150 | 30 | 55 150 | 30 | 115 30 37
Cha 38 3994 | 38449 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 38
Pitch 31.75 39 4095 | 39459 | 150 | 30 | 55 30 39
Inside (or internal) 19.56 40 4196 | 40466 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 40
Roller dia. 19.05 4 4299 | 414.78 | 150 | 30 | 55 30 41
42 4400 | 42488 | 150 | 30 | 55 30 42
43 4501 | 43497 | 150 | 30 | 55 30 43
44 4602 | 44507 | 150 | 30 | 55 30 44
c 45 4703 | 45517 | 150 | 30 | 55 | 150 30 | 80 30 45
46 480.4 | 46526 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 46
47 4905 | 47536 | 150 | 30 | 55 47
13 48 500.6 | 485.46 | 150 | 30 | 55 30 48
49 510.7 | 49555 49
50 520.8 | 50565 | 150 | 380 | 55 30 50
51 5309 | 515.75 30 51
. 52 5410 | 52584 | 150 | 30 | 55 30 52
; *E[ 53 5511 | 535.94 53
54 5612 | 546.07 | 150 | 30 | 55 30 54
% 55 571.3 | 556.16 30 55
> N so || —lg 56 581.4 566.26 30 56
ad rE ao o 57 5015 | 576.36 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 57
58 601.6 | 586.46 30 58
59 611.7 | 596.55 59
,,é 60 621.8 | 606.65 30 60
o 62 642.0 | 626.87 62
B & 64 6622 | 647.02 30 64
65 6723 | 657.16 30 65
66 682.4 | 667.26 30 66
- );( { W— - 68 702.6 | 687.48 68
— 70 722.8 | 707.67 30 70
72 7431 | 727.90 72
Jd Je  As1 = le 75 7733 | 758.19 30 75
ag| - ﬂlv s 76 7835 | 76832 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 76
78 78
/A
80 8239 | 808.72 30 80
1 | i 85 8744 | 859.05 30 85
t— 5] 90 9249 | 909.76 30 90
b, D1 |
”ng _LLAJ 95 9752 | 96028 | 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 30 95
A
100 1026.0 [1010.79 40 100
110 110
114 1167.4__|1152.26_| 150 | 30 | 55 | 150 30 | 80 | 150 | 30 | 115 40 114
120 12309 [1212.90 120
125 1281.4__|1263.42 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 9




{Transicy

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

KEDJEHJUL FORBORRADE
STANDARD SPROCKETS

Kedja Nr. / Chain No.

ISO 24B
1" x1”
Kedjehijul mm
Tandradie r3 38.0
Radie C 4.0
Tandbredd B1 24.1
Tandbredd b1 23.6
Tandbredd B2 72.0
Tandbredd B3 120.3
Sprocket mm
Tooth Radius r3  38.0
Radius C 4.0
Tooth Width B1 24.1
Tooth Width b1 23.6
Tooth Width B2 72.0
Tooth Width B3 120.3
Kedja mm
Delning 38.1
Inv. bredd 25.4
Rulldiam. 25.4
Chain mm
Pitch 38.1
Inside (or internal) 25.4
Roller dia. 25.4
f
r3
__7%
EF: AE[ a8 1—4l§
4
.
B
B A
M
33t---- d§  d8{------- 8%
/A
EJ.L i‘ikj
A

10

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-112-26 alt. P-112-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-112-26 alt. P-112-50

Taf;dl' . . Plant=P Ta';dl-
antal = = - anta
Jantal Simplex=S Duplex=D Triplex=T |(pjate=P Jantal
teeth teeth
Dy Do dm | Di| A |dm | D | A |dm | Ds A D:
8 113.0 99.55 58 | 20 | 45 58 | 25 | 95 58 | 25 | 140 20 8
9 125.0 | 111.40 70 | 20 | 45 70 | 25 | 95 70 | 25 | 140 20 9
10 137.0 | 123.29 80 | 20 | 45 80 | 25 | 95 80 | 25 | 140 20 10
11 149.0 | 135.21 90 | 25 | 50 90 | 25 [ 100 90 | 30 | 150 25 11
12 161.0 | 147.22 | 102 | 25 | 50 | 102 | 25 [ 100 | 102 | 30 | 150 25 12
13 173.0 | 159.18 | 114 | 25 | 50 | 114 | 25 [ 100 | 114 | 30 | 150 25 13
14 185.0 | 171.22 | 128 | 25 | 50 | 128 | 25 [ 100 | 128 | 30 | 150 25 14
15 197.0 | 18326 | 132 | 25 | 50 | 132 | 25 [ 100 | 132 | 30 | 150 25 15
16 209.0 | 19530 | 136 | 25 | 55 | 136 | 30 | 100 | 136 | 30 | 150 25 16
17 2210 | 20734 | 136 | 25 | 55 | 186 | 30 | 100 | 136 | 30 | 150 25 17
18 2330 | 21942 | 136 | 25 | 55 | 160 | 30 | 100 | 160 | 30 | 150 25 18
19 2455 | 23149 | 136 | 25 | 55 | 160 | 30 | 100 | 160 | 30 | 150 25 19
20 2575 | 24357 | 136 | 25 | 55 | 160 | 30 | 100 | 160 | 30 | 150 25 20
21 2705 | 25565 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 21
22 2825 | 267.73 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 22
23 2945 | 27980 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 23
24 3070 | 291.88 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 24
25 3190 | 304.00 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 25
26 3310 | 316.08 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 26
27 3430 | 32819 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 27
28 3550 | 34027 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 28
29 3675 | 35238 | 150 | 30 | 60 | 160 | 30 | 100 30 29
30 3795 | 36450 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 30
31 3915 | 37662 | 150 | 30 | 60 | 160 | 40 | 100 30 31
32 4035 | 388.69 | 150 | 30 | 60 | 160 | 40 | 100 | 160 | 40 | 150 30 32
33 4155 | 40081 | 150 | 30 | 60 | 160 | 40 | 100 30 33
34 4280 | 412.93 | 150 | 30 | 60 | 160 | 40 | 100 30 34
35 4400 | 42504 | 150 | 30 | 60 | 160 | 40 | 100 | 160 | 40 | 150 30 35
36 4520 | 43716 | 150 | 30 | 60 | 160 | 40 | 100 30 36
37 4640 | 44927 | 150 | 30 | 60 | 160 | 40 | 100 30 37
38 4765 | 46139 | 150 | 30 | 60 | 160 | 40 | 100 | 160 | 40 | 150 30 38
39 4885 | 473.50 39
40 5015 | 48562 | 150 | 30 | 60 | 160 | 40 | 100 | 160 | 40 | 150 30 40
4 512.6 | 497.74 | 150 | 30 | 60 30 41
42 524.7 | 509.85 | 150 | 30 | 60 30 42
43 536.8 | 521.97 | 150 | 30 | 60 30 43
a4 5490 | 534.08 | 150 | 30 | 60 30 44
45 5612 | 54620 | 150 | 30 | 60 30 45
46 5733 | 558.32 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 46
47 585.4 57043 | 150 | 30 | 60 47
48 597.4 58255 | 150 | 30 | 60 30 48
49 609.5 | 594.66 49
50 6217 | 606.78 | 150 | 30 | 60 30 50
51 633.8 | 618.89 51
52 6460 | 631.01 30 52
53 6580 | 643.13 53
54 6702 | 655.25 30 54
55 682.3 | 667.40 30 55
56 694.4 | 679.50 30 56
57 7065 | 691.73 | 150 | 30 | 60 | 160 | 30 | 100 | 160 | 40 | 150 30 57
58 7186 | 703.74 30 58
59 730.7 | 715.86 59
60 7428 | 727.97 30 60
62 767.2 | 752.24 40 62
64 7913 | 776.48 64
65 803.4 | 788.59 40 65
66 8156 | 800.17 40 66
68 839.8 | 824.98 68
70 864.2 | 849.21 40 70
72 888.4 | 873.48 72
75 9248 | 909.83 75
76 9369 | 92198 | 150 | 30 | 60 | 150 | 30 | 100 | 160 | 40 | 150 40 76
78 78
80 9854 | 970.44 40 80
85 1046.0  [1031.10 40 85
90 1107.7__[1091.72 90
95 1167.3  [1152.33 | 150 | 30 | 60 | 150 | 30 | 100 | 160 | 40 | 150 40 95
100 12289 [1212.95 100
110 1350.0  [1334.21 110
114 13985  |1382.73 | 150 | 30 | 60 | 150 | 30 | 100 | 160 | 40 | 150 114
120 1471.4_ |1455.47 120
125 15321 [1516.10 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

fax: 08-756 44 73

info@translev.se

STANDARD SPROCKETS

KEDJEHJUL FORBORRADE

Kedja Nr. / Chain No.
ISO 28B
13/ x 11/4”

Kedjehjul mm
Tandradie r3 44.0
Radie C 5.0

Tandbredd B1 294
Tandbredd b1 28.8
Tandbredd B2 88.4
Tandbredd B3 148.0

Sprocket mm
Tooth Radius r3  44.0
Radius C 5.0

Tooth Width B1 29.4
Tooth Width b1 28.8
Tooth Width B2 88.4
Tooth Width B3 148.0

Kedja mm
Delning 44.45
Inv. bredd 30.99
Rulldiam. 27.94
Chain mm
Pitch 44.45
Inside (or internal) 30.99
Roller dia. 27.94

c

o

Dy
D
D1
Dy
Do
D1
dm

B:

Dy
Do
I
I
I
|
D:
dm
Dy
Do
Ds
dm

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-134-26 alt. P-134-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-134-26 alt. P-134-50
Tand- Plant=P| Tand-
antal i = = i = antal
Jantal Simplex=S Duplex=D Triplex=T |(p/ate=P Jantal
teeth teeth
Dy Do dm | D A | dm | D: A | dm | Ds A D:
8 132.0 116.15 74 25 70 74 30 | 120 74 30 | 180 20 8
9 146.0 129.96 88 25 70 88 30 | 120 88 30 | 180 20 9
10 160.0 143.85 100 25 70 100 30 | 120 100 30 | 180 20 10
11 174.0 157.77 112 25 70 112 30 | 120 112 30 | 180 25 11
12 188.0 171.74 125 25 70 125 30 | 120 125 30 | 180 25 12
13 204.0 185.75 125 25 70 125 30 | 120 125 30 | 180 25 13
14 218.0 199.76 125 | 25 70 | 125 30 [120 | 125 30 | 180 25 14
15 232.0 213.79 145 25 70 145 30 | 120 145 30 | 180 25 15
16 246.0 227.84 160 30 75 160 30 | 120 160 30 | 180 30 16
17 260.0 241.90 160 30 75 160 30 | 120 160 30 | 180 30 17
18 274.0 255.98 160 30 75 160 30 | 120 160 30 | 180 30 18
19 289.0 270.06 160 30 75 180 30 | 120 180 30 | 180 30 19
20 303.0 284.15 160 30 75 180 30 | 120 180 30 | 180 30 20
21 317.0 298.24 160 30 75 180 30 | 120 180 40 | 180 30 21
22 331.0 312.34 160 30 75 180 30 | 120 30 22
23 345.0 326.44 160 30 75 180 30 | 120 180 40 | 180 30 23
24 359.0 340.55 160 30 75 180 30 | 120 30 24
25 373.0 354.66 160 30 75 180 30 | 120 180 40 | 180 30 25
26 387.0 368.77 160 30 75 180 40 | 120 30 26
27 401.0 382.88 160 30 75 30 27
28 416.0 397.00 160 30 75 180 40 | 120 30 28
29 430.0 411.12 29
30 444.0 425.24 160 30 75 180 40 | 120 180 40 | 180 30 30
31 458.0 439.37 31
32 472.0 453.49 180 30 75 30 32
33 486.0 467.62 33
34 500.0 481.75 180 30 75 30 34
35 514.0 495.88 180 30 75 200 40 | 120 30 35
36 529.0 510.01 180 30 75 30 36
37 543.0 524.13 37
38 557.0 538.27 180 30 75 200 40 | 120 200 40 | 180 30 38
39 571.0 552.40 39
40 585.0 566.54 180 30 75 200 40 | 120 200 40 | 180 30 40
M 603.0 580.67 M
42 617.0 594.82 42
43 631.2 608.94 43
44 645.4 623.09 44
45 656.0 637.22 30 45
46 673.6 651.36 180 30 75 180 30 | 120 200 40 | 180 46
47 687.8 665.51 47
48 701.8 679.63 48
49 716.0 693.78 49
50 726.0 707.91 30 50
51 744.2 722.05 51
52 758.4 736.19 52
53 772.7 750.34 53
54 786.6 764.46 54
55 800.9 778.61 55
56 815.1 792.76 56
57 825.0 806.90 180 30 75 180 30 | 120 200 40 | 180 40 57
58 843.3 821.03 58
59 857.5 835.18 59
60 869.0 849.32 40 60
62 899.9 877.60 62
64 928.1 905.89 64
65 942.3 920.04 65
66 956.6 934.19 66
68 984.7 962.46 68
70 1012.9 990.75 70
72 1041.4  [1019.05 72
75 1083.8  |1061.47 75
76 1095.0 |1075.62 180 30 75 180 30 | 120 200 40 | 180 40 76
78 1126.2 1103.91 78
80 11544 [1132.21 80
85 1225.3  [1202.92 85
90 12959 [1273.66 90
95 1366.8  [1344.40 180 30 75 180 30 | 120 200 40 | 180 95
100 14374  [1415.11 100
110 1578.9  [1556.59 110
114 16355 [1613.18 114
120 1720.3  [1698.07 120
125 17909 [1768.81 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

11



info@translev.se
fax: 08-756 44 73

{TrANsLEV
'TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

STANDARD SPROCKETS

KEDJEHJUL FORBORRADE

Kedja Nr. / Chain No.
ISO 32B
2” x 1'/4"
Kedjehijul mm
Tandradie r3 51.0
Radie C 6.0

Tandbredd B1 294
Tandbredd b1 28.8
Tandbredd B2 87.4
Tandbredd B3 146.0

Sprocket mm
Tooth Radius r3  51.0
Radius C 6.0

Tooth Width B1 29.4
Tooth Width b1 28.8
Tooth Width B2 87.4
Tooth Width B3 146.0

Kedja mm
Delning 50.8
Inv. bredd 30.99
Rulldiam. 29.21
Chain mm
Pitch 50.8

Inside (or internal) 30.99
Roller dia. 29.21

c

o

Dy
D
D1
Dy
Do
D1
dm

B:

Dy
Do
D>
dm
Dy
Do
D |
dm

12

BESTALLNINGSEXEMPEL: Ange S, D, T alt. P plus kedjedelning och tandantal ex. S-2-26 alt. P-2-50
HOW TO ORDER: Specify S, D, T or P plus chain pitch and no. of teeth ex. S-2-26 alt. P-2-50

Taf;dl' . . Plant=P Ta';dl-
antal = = - anta
Jantal Simplex=S Duplex=D Triplex=T |(pjate=P Jantal
teeth teeth
Dy Do dm | Di| A |dm | D | A |dm | Ds A D:
8 152.0 | 132.74 85 | 30 | 80 85 | 30 | 120 85 | 30 | 180 25 8
9 168.0 | 14854 | 100 | 30 | 80 | 100 | 30 | 120 | 100 | 30 | 180 25 9
10 184.0 | 164.39 | 115 | 30 | 80 | 115 | 30 [ 120 | 115 | 30 | 180 25 10
11 2000 | 18031 | 125 | 30 | 80 | 125 | 35 | 120 | 125 | 35 | 180 30 11
12 2160 | 19629 | 133 | 30 | 80 | 133 | 35 | 120 | 133 | 35 | 180 30 12
13 2350 | 21229 | 145 | 30 | 80 | 145 | 35 | 120 | 145 | 35 | 180 30 13
14 2510 | 22829 | 145 | 30 | 80 | 145 | 35 | 120 | 145 | 35 | 180 30 14
15 2670 | 24430 | 145 | 30 | 80 | 160 | 35 [ 120 | 160 | 35 | 180 30 15
16 283.0 | 26040 | 160 | 30 | 90 | 160 | 40 | 120 | 160 | 40 | 180 30 16
17 299.0 | 27646 | 160 | 80 | 90 | 180 | 40 | 120 | 200 | 40 | 180 30 17
18 3150 | 29255 | 160 | 80 | 90 | 180 | 40 | 120 | 200 | 40 | 180 30 18
19 331.0 | 30866 | 160 | 30 | 90 | 200 | 40 | 120 | 200 | 40 | 180 30 19
20 3470 | 32471 | 180 | 40 | 90 | 200 | 40 | 120 | 200 | 40 | 180 40 20
21 363.0 | 34082 | 180 | 40 | 90 | 200 | 40 | 120 | 200 | 40 | 180 40 21
22 3790 | 35698 | 180 | 40 | 90 | 200 | 40 | 120 40 22
23 3960 | 373.08 | 180 | 40 | 90 | 200 | 40 [ 120 | 200 | 40 | 180 40 23
24 4120 | 389.18 | 180 | 40 | 90 | 200 | 40 | 120 40 24
25 4280 | 40533 | 180 | 40 | 90 | 200 | 40 | 120 | 200 | 40 | 180 40 25
26 4440 | 42144 | 180 | 40 | 90 | 200 | 40 | 120 40 26
27 460.0 | 437.59 27
28 4760 | 45369 | 180 | 40 | 90 | 200 | 40 | 120 40 28
29 492.0 | 469.85 29
30 5080 | 486.00 | 180 | 40 | 90 | 200 | 40 | 120 | 200 | 40 | 180 40 30
31 5250 | 502.13 31
2 541.0 | 51827 | 200 | 40 | 90 40 32
33 557.0 | 534.42 33
34 573.0 | 550.56 34
35 589.0 | 566.71 | 200 | 40 | 90 40 35
36 6050 | 582.86 36
37 6220 | 599.01 37
38 6380 | 61516 | 200 | 40 | 90 | 200 | 40 | 140 | 200 | 40 | 180 40 38
39 654.0 | 631.31 39
40 6700 | 64747 | 200 | 40 | 90 40 40
41 6952 | 663,63 41
42 7112 | 679.78 42
43 7275 | 69593 43
44 7437 | 712.09 44
45 751.0 | 72824 40 45
46 7760 | 74440 | 220 | 45 | 90 | 220 | 40 | 140 | 200 | 40 | 180 46
47 792.0 | 76055 47
48 8082 | 776.73 48
49 8245 | 792.89 49
50 831.8 | 809.04 40 50
51 856.7 | 825.20 51
52 872.7 | 841.35 52
53 889.0 | 857.53 53
54 9053 | 873.68 54
55 9213 | 882.84 55
56 9375 | 905.99 56
57 9450 | 92216 | 240 | 45 | 90 | 220 | 40 | 140 | 200 | 40 | 180 40 57
58 969.8 | 938.33 58
59 986.0 | 954.48 59
60 9934 | 970.65 40 60
62 10345 [1002.97 62
64 1066.8__|1035.30 64
65 10831 [1051.46 65
66 1099.1_ |1067.64 66
68 1131.6_ [1099.97 68
70 1163.8 [1132.28 70
72 1196.1_ [1164.62 72
75 12446 [1213.10 75
76 1252.0 (122927 | 240 | 45 | 90 | 220 | 40 | 140 | 200 | 40 | 180 40 76
78 12931 |1261.62 78
80 13254 [1293.95 80
85 1406.4_ [1374.78 85
90 14872 [1455.60 90
95 1568.0  [1536.45 95
100 16487 |1617.27 100
110 1810.1_ [1778.97 110
114 1875.0 _|1843.63 114
120 19721 [1940.64 120
125 2053.1__|2021.48 125

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{Transiey

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
KEDJEHJUL GJUTJARN
CAST IRON SPROCKETS
b1 b1
DIN 8187 Ni= C
ISO/R 606 7
! l
d 'D+-—--{Do Dy d |D{——| Do Dy d [D+— — Do Dy
° 1= | J | ‘
r3
i L B
Al B1 B2 B3
LA A A
ISO 06B 3/8” x 7/32”
Simplex Duplex Triplex
Kedjehjul / Sprockets mm z Dy Do d D A d D A d D A
Tandradie / Tooth Radius r3 10.0 38 119.0 | 115.34 70 20 32 80 20 40 90 24 56
Radie / Radius 9 1.0 45 1411 136.54 70 20 32 80 20 40 90 24 56
Tandbredd / Tooth Width B1 5.3 57 1775 | 172.91 70 20 32 80 20 40 90 24 56
Tandbredd / Tooth Width b1 5.2 76 235.1 | 230.49 70 20 35 80 20 40 100 24 56
Tandbredd / Tooth Width B2 15.4 95 292.7 | 288.08 80 20 40 90 20 45 100 24 56
Tandbredd / Tooth Width B3 25.6 114 350.3 | 345.68 80 20 40 95 20 45 100 24 56
150 459.4 454.82 90 24 45 125 24 60
Kedja / Chain mm
Delning / Pitch 9.525
Inv. bredd / Inside (or internal) 5.720
Rulldiam. / Roller dia. 6.350
ISO 08B 1/2” x 5/16”
Simplex Duplex Triplex
Kedjehjul / Sprockets mm z Dy Do d D A d D A d D A
Tandradie / Tooth Radius r3  13.0 38 158.6 | 153.80 70 24 40 90 24 50 100 24 60
Radie / Radius C 1.3 45 188.6 | 182.07 70 24 40 90 24 50 100 24 60
Tandbredd / Tooth Width B1 7.2 57 237.1 | 230.54 70 24 40 90 24 50 100 24 60
Tandbredd / Tooth Width b1 7.0 76 313.9 | 307.33 80 24 40 100 24 56 100 24 60
Tandbredd / Tooth Width B2 21.0 95 390.7 | 384.11 80 24 45 100 24 56 120 24 67
Tandbredd / Tooth Width B3 34.9 114 467.4 | 460.90 80 24 45 100 24 63 120 24 67
Kedja / Chain mm
Delning / Pitch 12.70
Inv. bredd / Inside (or internal) 7.75
Rulldiam. / Roller dia. 8.51
ISO 10B 5/8” x 3/8”
Simplex Duplex Triplex
Kedjehjul / Sprockets mm z Dy Do d D A d D A d D A
Tandradie / Tooth Radius r3 16.0 38 199.1 192.24 80 24 40 100 30 50 100 32 60
Radie / Radius 9] 1.6 45 236.0 | 227.58 80 24 40 100 30 50 100 32 60
Tandbredd / Tooth Width B1 9.1 57 296.6 | 288.18 90 24 45 100 30 56 100 32 63
Tandbredd / Tooth Width b1 9.0 76 392.5 | 384.16 90 24 50 100 30 63 110 35 67
Tandbredd / Tooth Width B2 25.5 95 488.5 | 480.14 100 24 56 110 30 63 125 35 70
Tandbredd / Tooth Width B3 42.1 114 584.5 | 576.13 100 24 56 125 30 70 125 35 80
Kedja / Chain mm
Delning / Pitch 15.875
Inv. bredd / Inside (or internal) 9.650
Rulldiam. / Roller dia. 10.160
ISO 12B 3/4” x 7/16”
Simplex Duplex Triplex
Kedjehjul / Sprockets mm z Dy Do d D A d D A d D A
Tandradie / Tooth Radius r3  19.0 38 238.9 | 230.69 100 24 56 110 25 63 115 30 70
Radie / Radlius C 2.0 45 283.2 | 273.10 100 24 56 110 30 63 140 30 70
Tandbredd / Tooth Width B1 111 57 355.9 | 345.81 100 30 56 120 30 63 140 40 70
Tandbredd / Tooth Width b1 10.8 76 4711 | 460.99 100 30 56 135 30 63 160 40 75
Tandbredd / Tooth Width B2 30.3 95 586.2 | 576.17 100 30 65 135 30 70 170 40 82
Tandbredd / Tooth Width B3 49.8 114 701.4 | 691.36 100 30 65 135 45 70 170 50 82
Kedja / Chain mm
Delning / Pitch 19.05
Inv. bredd / Inside (or internal) 11.68
Rulldiam. / Roller dia. 12.07

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 1 3



{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

KEDJEHJUL FOR ENKELKEDJOR
DUPLEX PLATEWHEELS FOR TWO SIMPLEX CHAINS

G .
Material: SIS 1650
L
R Kedjehjul for 2 enkelkedjor kan
ocksa specialtillverkas efter era
o onskemal i valfritt material.
LF rwﬁ T
E .
T Material: SIS 1650
c
Sprockets for two simplex chains
can also be made upon your request
and drawing
7
d
Best. nr. Tandantal Deln. diam.
Code No. of teeth Pitch dia. B A c E G L
3/8” FOR 2 ENKELKEDJOR ISO 06B-1 / For 2 simplex chains ISO 06B-1
2P-38-15 15 45.82 10 17.8 35 55 33.8 23
2P-38-17 17 51.84 12 17.8 41 61 33.8 23
2P-38-19 19 57.86 12 17.8 47 67 33.8 23
2P-38-21 21 63.91 15 17.8 53 73 33.8 23
2P-38-23 23 69.95 15 17.8 60 79 33.8 23
2P-38-25 25 76.00 15 17.8 66 85 33.8 23
1/2” FOR 2 ENKELKEDJOR ISO 08B-1 / For 2 simplex chains ISO 08B-1
2P-12-15 15 61.09 15 23.0 48 72 38.0 30
2P-12-17 17 69.11 15 23.0 56 80 38.0 30
2P-12-19 19 7717 15 23.0 64 88 38.0 30
2P-12-21 21 85.22 15 23.0 72 96 38.0 30
2P-12-23 23 93.27 15 23.0 80 104 38.0 30
2P-12-25 25 101.32 15 23.0 88 112 38.0 30
5/8” FOR 2 ENKELKEDJOR ISO 10B-1 / For 2 simplex chains ISO 10B-1
2P-58-15 15 76.35 15 25.2 60 91 48.2 34
2P-58-17 17 86.39 15 25.2 70 101 48.2 34
2P-58-19 19 96.44 20 25.2 80 111 48.2 34
2P-58-21 21 106.53 20 25.2 90 121 48.2 34
2P-58-23 23 116.59 20 25.2 100 131 48.2 34
3/4” FOR 2 ENKELKEDJOR ISO 12B-1 / For 2 simplex chains ISO 12B-1
2P-34-15 15 91.62 20 33.4 71 108 60.4 44
2P-34-17 17 103.68 20 33.4 83 120 60.4 44
2P-34-19 19 115.75 20 33.4 95 132 60.4 44
2P-34-21 21 127.81 25 33.4 107 144 60.4 44
1” FOR ENKELKEDJOR ISO 16B-1 / For 2 simplex chains ISO 16B-1
2P-1-15 15 12217 20 52.5 96 148 101.5 68
2P-1-17 17 138.23 25 52.5 112 164 101.5 68
2P-1-19 19 154.33 30 52.5 128 180 101.5 68
2P-1-21 21 170.41 30 52.5 144 196 101.5 68

14

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm




{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

Typ / Type Typ / Type Typ / Type
Ked ] a Nr. 1&2 4&5 6
Chain No. g e g .

ISO 06B i R
3/8” x 7/32”

—

- SnEl

——
3
m
f——F—
g
m
g
g
m

Typ / Type

7

&8

._C_L
) — r

Typ / Type

9

Ikcj —

Tl B

B | |k'|3:a|—_ ‘ia_4_lu l:\:ﬂ r_: "__j
b— L —| — —L L B
Simplex B-=53 Duplex B=154 Triplex B-=256
Buss- Buss- Buss-
Best. Nr. ning (Typ| Dn Best. Nr. ning (Typ| Dn Best. Nr. ning |Typ| Dn
Z Code Busch [Type min L (o} Code Busch|[Type min L (o} Code Busch|Type min L (o] Do E
16 3516B 1008| 1 | 45 | 22 | 20 3D16B 1008| 4 | 41 22 |14.3 3T16B |1008| 9 - 22 |12.8 48.82 | 58
17 3S17B 1008( 1 | 45 | 22 | 20 3D17B 1008| 4 | 41 22 (143 3T17B |1008| 9 - 22 |12.8 51.84 | 61
18 3518B 1008| 1| 45 | 22 | 20 3D18B 1008| 4 | 41 22 |14.3 3T18B |1108| 9 - 22 |12.8 54.85 | 64
19 3519B 1008| 1 | 47 | 22 | 20 3D19B 1008| 4 | 47 | 22 |14.3 3T19B |1108| 9 - 22 |12.8 57.85| 67
20 3520B 1008| 1| 50 | 22 | 20 3D20B 1008| 4 | 50 | 22 [14.3 3T20B |1108| 9 - 22 |12.8 60.89 | 70
21 3S21B 1008| 1| 50 | 22 | 20 3D21B 1008| 4 | 50 | 22 |14.3 3T21B |1108| 9 - 22 |12.8 63.91 | 73
22 3522B 1008| 1| 60 | 22 | 20 3D22B 1210| 4 | 60 | 25 [17.3 3T22B |1210| 9 - 25 |12.8 66.93 | 76
23 3523B 1210{ 1 | 60 | 25 | 23 3D23B 1210 4 | 60 | 25 |17.3 3T23B |1210| 9 - 25 |12.8 69.95 | 79
24 3524B 1210{ 1 | 60 | 25 | 283 3D24B 1210| 4 | 60 | 25 [17.3 3T24B |1210| 9 - 25 |12.8 7297 | 82
25 3525B 1210{ 1| 60 | 25 | 23 3D25B 1210 4 | 63 | 25 |17.3 3T25B |1210| 9 - 25 |12.8 76.02 | 86
26 3526B 1210{ 1 | 60 | 25 | 23 3D26B 1210| 4 | 63 | 25 [17.3 3T26B |1210| 9 - 25 |12.8 79.02 | 88
27 3S27B 1210{ 1 | 60 | 25 | 23 3D27B 1210 4 | 63 | 25 |17.3 3T27B |1210| 9 - 25 |12.8 82.02 | 91
28 3528B 1210{ 1| 60 | 25 | 283 3D28B 1210| 4 | 63 | 25 [17.3 3T28B |1210| 9 - 25 |12.8 85.07 | 94
29 3529B 1210{ 1| 60 | 25 | 23 3D29B 1210 4 | 63 | 25 |17.3 3T29B |1210| 9 - 25 |12.8 88.09 | 97
30 3S30B 1210{ 1| 60 | 25 | 283 3D30B 1210| 4 | 63 | 25 [17.3 3T30B |1610| 9 - 25 |12.8 91.12 | 100
31 3S31B 1210{ 1 | 60 | 25 | 23 3D31B 1210 4 | 63 | 25 |17.3 3T31B |1610| 9 - 25 |12.8 94.15 | 103
32 3S32B 1210{ 1 | 60 | 25 | 283 3D32B 1210| 4 | 63 | 25 [17.3 3T32B |1610| 9 - 25 |12.8 97.17 | 106
33 3S33B 1210{ 1 | 60 | 25 | 23 3D33B 1210 4 | 63 | 25 |17.3 3T33B |1610| 9 - 25 |12.8| {100.20 | 109
34 3S34B 1210{ 1 | 60 | 25 | 283 3D34B 1210| 4 | 63 | 25 [17.3 3T34B |1610| 9 - 25 |12.8| {103.23 | 112
35 3S35B 1210{ 1 | 60 | 25 | 23 3D35B 1210 4 | 63 | 25 |17.3 3T35B |1610| 9 - 25 112.8| [106.26 | 115
36 3S36B 1210{ 1| 60 | 25 | 23 3D36B 1210| 4 | 63 | 25 [17.3 3T36B |1610| 9 - 25 112.8| {109.20 [ 118
37 3S37B 1210{ 1| 60 | 25 | 23 3D37B 1210 4 | 63 | 25 |17.3 3T37B |1610| 9 - 25 |12.8| [112.32 | 121
38 3S38B 1210{ 1 | 60 | 25 | 283 3D38B 1610| 4 | 75 | 25 [17.3 3T38B |1610| 9 - 25 |12.8| [115.35 [ 124
39 3S39B 1210{ 1 | 63 | 25 | 23 3D39B 1610 4 | 75 | 25 |17.3 3T39B |1610| 9 - 25 |12.8| ({118.37 [ 127
40 3540B 1210{ 1 | 63 | 25 | 283 3D40B 1610| 4 | 75 | 25 [17.3 3T40B |1610| 9 - 25 (12.8| |121.40 | 130
42 3S42B 1210{2 | 63 | 25 | 28 3D42B 1610 5 | 75 | 25 |17.3 3T42B |1610| 8 - 25 |12.8| [127.46 | 136
45 3S45B 1210{ 2 | 63 | 25 | 28 3D45B 1610| 5 | 75 | 25 [17.3 3T45B |1610| 8 - 25 |12.8| [136.55 | 145
46 3S46B 1210|{ 2 | 63 | 25 | 23 3D46B 1610 5 | 75 | 25 |17.3 3T46B |1610| 8 - 25 |12.8| [139.58 | 149
48 3548B 1210{ 2 | 63 | 25 | 28 3D48B 1610| 5| 75 | 25 [17.3 3T48B |1610| 8 - 25 |12.8| [145.64 | 155
50 3S50B 12102 | 63 | 25 | 23 3D50B 1610 5 | 75 | 25 |17.3 3T50B |1610| 8 - 25 |12.8| [151.69 | 161
54 3S54B 1210{ 2 | 63 | 25 | 28 3D54B 1610| 5| 75 | 25 [17.3 3T754B |1610| 8 - 25 |12.8| [{163.82 [ 173
57 3S57B 12102 | 63 | 25 | 23 3D57B 1610 5 | 75 | 25 |17.3 3T57B |1610| 8 - 25 |12.8| [172.91 | 182
60 3S60B 1210{ 2 | 63 | 25 | 283 3D60B 1610| 5| 75 | 25 [17.3 3T60B |1610| 8 - 25 |12.8| [181.99 | 191
65 3S65B 12102 | 63 | 25 | 23 3D65B 1610| 5 | 75 | 25 [17.3 3T65B |1610| 8 - 25 12.8| [{197.15 | 206
70 3S70B 1210{ 2 | 63 | 25 | 283 3D70B 1610| 5| 75 | 25 [17.3 3T70B |1610| 8 - 25 |12.8| [212.30 | 221
76 3S76B 12102 | 63 | 25 | 23 3D76B 1610| 5 | 75 | 25 [17.3 3T76B |1610| 8 - 25 |12.8| [230.49 | 240
80 3S80B 1210{ 2 | 63 | 25 | 28 3D80B 1610| 5| 75 | 25 [17.3 3T80B |1610| 8 - 25 |12.8| [242.61 | 252
95 3S95B 12102 | 63 | 25 | 23 3D95B 1610| 5 | 75 | 25 [17.3 3T95B |1610| 8 - 25 |12.8| [288.08 | 297
114 | 3S114B 1610| 2 | 63 | 25 | 23 | 3D114B |2012| 5 | 75 | 32 [17.3] 3T114B [2012| 8 - 32 |12.8| [345.68 | 355

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

15



{TrANsLEV
'TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

Typ / Type Typ / Type Typ / Type Typ / Type Typ / Type

Kedja Nr. 1&2 4&5 6 7&8 9
Chain No. o pe e s map R
ISO 08B i ﬂT T IRity
1/2” X 5/16” lDPE lon Dp £ DnDp E l,;, DpE

—| —l | | —

éa_—' |:IIEEI—‘ — su—4 L:\:ij— r_k— L__j

—L—| — —t L B

Simplex B=7.2 Duplex B=210 Triplex B=34.9
Buss- Buss- Buss-
Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn Best. Nr. ning | Typ| Dn
V4 Code Busch|[Type min L Cc Code Busch|Typ€ min L C Code Busch(Typ€ min L (o] Do E
15 4S15B 1008| 1 | 46 | 22 | 19 4D15B 1008| 4 | 48 | 22 [11.5 4T15B |1008| 9 - 22 |17.4 61.09 | 73
16 4S16B 1108| 1| 50 | 22 | 19 4D16B 1008| 4 | 50 | 22 [11.5 4T16B | 1008| 9 - 22 |17.4 65.10 | 77
17 4S17B 1210{ 1 | 60 | 25 | 22 4D17B 1210| 4 | 56 | 25 [14.5 4T17B |1210| 9 - 25 |17.4 69.11 | 81
18 4518B 1210{ 1 | 60 | 25 | 22 4D18B 1210| 4 | 56 | 25 [14.5 4T18B |1210| 9 - 25 |17.4 73.14 | 85
19 4S19B 1210{ 1 | 63 | 256 | 22 4D19D 1210| 4 | 64 | 25 [14.5 4T19B |1210| 9 - 25 |17.4 7716 | 89
20 4S20B 1210{ 1 | 63 | 256 | 22 4D20B 1210| 4 | 64 | 25 [14.5 4T20B |1210| 9 - 25 |17.4 81.19 | 93
21 4S21B 1610| 1 | 71 25 | 22 4D21B 1610| 4 | 71 25 |14.5 4T21B |1610| 9 - 25 |17.4 85.22 | 98
22 4S22B 1610| 1 | 71 25 | 22 4D22B 1610| 4 | 71 25 (145 4T22B |1610| 9 - 25 |17.4 89.24 |1 102
23 4S23B 1610| 1 | 76 | 25 | 22 4D23B 1610| 4 | 79 | 25 [14.5 4T23B |1610| 9 - 25 |17.4 93.27 | 106
24 4S24B 1610| 1 | 76 | 25 | 22 4D24B 1610| 4 | 79 | 25 [14.5 4T24B |1610| 9 - 25 |17.4 97.29 | 110
25 4S25B 1610| 1 | 76 | 25 | 22 4D24B [2012| 4 | 87 | 32 |21.5 4T25B |2012| 6 | 87 | 32 [17.4| (101.33 114
26 45268 1610| 1 | 76 | 25 | 22 4D26B 2012 4 | 87 | 32 |21.5 4T26B |2012| 6 | 87 | 32 |17.4| [105.36 | 118
27 4S27B 1610| 1 | 76 | 25 | 22 4D27B [2012| 4 | 87 | 32 |21.5 4T27B |2012| 6 | 90 | 32 [17.4| |109.40 |122
28 4528B 1610| 1 | 76 | 25 | 22 4D28B |2012| 4 | 87 | 32 |21.5 4T728B |2012| 6 | 90 | 32 |17.4| [113.42 | 126
29 4S29B 1610| 1 | 76 | 25 | 22 4D29B [2012| 4 | 87 | 32 |21.5 4T29B |2012| 6 | 90 | 32 [17.4| [117.46 |130
30 4S30B 201211 | 90 | 32 | 29 4D30B |2012| 4 | 87 | 32 |21.5 4T30B |2012| 6 | 90 | 32 |17.4| [121.50 | 134
31 4S31B 201211 | 90 | 32 | 29 4D31B  [2012| 4 | 90 | 32 |21.5 4T31B |2012| 6 | 90 | 32 [17.4| |125.54 | 138
32 4S32B 201211 | 90 | 32 | 29 4D32B |2012| 4 | 90 | 32 |21.5 4T32B |2012| 6 | 90 | 32 |17.4| [129.56 | 142
33 4S33B 201211 | 90 | 32 | 29 4D33B (2012 4 | 90 | 32 |21.5 4T33B |2012| 6 | 90 | 32 [17.4| |133.60 | 146
34 4S34B 201211 | 90 | 32 | 29 4D34B |2012| 4 | 90 | 32 |21.5 4T34B |2012| 6 | 90 | 32 |17.4| [137.64 | 150
35 4S35B 201211 | 90 | 32 | 29 4D35B (2012 4 | 90 | 32 |21.5 4T35B |2517| 7 | 110| 45 |17.4| [141.68 | 154
36 4S36B 201211 | 90 | 32 | 29 4D36B 2012 4 | 90 | 32 |21.5 4T36B |2517| 7 | 110| 45 |17.4| [145.72 | 158
37 4S37B 201211 | 90 | 32 | 29 4D37B (2012 4 | 90 | 32 |21.5 4T37B |2517| 7 | 110| 45 |17.4| [149.76 | 162
38 4S38B 201211 | 90 | 32 | 29 4D38B (2012 4 | 90 | 32 |21.5 4T38B |2517| 7 | 110| 45 |17.4| |[153.80 | 166
40 4540B 201211 | 90 | 32 | 29 4D40B (2012 4 | 90 | 32 |21.5 4T40B |3020| 8 | 130| 51 |17.4| [161.87 | 174
42 45428 25172 [110| 45 |41.5) 4D42B |2517| 5 |110| 45 |34.5 4T42B |3020| 8 [ 130| 51 |17.4| [169.95 | 182
45 4545B 25172 [110| 45 |41.5]) 4D45B |2517| 5 |110| 45 |34.5 4T45B |3020| 8 | 130| 51 |17.4| [182.07 | 195
46 4S46B 25172 [110| 45 |41.5) 4D46B [2517| 5 |110| 45 |34.5 4T46B |3020| 8 | 130| 51 |17.4| [186.10 | 199
48 4548B 25172 [110| 45 |41.5) 4D48B |2517| 5 |110| 45 |34.5 4T48B |3020| 8 | 130| 51 |17.4| [194.18 | 207
50 4S50B 25172 [110| 45 |41.5) 4D50B [2517| 5 |110| 45 |34.5 4T50B |3020| 8 | 130| 51 |17.4| [202.26 | 215
54 4S54B 25172 [110| 45 |41.5]) 4D54B |2517| 5 |110| 45 |34.5 4T754B |3020| 8 | 130| 51 |17.4| [218.43 | 231
57 4S57B 25172 [110| 45 |41.5) 4D57B |2517| 5 |110| 45 |34.5 4T57B |3020| 8 | 130| 51 |17.4| [230.54 | 243
60 4S60B 25172 [110| 45 |41.5]) 4D60B |[2517| 5 |110| 45 |34.5 4T60B |3020| 8 | 130| 51 |17.4| |242.66 | 255
65 4S65B 25172 [110| 45 |41.5) 4De65B [2517| 5 |110| 45 |34.5 4T65B |3020( 8 | 130| 51 [17.4| |262.82 |275
70 4S70B 25172 [110| 45 |41.5]) 4D70B |[2517| 5 |110| 45 |34.5 4T70B |3020| 8 | 130| 51 |17.4| [283.07 | 296
76 4S76B 25172 [110| 45 |41.5) 4DveB |2517| 5 |110| 45 |34.5 4T76B |3020( 8 | 130| 51 [17.4| |307.33 | 320
80 4S80B 25172 [110| 45 |41.5]) 4D80B [2517| 5 |110| 45 |34.5 4T80B |3020| 8 | 160| 51 |17.4| [323.48 | 336
95 4895B 25172 [110| 45 |41.5) 4D95B [2517| 5 |110| 45 |34.5 4T95B |3020( 8 |160| 51 [17.4| |384.11 | 397
114 | 4S5114B 25172 [110| 45 |41.5] 4D114B |2517| 5 |110 | 45 |34.5| 4T114B |3020| 8 (160| 51 |17.4| [460.90 (473

Reservation fér mattférandringar / Reservation for dimensional changes

1 6 Matt i mm / Dimensions in mm




{Transiey

www.translev.se

info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

Typ/Type Typ/Type Typ/Type Typ/Type Typ / Type Typ / Type
Kedja Nr. 1&2 3 48&5 6 7&8 9
Chain No. o i [ g . L — gy
l plial alully

ISO 10B
5/8” x 3/8”

— ]

- s

[— I

[— E—

——
3
m

———
g

Tl B

- ] el e A g T | 7
= e =] el ] | bt
Simplex B=9.1 Duplex B=255 Triplex B=421
Buss- Buss- Buss-
Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn
V4 Code Busch|Type min L C Code Busch|Typg min L C Code Busch([Typel min L (o] Do E
13 5513B 1008| 1 | 46 | 22 (17.5] 5D13B 1108| 3 | - 22 |12.7 5T13B |1108| 9 - 22 | 21 66.32 | 82
14 5514B 1108( 1 | 53 | 22 |17.5] 5D14B 1108 3 | - 22 (12.7 5T14B |1108| 9 - 22 | 21 71.34 | 87
15 5515B 1210| 1 | 63 | 25 [20.5| 5D15B 1210| 3 | - 25 |12.7 5T15B |1210| 9 - 25 | 21 76.36 | 92
16 5516B 1210| 1 | 63 | 25 [20.5| 5D16B 1210( 3 | - 25 (12.7 5T16B |1210| 9 - 25 | 21 81.37 | 97
17 5817B 1610| 1 | 71 25 |20.5| 5D17B 1610 3 | - 25 |12.7 5T17B |1610| 6 | 71 25 | 21 86.38 | 102
18 5518B 1610| 1 | 71 25 |20.5| 5D18B 1610( 3 | - 25 (12.7 5T18B |1610| 6 | 71 25 | 21 91.42 |107
19 5519B 1610| 1 | 76 | 25 [20.5| 5D19B 1610 3 | - 25 |12.7 5T19B |1610| 6 | 71 25 | 21 96.45 | 112
20 5820B 1610| 1 | 76 | 25 [20.5| 5D20B 1610( 3 | - 25 (12.7 5T20B |1610| 6 | 71 25 | 21 101.49 |117
21 5S21B 1610| 1 | 76 | 25 [20.5| 5D21B 1610 3 | - 25 |12.7 5T21B |1610| 6 | 71 25 | 21 106.52 (122
22 5822B 1610( 1 | 76 | 25 |20.5] 5D22B 1610( 3 | - 25 (12.7 5T22B |1610| 6 | 71 25 | 21 111.55 |127
23 5S23B 1610| 1 | 76 | 25 [20.5| 5D23B 1610| 3 | - 25 |12.7 5T23B |1610| 6 | 71 25 | 21 116.58 [132
24 5824B 1610| 1 | 76 | 25 [20.5| 5D24B 1610 3 | - 25 |12.7 5T24B |2012| 6 | 90 | 32 | 21 121.62 | 137
25 5S25B 201211 | 90 | 32 |27.5]) 5D25B [2012| 4| 90 | 32 [19.3 5T25B |2012| 6 | 90 | 32 | 21 126.66 | 142
26 5526B 2012(1 | 90 | 32 |27.5] 5D26B 20121 4 | 90 | 32 |19.3 5T26B |2012| 6 | 90 | 32 | 21 131.70 | 147
27 5S827B 201211 | 90 | 32 |27.5]) 5D27B |2012| 4| 90 | 32 [19.3 5T27B |2012| 6 | 90 | 32 | 21 136.76 | 152
28 55828B 2012(1 | 90 | 32 |27.5] 5D28B 20121 4 | 90 | 32 |19.3 5T28B |2012| 6 | 90 | 32 | 21 141.78 | 157
29 5S29B 201211 | 90 | 32 |27.5]) 5D29B [2012| 4 | 90 | 32 [19.3 5T29B |2012| 6 | 90 | 32 | 21 146.83 | 162
30 5S830B 2012(1 | 90 | 32 |27.5] 5D30B 20121 4 | 90 | 32 |19.3 5T30B |2517| 8 [110| 45 | 21 151.87 | 167
31 5S31B 201211 | 90 | 32 |27.5]) 5D31B |[2517| 5 |110| 45 |32,3 5T31B |2517| 8 [110| 45 | 21 166.92 (172
32 5832B 2012(1 | 90 | 32 |27.5] 5D32B 2517 5 ({110 | 45 |32,3 5T32B |2517| 8 [110| 45 | 21 161.95 |177
33 5S33B 201211 | 90 | 32 |27.5]) 5D33B |[2517| 5 |110| 45 |32,3 5T33B |2517| 8 [110| 45 | 21 167.00 (182
34 5834B 2012(1 | 90 | 32 |27.5] 5D34B 2517 5 (110 | 45 |32,3 5T34B |2517| 8 | 110| 45 | 21 172.05 | 187
35 5S35B 251712 [110| 45 |39.5]) 5D35B |[2517| 5 |110| 45 |32,3 5T35B |2517| 8 [110| 45 | 21 177.10 (192
36 5S836B 251712 [110| 45 |39.5] 5D36B 2517 5 ({110 | 45 |32,3 5T36B |2517| 8 | 110| 45 | 21 182.15 |197
37 5S37B 25172 [110| 45 |39.5]) 5D37B |[2517| 5 |110| 45 |32,3 5T37B |2517| 8 [110| 45 | 21 187.20 | 203
38 5838B 251712 [110| 45 |39.5] 5D38B 2517 5 ({110 | 45 |32,3 5T38B |2517| 8 | 110| 45 | 21 192.24 | 208
40 5540B 25172 [110| 45 |39.5] 5D40B |[2517| 5 |110| 45 |32,3 5T40B |2517| 8 [110| 45 | 21 202.34 (218
42 5842B 251712 [110| 45 |39.5] 5D42B 2517 5 (110 | 45 |32,3 5T42B |2517| 8 | 110| 45 | 21 212.45 | 228
45 5545B 25172 [110| 45 |39.5]) 5D45B [2517| 5 |110| 45 |32,3 5T45B |2517| 8 [110| 45 | 21 227.58 (243
46 5S846B 251712 [110| 45 |39.5] 5D46B 3020( 5 {130 | 51 |38.3 5T46B |3030( 8 | 130| 76 | 21 232.63 | 248
48 5548B 25172 [110| 45 [39.5] 5D48B 3020( 5 {130 | 51 |38.3 5T48B |3030| 8 [130| 76 | 21 242.73 | 258
50 5850B 251712 [110| 45 |39.5] 5D50B 3020( 5 {130 | 51 |38.3 5T50B |3030( 8 | 130| 76 | 21 252.82 | 268
54 5854B 3020( 2 |130| 51 |46.5| 5D54B 3020( 5 {130 | 51 |38.3 5T54B |3030| 8 [130| 76 | 21 273.038 (288
57 5857B 3020| 2 (130 | 51 |46.5] 5D57B 3020( 5 {130 | 51 |38.3 5T57B |3030( 8 | 130| 76 | 21 288.18 | 303
60 5560B 3020 2 |130| 51 |46.5| 5D60B 3020( 5 {130 | 51 |38.3 5T60B |3030| 8 [130| 76 | 21 303.32 (319
65 5865B 3020| 2 (130 | 51 |46.5] 5D65B 3020( 5 {130 | 51 |38.3 5T65B |3030( 8 | 130| 76 | 21 328.58 344
70 5S870B 3020 2 |130| 51 |46.5| 5D70B 3020( 5 {130 | 51 |38.3 5T70B |3030| 8 [130| 76 | 21 353.84 (369
76 5876B 3020| 2 (130 | 51 |46.5] 5D76B 3020( 5 {130 | 51 |38.3 5T76B |3030( 8 |130| 76 | 21 384.16 [399
95 5595B 3020( 2 |130| 51 |46.5| 5D95B 3020( 5 {130 | 51 |38.3 5T95B |3030| 8 [130| 76 | 21 480.14 | 495
114 | 55114B 3020| 2 |130| 51 |46.5] 5D114B 3020| 5 {130 | 51 [38.3] 5T114B |3030| 8 [130| 76 | 21 576.13 | 591

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

17



{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

Typ / Type Typ / Type Typ / Type Typ / Type

Kedja Nr 1&2 4&5 7&8 9
Chain No. o ‘T; Bl = NN
ISO 12B LT ”’HIT : it
3/4” X 7/16” lon Dp E Tnps T[lpE Dp E

il ey L L

T o] == e

Simplex B-=11.1 Duplex B=303 Triplex B=498
Buss- Buss- Buss-
Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn Best. Nr. ning [Typ| Dn

y4 Code Busch|Typg min L C Code Busch|Type min L (] Code Busch(Typel min L C Do E

13 6S13B | 1210 63 | 25 |19.5] 6D13B |1215 60 | 38 | 23 6T13B | 1215 - 38 |24.9 79.69| 97

14 6S14B 1210 63 | 25 (19.5] 6D14B |1215 60 | 38 | 23 6T14B | 1215 - 38 |24.9 85.61| 103

15 6S15B | 1610 71 | 25 |19.5] 6D15B |1615 72 | 38 | 23 6T15B | 1615 - 38 |24.9 91.63 | 109

16 6S16B | 1610 71| 25 [19.5] 6D16B |1615 72 | 38 | 23 6T16B | 1615 - 38 |24.9 97.65| 115

17 6S17B 1610 76 | 25 (19.5] 6D17B |1615 80 | 38 | 28 6T17B | 2012 - 32 |24.9| | 103.67 | 121

18 6S18B | 1610 76 | 25 (19.5] 6D18B |1615 80 | 38 | 23 6T18B |2012 - 32 |24.9| |109.71 | 127

19 6S19B | 2012 90 | 32 |27.0] 6D19B |2012 90 | 32 | 17 6T19B |2012 - 32 |24.9| |115.75| 133

20 6S20B | 2012 90 | 32 |27.0] 6D20B |2012 90 | 32 | 17 6T20B |2012 - 32 |24.9| |121.78 | 139

21 6S21B | 2517 108 | 45 [38.5| 6D21B |2517 108 | 45 | 29 6T21B | 2517 - 45 |24.9| | 127.82 | 145

22 6S22B | 2517 108 | 45 |38.5| 6D22B |[2517 108 | 45 | 29 6T22B | 2517 - 45 |24.9| | 133.86 | 151

23 6S23B | 2517 110| 45 [38.5| 6D23B |2517 110 | 45 | 29 6T23B | 2517 - 45 |24.9| | 139.90 | 157

24 6S24B | 2517 110| 45 [38.5| 6D24B |2517 110 | 45 | 29 6T24B | 2517 - 45 |24.9| | 145.94 | 163

25 6S25B | 2517 110| 45 [38.5| 6D25B |2517 110 | 45 | 29 6T25B | 2517 - 45 |24.9| | 152.00 | 169

26 6S26B | 2517 110 | 45 |38.5|] 6D26B |[2517 110 | 45 | 29 6T26B | 2517 - 45 |24.9| | 158.04 | 175

27 6S27B | 2517 110| 45 [38.5| 6D27B |2517 110 | 45 | 29 6T27B | 3020 130| 51 |24.9| | 164.09 | 181

28 6S28B | 2517 110| 45 [38.5| 6D28B |2517 110 | 45 | 29 6T28B | 3020 130| 51 |24.9| |170.13| 187

29 6S29B | 2517 110| 45 [38.5| 6D29B |2517 110 | 45 | 29 6T29B | 3020 130| 51 |24.9| |176.19| 193

30 6S30B | 2517 110| 45 [38.5| 6D30B |2517 110 | 45 | 29 6T30B |3020 130| 51 |24.9| | 182.25| 199

31 6S31B | 2517 110| 45 [38.5|] 6D31B |3020 130 | 51 | 36 6T31B | 3030 130| 76 |24.9| | 188.31| 205

32 6S32B | 2517 110| 45 [38.5| 6D32B |3020 130 | 51 | 36 6T32B | 3030 130| 76 |24.9| | 194.36 | 211

33 6S33B | 2517 110| 45 [38.5|] 6D33B |3020 130 | 51 | 36 6T33B | 3030 130| 76 |24.9| | 200.40| 217

34 6S34B | 2517 110| 45 [38.5| 6D34B |3020 130 | 51 | 36 6T34B | 3030 130| 76 |24.9| | 206.46 | 223

35 6S35B | 2517 110| 45 [38.5|] 6D35B |3020 130 | 51 | 36 6T35B | 3030 130| 76 |24.9| | 212.52 | 230

36 6S36B | 2517 110| 45 [38.5| 6D36B |3020 130 | 51 | 36 6T36B | 3030 130| 76 |24.9| | 218.58 | 236

37 6S37B | 2517 110| 45 [38.5| 6D37B |3020 130 | 51 | 36 6T37B | 3030 130| 76 |24.9| | 224.64 | 242

38 6S38B | 3020 130| 51 [45.5| 6D38B |3020 130 | 51 | 36 6T38B | 3030 130| 76 |24.9| | 230.69 | 248

40 6S40B | 3020 130| 51 [45.5| 6D40B |3020 130 | 51 | 36 6T40B | 3030 130| 76 |24.9| | 242.81 | 260

42 6S42B | 3020 130| 51 [45.5| 6D42B |3020 130 | 51 | 36 6T42B | 3030 130| 76 |24.9| | 254.93 | 272

45 6S45B | 3020 130| 51 [45.5|] 6D45B |3020 130 | 51 | 36 6T45B | 3030 130| 76 |24.9| | 273.10| 290

46 6S46B | 3020 130| 51 [45.5| 6D46B |3020 130 | 51 | 36 6T46B | 3030 130| 76 |24.9| | 279.16 | 296

48 6S48B | 3020 130| 51 [45.5| 6D48B |3020 130 | 51 | 36 6T48B | 3030 130| 76 |24.9| | 291.27 | 308

50 6S50B | 3020 130| 51 [45.5] 6D50B |3020 130 | 51 | 36 6T50B | 3030 130| 76 |24.9| | 303.39 | 320

54 6S54B | 3020 130| 51 [45.5| 6D54B |3020 130 | 51 | 36 6T54B | 3030 130| 76 |24.9| | 327.64 | 345

57 6S57B | 3020 130| 51 [45.5| 6D57B |3020 130 | 51 | 36 6T57B | 3030 130| 76 |24.9| | 345.81 | 363

60 6S60B | 3020 130| 51 [45.5| 6D60B |3020 130 | 51 | 36 6T60B | 3030 130| 76 |24.9| | 363.99 | 381

65 6S65B | 3020 130| 51 [45.5| 6D65B |3020 130 | 51 | 36 6T65B | 3030 130| 76 |24.9| | 394.29 | 411

70 6S70B | 3020 130| 51 [45.5| 6D70B |3020 130 | 51 | 36 6T70B | 3030 130| 76 |24.9| | 424.60 | 442

76 6S76B | 3020 130| 51 [45.5| 6D76B |3020 130 | 51 | 36 6T76B | 3030 130| 76 |24.9| | 460.99 | 478

95 6S95B | 3020 130| 51 [45.5| 6D95B |3020 130 | 51 | 36 6T95B | 3030 130| 76 |24.9| | 576.17 | 594

(620 1@ I & B 62 I I T 2 I @ & 2 &2 I T 2 I @ @ @2 T I T I B @ 6 2 I I T 2 T @ N S [ S IR SN S (I S [ SN I S B S S N e N R RN R R R RS
0 (00 (0O |00 |00 (0O (0O | QO |00 |00 OO OO (OO (0O |00 |00 (0O OO |00 |00 |0 |0 0O |(00|N|N(O|[O|O|O©|©|©O|[O|[O|O©|O©|WO|O|WO©]|©

NN NN NN NN NN IN N NN IN NN NN NN N[ [ b b

114 | 6S114B | 3020 130| 51 [45.5| 6D114B | 3020 130| 51 | 36 | 6T114B |3030 130| 76 |24.9| | 691.36 | 708

Reservation fér mattférandringar / Reservation for dimensional changes
1 8 Matti mm / Dimensions in mm




{Transiey

www.translev.se

info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

— ]

Typ/Type Typ/Type Typ/Type Typ/Type Typ/ Type Typ / Type
Kedja Nr. 18&2 3 485 6 7&8 9
Chain No. o ﬁ‘rﬁ N NG N N g
1” X 17.02mm lon Dp E Dp E TDpE TWE T:m

- s

[ Rl e A
[—IB —L ‘:Bil

| W W A v

Tl B

| W W

- e e " f— e
Simplex B-=16.2 Duplex B=477 Triplex B=796
Buss- Buss- Buss-
Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn Best. Nr. ning [Typ| Dn
V4 Code Busch(Typg min L C Code Busch(Type min L C Code Busch({Typel min L (o} Do E
13 8513B 1615| 1| 73 | 38 | 30 8D13B 1615| 3 | - 38 [23.8 8T13B |1615| 9 - 38 |39.8| [106.12 [ 128
14 8S14B 1615| 1| 73 | 38 | 30 8D14B 1615 3 | - 38 [23.8 8T14B |1615| 9 - 38 |39.8| [114.15 (136
15 8515B 1615| 1| 76 | 38 | 30 8D15B 2012 3 | - 32 |23.8 8T15B |1615| 9 - 38 |39.8| [122.17 (144
16 8516B 1615| 1| 76 | 38 | 30 8D16B 2012 3 | - 32 [23.8 8T16B |2517| 9 - 45 |39.8| [ 130.20 | 152
17 8S17B 201211 | 90 | 32 | 24 8D17B 2517 3 | - 45 (23.8 8T17B |2517| 9 - 45 |39.8| [ 138.22 [ 160
18 8518B 201211 | 90 | 32 | 24 8D18B 2517 3 | - 45 (23.8 8T18B |2517| 9 - 45 |39.8| | 146.28 [ 168
19 8519B 2517(1 [110| 45 | 36 8D19B 2517 3 | - 45 (23.8 8T19B |3030| 9 - 76 |39.8| | 154.33 | 176
20 8520B 251711 |110| 45 | 36 8D20B 2517 3 | - 45 (23.8 8T20B |3030| 9 - 76 [39.8| | 162.38 | 184
21 8S21B 2517(1 [110| 45 | 36 8D21B 3020( 4 {130 | 51 |27.2 8T21B |3030| 6 | 130| 76 |39.8| | 170.43|192
22 8S22B 251711 |110| 45 | 36 8D22B 3020| 5 |130| 51 |27.2 8T22B |3030| 6 | 130| 76 |39.8| [ 178.48 200
23 8S23B 2517(1 [110| 45 | 36 8D23B 3020( 5 {130 | 51 |27.2 8T23B |3535| 7 | 160| 89 |39.8| | 186.53 | 209
24 8524B 2517(1 [110| 45 | 36 8D24B 3020( 5 [130| 51 |27.2 8T24B |3535| 7 | 160| 89 |39.8| [ 194.59 (217
25 8S25B 2517(2 [110| 45 | 36 8D25B 3020( 5 [130| 51 |27.2 8T25B |3535| 7 | 160| 89 |39.8| | 202.66 | 225
26 8526B 2517(2 [110| 45 | 36 8D26B 3020( 5 [130| 51 |27.2 8T26B |3535| 8 [160| 89 |39.8| [210.72 |233
27 8S27B 2517(2 [110| 45 | 36 8D27B 3020( 5 {130 | 51 |27.2 8T27B |3535| 8 | 160| 89 |39.8| | 218.79 | 241
28 8528B 2517(2 [110| 45 | 36 8D28B 3020( 5 [130| 51 |27.2 8T28B |3535| 8 [160| 89 |39.8| |226.85 (249
29 8S29B 2517(2 [110| 45 | 36 8D29B 3020( 5 [130| 51 |27.2 8T29B |3535| 8 | 160| 89 |39.8| | 234.92 | 257
30 8S30B 3020| 2 (130 | 51 | 43 8D30B 3030( 5 [130| 76 |52.2 8T30B |3535| 8 [160| 89 |39.8| |243.00 | 265
31 8S31B 3020| 2 (130 | 51 | 43 8D31B 3030( 5 {130 | 76 |52.2 8T31B |3535| 8 | 160| 89 |39.8| | 251.08 | 273
32 8S32B 3020| 2 (130 | 51 | 43 8D32B 3030( 5 [130| 76 |52.2 8T32B |3535| 8 |160| 89 [39.8| |259.13 |281
33 8S33B 3020| 2 [130| 51 | 43 8D33B 3030( 5 [130| 76 |52.2 8T33B |3535| 8 | 160| 89 |39.8| | 267.21 | 289
34 8S34B 3020| 2 (130 | 51 | 43 8D34B 3030( 5 {130 | 76 |52.2 8T34B |3535| 8 [160| 89 |39.8| |275.28 297
35 8S35B 3020| 2 [130| 51 | 43 8D35B 3030( 5 {130 | 76 |52.2 8T35B |3535| 8 | 160| 89 |39.8| | 283.36 | 305
36 8S36B 3020| 2 (130 | 51 | 43 8D36B 3030( 5 [130| 76 |52.2 8T36B |3535| 8 [160| 89 |39.8| [291.44 (313
37 8S37B 3020| 2 (130 | 51 | 43 8D37B 3030( 5 {130 | 76 |52.2 8T37B |3535| 8 | 160| 89 |39.8| | 299.51 | 322
38 8S38B 3020| 2 (130 | 51 | 43 8D38B 3030( 5 {130 | 76 |52.2 8T38B |3535| 8 [160| 89 |39.8| | 307.59 330
40 8S40B |3020( 2 |130| 51 | 43 8D40B |3030| 5 |130| 76 |52.2 8T40B |3535| 8 | 160| 89 |39.8| | 323.75| 346
42 8S42B 3020| 2 (130 | 51 | 43 8D42B 3030( 5 [130| 76 |52.2 8T42B |3535| 8 [160| 89 |39.8| [339.90 | 362
45 8S45B | 3020( 2 |130| 51 | 43 8D45B |3030| 5 [130| 76 [52.2 8T45B |4040| 8 | 200| 102 |39.8| | 364.13 | 386
46 8S46B 3020| 2 (130 | 51 | 43 8D46B 3030( 5 [130| 76 |52.2 8T46B |4040| 8 | 200| 102 |39.8| | 372.21 394
48 8S48B | 30202 |130| 51 | 43 8D48B |3030| 5 |130| 76 |52.2 8T48B |4040| 8 | 200| 102 |39.8| | 388.36 | 410
50 8S50B 3020| 2 (130 | 51 | 43 8D50B 3030( 5 [130| 76 |52.2 8T50B |4040| 8 [ 200| 102 |39.8| | 404.52 (427
54 8S54B | 3020( 2 |130| 51 | 43 8D54B |3030| 5 |130| 76 |52.2 8T54B |4040| 8 | 200| 102 |39.8| | 436.85 | 459
57 8S57B 3020| 2 (130 | 51 | 43 8D57B 3535 5 (160 | 89 |65.2 8T57B |4040| 8 [ 200| 102 |39.8| | 461.07 (483
60 8S60B |3020| 2 |130| 51 | 43 8D60B |3535| 5 [160 | 89 [65.2 8T60B |4040| 8 | 200| 102 |39.8| | 485.32 | 507
65 85S65B 3020| 2 (130 | 51 | 43 8D65B 3535 5 (160 | 89 |65.2 8T65B |4040| 8 [ 200| 102 |39.8| | 525.73 | 548
70 8S70B |3020( 2 |130| 51 | 43 8D70B |3535| 5 [160| 89 [65.2 8T70B |4040| 8 | 200| 102 |39.8| | 566.14 | 588
76 85S76B 3020| 2 (130 | 51 | 43 8D76B 3535 5 (160 | 89 |65.2 8T76B |4040| 8 [ 200| 102 |39.8| |614.65 | 637
95 8S95B | 3020| 2 |130| 51 | 43 8D95B |3535| 5 [160| 89 [65.2 8T95B |4040| 8 | 200| 102 |39.8| | 768.22 | 790
114 | 85114B 3020| 2 (130 | 51 | 43 | 8D114B 3535| 5 (160 | 89 [65.2] 8T114B |4040| 8 | 200| 102 [39.8| | 921.81 |944

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

19



{TRANSLEM

www.translev.se
tif: 08-446 39 90

TRANSMISSIONSLEVERANTOREN AB

info@translev.se
fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

Typ / Type Typ / Type Typ / Type Typ / Type Typ / Type

Kedja Nr. 1&2 3 4&5 7&8 9
Chain No. ¢ . [ Bk o — S o
ISO 20B ju 1] Lt Ui
11/4” x 3/4” 1.,,,5 opE I'DPE I"DE op E

—l — —l (I —

- a8 sy nal ] Ann

= = =l 5] et

Simplex B-=1s5 Duplex B-=546 Triplex B=91.0
Buss- Buss- Buss-
Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn Best. Nr. ning [Typ| Dn
V4 Code Busch(Typg min L C Code Busch(Type min L C Code Busch({Typel min L (o] Do E
13 | 10S13B 201211 [ 90 | 32 | 23 | 10D13B |2012| 3 | - 32 (27.3] 10T13B |2525|9 - 64 |45.5| | 132.65| 160
14 | 10S14B 20121 [100| 32 | 23 | 10D14B |2012| 3 | - 32 (27.3] 10T14B |2525| 9 - 64 [45.5| | 142.68| 170
15 | 10S15B 2517| 1 [110| 45 | 35 | 10D15B |3020| 4 [110| 64 [36.7] 10T15B |3030| 9 - 76 |45.5| | 152.72| 180
16 | 10S16B 2517| 1 (110| 45 | 35 | 10D16B |3020| 4 [110| 64 [36.7] 10T16B |3030| 9 - 76 [45.5] | 162.75| 190
17 | 10S17B 2517| 1 [110| 45 | 35 | 10D17B |3020| 4 [110| 64 (36.7| 10T17B |3030| 9 - 76 |45.5| | 172.78| 200
18 | 10S18B 2517| 1 (110| 45 | 35 | 10D18B |3020| 5 [110| 64 [36.7] 10T18B |3535|9 - 89 [45.5| | 182.85| 210
19 | 10S19B 2517| 1 [110| 45 | 35 | 10D19B |3030| 5 [130| 76 (48.7] 10T19B |3535|9 - 89 |45.5| | 192.91| 220
20 | 10S20B 2517| 1 (115| 45 | 35 | 10D20B |3030| 5 [130| 76 (48.7] 10T20B |3535| 9 - 89 [45.5| | 202.98| 230
21 | 10S21B 2517| 1 [115| 45 | 35 | 10D21B |3030| 5 [130| 76 (48.7] 10T21B |3535|9 - 89 |45.5| | 213.04| 240
22 | 10S22B 3020| 2 (130 | 51 | 42 | 10D22B |3030| 5 [130| 76 (48.7] 10T22B |3535|9 | - 89 [45.5] | 223.11| 250
23 | 10S23B 3020| 2 (130 | 51 | 42 | 10D23B |3030| 5 [130| 76 (48.7] 10T23B |3535|9 - 89 |45.5| | 233.17| 260
24 | 10S24B 3020| 2 (130 | 51 | 42 | 10D24B |3030| 5 [130| 76 (48.7] 10T24B |3535| 9 - 89 [45.5| | 243.23| 270
25 | 10S25B 3020| 2 (130 | 51 | 42 | 10D25B |3030| 5 [130| 76 (48.7] 10T25B |3535|9 - 89 |45.5| | 253.33| 280
26 | 10S26B 3020| 2 (130 | 51 | 42 | 10D26B |3030| 5 [130| 76 (48.7] 10T26B |3535| 9 - 89 [45.5| | 263.40| 290
27 | 10S27B 3020| 2 (130 | 51 | 42 | 10D27B |3030| 5 [130| 76 (48.7| 10T27B |3535|9 - 89 |45.5| | 273.49| 300
28 | 10S28B 3020| 2 (130 | 51 | 42 | 10D28B |3030| 5 [130| 76 (48.7] 107T28B |3535|9 | - 89 [45.5| | 283.56| 311
29 | 10S29B 3020| 2 (130 | 51 | 42 | 10D29B |3030| 5 [130| 76 [48.7] 10T29B |3535|9 - 89 [45.5] | 293.65| 321
30 | 10S30B 3020| 2 (130 | 51 | 42 | 10D30B |3030| 5 [130| 76 [48.7| 10T30B |4040| 8 |200| 102 |45.5| | 303.75| 331
31 | 10S31B 3020| 2 [130| 51 | 42 | 10D31B |3030| 5 |130| 76 |48.7| 10T31B |4040| 8 |200| 102 |45.5| | 313.85| 341
32 | 10S32B 3020| 2 (130 | 51 | 42 | 10D32B |3030| 5 [130| 76 [48.7| 10T32B |4040| 8 |200| 102 |45.5| | 323.91| 351
33 | 10S33B 3020| 2 (130 | 51 | 42 | 10D33B |3030| 5 |130| 76 [48.7| 10T33B |4040| 8 |200| 102 |45.5| | 334.01| 361
34 | 10S34B 3020| 2 (130 | 51 | 42 | 10D34B |3030| 5 [130| 76 [48.7| 10T34B |4040| 8 |200| 102 |45.5| | 344.10| 371
35 | 10S35B 3020| 2 (130 | 51 | 42 | 10D35B |3030| 5 |130| 76 [48.7| 10T35B |4040| 8 |200| 102 |45.5| | 354.20| 381
36 | 10S36B 3020| 2 (130 | 51 | 42 | 10D36B |3030| 5 [130| 76 [48.7| 10T36B |4040| 8 |200| 102 |45.5| | 364.30| 391
37 | 10S37B 3020| 2 [130| 51 | 42 | 10D37B |3030| 5 |130| 76 |48.7| 10T37B |4040| 8 |200| 102 |45.5| | 374.39| 401
38 | 10S38B 3020| 2 (130 | 51 | 42 | 10D38B |3535| 5 |160| 89 (61.7| 10T38B |4545| 8 |250| 115 |45.5| | 384.49| 411
40 | 10S40B 3020| 2 (130 | 51 | 42 | 10D40B |3535| 5 [160 | 89 |61.7| 10T40B |4545|8 |250| 115 |45.5| | 404.68 | 432
42 | 10S42B 3020| 2 (130 | 51 | 42 | 10D42B |3535| 5 [160| 89 |61.7| 10T42B |4545|8 |250| 115 |45.5| | 424.88 | 452
45 | 10S45B 3020| 2 [130| 51 | 42 | 10D45B |4040| 5 [200 | 102 |74.7| 10T45B |4545|8 |250| 115 |45.5| | 455.17 | 482
46 | 10S46B 3020| 2 (130 | 51 | 42 | 10D46B |4040| 5 [200 | 102 |74.7] 10T46B |5050| 8 |280| 127 |45.5| | 465.26 | 492
48 | 10S48B 3020| 2 (130 | 51 | 42 | 10D48B |4040| 5 [200 | 102 |74.7| 10T48B |5050| 8 |280| 127 |45.5| | 485.56 | 512
50 | 10S50B 3020| 2 (130 | 51 | 42 | 10D50B |4040| 5 [200 | 102 (74.7] 10T50B |5050| 8 |280 | 127 |45.5| | 505.65| 533
54 | 10S54B 3020| 2 (130 | 51 | 42 | 10D54B |4040| 5 [200 | 102 [74.7] 10T54B |5050| 8 |280 | 127 |45.5| | 546.07 | 573
57 | 10S57B 3020| 2 (130 | 51 | 42 | 10D57B |4040| 5 [200 | 102 (74.7] 10T57B |5050| 8 |280| 127 |45.5| | 576.35| 603
60 | 10S60B 3020| 2 [130| 51 | 42 | 10D60B |4040| 5 [200 | 102 [74.7] 10T60B |5050| 8 |280 | 127 |45.5| | 606.65 | 634
65 | 10S65B 3020| 2 (130 | 51 | 42 | 10D65B |4040| 5 [200 | 102 [74.7] 10T65B |5050| 8 |280 | 127 |45.5| | 657.16 | 684
70 | 10S70B 3020| 2 (130 | 51 | 42 | 10D70B |4040| 5 [200 | 102 [74.7] 10T70B |5050| 8 |280 | 127 |45.5| | 707.67 | 735
76 | 10S76B 3020| 2 (130 | 51 | 42 | 10D76B |4040| 5 [200 | 102 (74.7] 10T76B |5050| 8 |280 | 127 |45.5| | 768.32 | 795
95 | 10S95B 3020| 2 (130 | 51 | 42 | 10D95B |4040| 5 [200 | 102 (74.7] 10T95B |5050| 8 | 280 | 127 |45.5| | 960.28 | 987
114 |10S114B 3020| 2 (130 | 51 | 42 |10D114B |4040| 5 [200 | 102 (74.7] 10T114B |5050| 8 | 280 | 127 |45.5| | 1152.26 |1179

20

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR KONISK KLAMBUSSNING
SPROCKETS FOR TAPER BUSH

Typ / Type Typ / Type Typ / Type Typ / Type Typ / Type

Kedja Nr. 1&2 3 4&5 6 7&8
Chain No. ° p ol SN N N e
ISO 24B - Bl ET T
1 1/2” X 1” ],.D,,E Dp E DnDp E DnDp E l:pe

—Il — — J |

-1 L JIE | ol SR

= e (=5 = =

Simplex B =24.1 Duplex B=720 Triplex B=120.3
Buss- Buss- Buss-
Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn Best. Nr. ning |Typ| Dn

V4 Code Busch|Type min L C Code Busch|Typg min L C Code Busch([Typel min L (o] Do E
13 | 12513B 25171 [110| 45 | 32 | 12D13B |2517| 3 | - 45 | 36 12T13B |2525| 6 [ 110| 64 |60.0| |159.18 | 193
14 | 12S514B 251711 [110| 45 | 32 | 12D14B [2517| 3 | - 45 | 36 12T14B |2525| 6 [ 110| 64 |60.0| |171.22 | 205
15 | 12815B 3020| 1 [130| 51 | 39 | 12D15B [3020( 3 | - 51 | 36 12T15B |3030| 6 [ 130| 76 |60.0| |183.26 | 217
16 | 12S16B 3020| 2 [130| 51 | 39 | 12D16B [3020| 3 | - 51 | 36 12T16B |3030| 6 [ 130| 76 |60.0| |195.30 | 229
17 | 12817B 3535| 1 (160 | 89 | 77 | 12D17B |3535| 4 ({160 | 89 | 53 12T17B |3535| 6 | 160| 89 |60.0| |207.34 | 241
18 | 12S18B 3535|2 (160 | 89 | 77 | 12D18B |3535| 5 (160 | 89 | 53 12T18B |3535| 6 [ 160| 89 |60.0| |219.42 | 253
19 | 12519B 3535|2 (160 | 89 | 77 | 12D19B |3535| 5 (160 | 89 | 53 12T19B |3535| 6 [ 160| 89 |60.0| |231.49 | 265
20 | 12S20B 3535|2 (160 | 89 | 77 | 12D20B |3535| 5 (160 | 89 | 53 12T20B |3535| 6 [ 160| 89 |60.0| |243.57 | 278
21 | 12S21B 3535|2 (160 | 89 | 77 | 12D21B |3535| 5 (160 | 89 | 53 12T21B |3535| 6 [ 160| 89 |60.0| |255.65 | 290
22 | 12822B 3535|2 (160 | 89 | 77 | 12D22B |3535| 5 (160 | 89 | 53 12T22B |3535| 6 [ 160| 89 |60.0| |267.73 | 302
23 | 12S23B 3535|2 (160 | 89 | 77 | 12D23B |3535| 5 (160 | 89 | 53 12T23B |4040| 6 [ 200| 102 |60.0| |279.80 | 314
24 | 12824B 3535|2 (160 | 89 | 77 | 12D24B |3535| 5 (160 | 89 | 53 12T24B |4040| 6 [ 200| 102 |60.0| |291.88 | 326
25 | 12525B 3535| 2 (160 | 89 | 77 | 12D25B |4040( 5 {200 | 102 | 66 12T25B |4040| 6 [ 200| 102 |60.0| | 304.00 | 338
26 | 12S26B 3535|2 (160 | 89 | 77 | 12D26B |4040( 5 {200 | 102 | 66 12T26B |4040| 6 [ 200| 102 |60.0| |316.08 | 350
27 | 12827B 3535| 2 (160 | 89 | 77 | 12D27B |4040| 5 {200 | 102 | 66 12T27B |4040| 6 [ 200| 102 |60.0| |328.19 | 362
28 | 12528B 3535| 2 (160 | 89 | 77 | 12D28B |4040( 5 {200 | 102 | 66 12T28B |4040| 6 [ 200| 102 |60.0| |340.27 | 374
29 | 12529B 3535| 2 (160 | 89 | 77 | 12D29B [4040| 5 {200 | 102 | 66 12T29B |4040| 6 [ 200| 102 |60.0| |352.38 | 386
30 | 12S30B 3535| 2 (160 | 89 | 77 | 12D30B |4040( 5 {200 | 102 | 66 12T30B |4545| 6 [ 230| 115 |60.0| |364.50 | 399
31 | 12S31B 3535| 2 (160 | 89 | 77 | 12D31B |4040| 5 {200 | 102 | 66 12T31B |4545| 6 | 230| 115 |60.0| |376.62 | 411
32 | 12832B 3535| 2 (160 | 89 | 77 | 12D32B |4040| 5 {200 | 102 | 66 12T732B |4545| 6 [ 230| 115 |60.0| |388.69 | 423
33 | 12S33B 3535| 2 (160 | 89 | 77 | 12D33B [4040| 5 {200 | 102 | 66 12T33B |4545| 6 [ 230| 115 |60.0| |400.81 | 435
34 | 12S34B 3535| 2 (160 | 89 | 77 | 12D34B |4040( 5 {200 | 102 | 66 12T34B |4545| 6 [ 230| 115 |60.0| |412.93 | 447
35 | 12S35B 3535| 2 (160 | 89 | 77 | 12D35B [4040( 5 {200 | 102 | 66 12T35B |4545| 6 [ 230| 115 |60.0| |425.04 | 459
36 | 12S36B 3535| 2 (160 | 89 | 77 | 12D36B |4040( 5 {200 | 102 | 66 12T36B |4545| 6 | 230| 115 |60.0| |437.16 | 471
37 | 12S37B 3535| 2 (160 | 89 | 77 | 12D37B |4040| 5 {200 | 102 | 66 12T37B |4545| 6 [ 230| 115 |60.0| |449.27 | 483
38 | 12S38B 4040( 2 [200| 102 | 90 | 12D38B [4545| 5 |230 | 115 | 79 12T38B |4545| 6 | 230| 115 |60.0| |461.39 | 495
40 | 12S40B 4040| 2 (200 | 102 | 90 | 12D40B |4545| 5 |230| 115 | 79 12T40B |5050| 8 {280 | 127 |60.0| |485.62 | 520
42 | 12842B 4040( 2 [200| 102 | 90 | 12D42B [4545| 5 |230 | 115 | 79 12T42B |5050( 8 | 280 | 127 |60.0| |509.85 | 544
45 | 12S45B 4040| 2 (200 | 102 | 90 | 12D45B |4545| 5 |230| 115 | 79 12T45B |5050| 8 [ 280| 127 |60.0| |546.20 | 580
46 | 12S46B 4040( 2 [200| 102 | 90 | 12D46B [4545| 5 |230 | 115 | 79 12T46B |5050( 8 | 280 | 127 |60.0| |558.32 | 592
48 | 12S48B 4040| 2 {200 | 102 | 90 | 12D48B |4545| 5 |230| 115 | 79 12T48B |5050| 8 [ 280| 127 |60.0| |582.55 | 617
50 | 12S50B 4040( 2 [200| 102 | 90 | 12D50B [4545| 5 |230 | 115 | 79 12T50B |5050( 8 | 280| 127 |60.0| |606.78 | 641
54 | 12S54B 4545 2 (230 | 115 [103 | 12D54B |5050( 5 |250 | 127 | 91 12T754B |5050| 8 {280 | 127 |60.0| |655.28 | 689
57 | 12S57B 4545 2 [230| 115|103 | 12D57B [5050| 5 [250 | 127 | 91 12T57B |5050( 8 | 280 | 127 |60.0| |691.63 | 726
60 | 12S60B 4545| 2 (230 | 115|103 | 12D60B |5050( 5 |250 | 127 | 91 12T60B |5050| 8 [ 280| 127 |60.0| | 727.97 | 762
65 | 12S65B 4545 2 [230| 115|103 | 12D65B [5050| 5 [250 | 127 | 91 12T65B |5050( 8 | 280 | 127 |60.0| | 788.59 | 823
70 | 12S70B 4545| 2 (230 | 115|103 | 12D70B |5050( 5 |250 | 127 | 91 12T70B |5050| 8 {280 | 127 |60.0| |849.21 | 883
76 | 12S76B 4545 2 [230| 115|103 | 12D76B [5050| 5 [250 | 127 | 91 12T76B |5050( 8 | 280 | 127 |60.0| |921.98 | 956
95 | 12S95B 4545| 2 [230 | 115|103 | 12D95B |5050( 5 |250 | 127 | 91 12795B |5050(| 8 [ 280 | 127 |60.0| |1152.33 [1186

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

21



TRANSMISSIONSLEVERANTOREN AB

{TRANSLEM

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

KEDJEHJUL, FORMSPRUTADE
INJECTION MOULDED SPROCKETS

Kedjehjul fér ISO rullkedja

Sprockets for ISO roller chain

Material: Polyacetal (Hostaform C)

1J

Z|o
o 1T T < } )
1x45° j‘
L
For rullkedja ISO 04B-1 rulle 4.0 / For roller chain ISO 04B-1 roller 4.0
Best. Nr. / Code z Dy B d N L
SD-6-13 13 273 2.6 8 18 10
SD-6-15 15 31.0 2.6 8 21 10
SD-6-17 17 35.0 2.6 8 24 13
SD-6-19 19 39.0 2.6 8 24 13
SD-6-21 21 425 2.6 10 28 13
SD-6-23 23 46.5 2.6 10 28 13
SD-6-25 25 50.0 2.6 10 28 13
For rullkedja ISO 05B-1 rulle 5.0 / For roller chain ISO 05B-1 roller 5.0
Best. Nr. / Code z Dy B d N L
SD-8-13 13 36.5 2.8 8 24 13
SD-8-15 15 41.5 2.8 8 24 13
SD-8-17 17 46.5 2.8 10 28 14
SD-8-19 19 52.0 2.8 10 28 14
SD-8-21 21 57.0 2.8 10 28 14
SD-8-23 23 62.5 2.8 10 28 14
SD-8-25 25 67.0 2.8 10 28 14
For rullkedja ISO 06B-1 rulle 6.35 / For roller chain ISO 06B-1 roller 6.35
Best. Nr. / Code z Dy B d N L
SD-38-13 13 43.0 5.3 8 24 16
SD-38-15 15 49.0 5.3 8 24 16
SD-38-17 17 55.5 5.3 10 28 16
SD-38-19 19 615 5.3 10 28 16
SD-38-21 21 68.0 5.3 12 32 20
SD-38-23 23 74.0 5.3 12 32 20
SD-38-25 25 80.0 53 12 32 20
For rullkedja 1/2” x 1/8” rulle 7.75 / For rollerchain 1/2” x 1/8” roller 7.75
Best. Nr. / Code z Dy B d N L
SD-1218-13 13 58.0 3 8 24 16
SD-1218-15 15 66.0 3 8 24 16
SD-1218-17 17 74.0 3 10 28 18
SD-1218-19 19 82.0 3 10 28 18
SD-1218-21 21 90.5 3 12 32 20
SD-1218-23 23 98.5 3 12 32 20
SD-1218-25 25 107.0 3 12 32 20
For rullkedja 1/2” x 3/16” rulle 7.75 / For rollerchain 1/2” x 3/16” roller 7.75
Best. Nr. / Code z Dy B d N L
SD-316-13 13 58.0 4.4 8 24 17.4
SD-316-15 15 66.0 44 8 24 174
SD-316-17 17 74.0 4.4 10 28 19.4
SD-316-19 19 82.0 4.4 10 28 19.4
SD-316-21 21 90.5 4.4 12 32 21.4
SD-316-23 23 985 4.4 12 32 214
SD-316-25 25 107.0 4.4 12 32 21.4
For rullkedja ISO 08B-1 rulle 8.51 / For rollerchain ISO 08B-1 roller 8.51
Best. Nr. / Code z Dy B d N L
SD-12-13 13 58.0 7.2 10 28 20
SD-12-15 15 66.0 7.2 10 28 20
SD-12-17 17 74.0 7.2 12 32 25
SD-12-19 19 82.0 7.2 12 32 25
SD-12-21 21 90.5 7.2 16 36 25
SD-12-23 23 985 7.2 16 36 25
SD-12-25 25 107.0 72 16 36 25

22

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TRANSMEM

TRANSMISSIONSLEVERANTOREN AB

KEDJEHJUL, FORMSPRUTADE
INJECTION MOULDED SPROCKETS
Kedjehjul | glasfiberforstarkt 1B
polyamid (Nylatron GS) .
. . vz
Sprockets in glassf/bre %
reinforced polyamide =5
(nylatron GS) LIRS i
l “
|

1x45°

For rullkedja ASA 35-1 rulle 5.88 / For rollerchain ASA 35-1 roller 5.88

Best. nr. / Code z Dy Do d N L B
SN-35-9 9 32.0 27.85 10 15.9 19.0 41
SN-35-10 10 35.0 30.82 10 19.0 19.0 4.1
SN-35-11 11 38.0 33.81 10 22.2 19.0 44
SN-35-12 12 41.0 36.60 10 25.4 19.0 41
SN-35-14 14 47.0 42.80 13 31.8 19.0 4.1
SN-35-15 15 50.0 45.81 13 35.0 19.0 4.4
SN-35-16 16 53.0 48.82 13 38.1 19.0 41
SN-35-18 18 59.5 54.85 13 42.9 19.0 4.1
SN-35-20 20 65.0 60.89 13 46.0 22.2 41
SN-35-24 24 78.0 72.97 13 50.8 22.2 4.1
SN-35-26 26 84.0 79.02 13 57.2 22.2 4.1
SN-35-30 30 96.2 91.12 13 57.2 22.2 4.1
SN-35-35 35 111.5 106.25 13 57.2 22.2 4.1
SN-35-36 36 1145 109.29 16 57.2 22.2 4.1
SN-35-40 40 126.5 121.40 16 69.8 22.2 41
SN-35-45 45 141.6 136.54 16 69.8 25.4 4.1

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 23



{TrANsLEV
'TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KONISKA KLAMBUSSNINGAR
TAPER BUSHES

Bussningar i mm / Taper Bush in mm

Bussn. Nr. (Svetsnav) Nr.| Typ Axeldimension / Shaft dimensions
Bush No. | Welding Hub | Type
1008 - A 10 (11 [ 12 | 14 |16 | 18 |19 | 20 | 22 |24 |25«
1108 - A 10 (11 [ 12 |14 [ 15 |16 [18 |19 | 20 |22 |24 | 25 | 26 |28«
1210 (30.25) A 11|12 |14 |15 |16 |18 |19 (20 | 22 |24 |25 | 26 |28 |30 | 32
1215 (30.40) A 11 (12 |14 |15 |16 |18 [19 |20 | 22 |24 |25 | 26 | 28 | 30 | 32
1310 - A 12 |14 {15 |16 |18 |19 |20 |22 | 24 |25 |28 |30 |32 |35
1610 (40.25) A 12 |14 |15 |16 [ 18 |19 |20 |22 | 24 |25 |26 |28 |30 |32 | 35 | 38 | 40 |42*
1615 (40.40) A 12 |14 |15 |16 [ 18 |19 [20 |22 | 24 |25 |26 |28 |30 |32 | 35 | 38 | 40 |42+
2012 (50.30) A 14 |15 |16 |18 |19 |20 |22 (24 | 25 |26 |28 | 30 |32 |35 |38 |40 |42 |45 |48 |50
2017 A 14 |15 |16 |18 |19 |20 |22 (24 | 25 |26 |28 |30 |32 |35 |38 |40 |42 |45 |48 |50
2517 (65.45) A 18 |19 |20 | 22 |24 |25 |26 |28 | 30 |32 |35 |38 |40 |42 |45 |48 | 50 | 55 | 60 |65*
2525 - A 18 |19 |20 | 22 [ 24 |25 |26 |28 | 30 |32 |35 |38 |40 |42 |45 |48 | 50 | 55 | 60 |65%
3020 (75.50) A |25 |28 |30 (|32 |35 |38 [40 |42 | 45 |48 |50 |55 |60 |65 | 70 | 75
3030 (75.75) A |25 |28 |30 |32 |35 |38 |40 |42 | 45 |48 |50 |55 |60 |65 | 70 | 75
3525 (90.65) B (28 |30 |32 |35 |38 |40 |42 |45 | 48 |50 |55 |60 |65 |70 | 75 |80 | 85 | 90
3535 (90.90) B (28 |30 |32 |35 |38 |40 |42 |45 | 48 |50 |55 |60 |65 |70 | 75 |80 | 8 | 90
4030 - B |40 | 42 | 45 | 48 |50 |55 |60 |65 | 70 [ 75 | 80 | 8 | 90 (100
4040 (100.100) B |40 | 42 | 45 | 48 |50 |55 |60 |65 | 70 [ 75 |80 | 8 | 90 [100
4535 - B [55 |60 |65 |70 |75 (80 |8 |90 | 95 (100 |105 | 110
4545 (115.115) B |55 |60 |65 |70 |75 |80 |8 |[90 | 95 |100 |105 |110
5040 - B |70 | 75|80 |8 |90 (100 {105 |110 | 115|120 | 125
5050 (125.125) B |70 | 75 |80 | 8 | 90 [100 |105 [110 | 115 (120 | 125
* Kilspar stammer ej 6verens med standard (lagre)
* Key-way is not according to standard ( lower)
Bussningar i tum / Taper Bush in inch
Bussn. Nr. (Svetsnav) Nr.| Typ Axeldimension / Shaft dimensions
Bush No. | Welding Hub | Type
1008 - A |38 |716 | 12 | 916 | 58 (1116 | 3/4 |13/16 | 7/8 [15/16%| 1"%
1108 - A |38 |716 | 12 | 916 | 58 1116 | 3/4 [13/16 | 7/8 [1516 | 1" [I"1/16X1"1/8%
1210 (30.25) | A | 12 |96 | 5/8 |1116| 3/4 [1316 | 7/8 [1516 | 17 [1"1/16|171/8 |173116 | 1"1/4 |1"5/16 | 173/8
1215 (30.40) | A | 12 |96 | 58 |11/16| 3/4 [1316 | 7/8 [1516 | 17 [1"1/16|171/8 |1”3/16| 1"1/4
1310 - A |12 |6 | 58 [1116| 34 (1316 | 7/8 [15/16 | 17 [1"1/16| 171/8 |1”3/16 | 1"1/4 |1"5/16 | 173/8
1610 (40.25) | A | 12 |916 | 568 (11116 | 3/4 (1316 | 7/8 |1516 | 17 |171/16] 171/8 |1"3/16| 1"1/4 |175/16 | 173/8 [1"7/16 | 1"1/2 [1"5/8%
1615 (40.40) | A | 12 |916 | 568 (1116 | 3/4 (1316 | 7/8 |1516 | 17 |171/16] 171/8 |1"3/16| 1"1/4 |15/16 | 173/8 [1"7/16 | 1"1/2 [1"5/8%
2012 (50.30) | A | 34 (1316 | 7/8 |15M46| 17 [1"1/16|171/8 [1"3/16 | 1"1/4 [1"5/16| 13/8 |1"7116| 1"1/2 | 1"5/8 | 1"3/4 | 1"7/8 | 2"
2017 A | 34 (1316 | 7/8 [15M6 | 17 [171/16 | 171/8 [13/16 | 171/4 [175/16| 1°3/8 |177/16| 171/2 | 1"5/8 | 1"3/4 | 1"7/8 | 2"
2517 (65.45) | A | 34 | 7/8 [1516 | 17 |171/16|1"1/8 |1"3/16 [ 1"1/4 [1"5/16 | 1"3/8 |177/16| 1"1/2 | 1"5/8 | 1"3/4 [17/8 | 2" | 2"1/8 | 2"1/4 | 2"3/8 | 2"1/2%
2525 - A | 34 |78 [1516 | 17 |171/16|171/8 |1"3/16 [ 171/4 [1"5/16 | 173/8 |177/16| 1"1/2 | 175/8 | 1"3/4 [ 1"7/8 | 2" | 2°1/8 | 2"1/4 | 2"3/8 | 2"1/2%
3020 (75.50) | A | 1"1/4 [1"5/16 | 173/8 [1"7/16 | 1"1/2 [1"5/8 [ 1"3/4 |1"7/8 | 2" | 2"1/8 | 2"1/4 | 2°3/8 | 2"1/2 | 2"5/8 |2°3/4 | 2'7/8 | 3"
3030 (75.75) | A | 1"1/4 [1"5/16 | 173/8 [1"7/16 | 1"1/2 [1"5/8 [ 1"3/4 |1"7/8 | 2" | 2"1/8 | 2"1/4 | 2"3/8 | 2"1/2 | 2"5/8 | 2°3/4 | 2'7/8 | 3"
3525 - B |12 (1758 | 1734 | 1"7/8 | 2" |2"1/8 |2"1/4 |2°3/8 |2"1/2 | 2"5/8 | 2"%/4 | 27/8 | 3" | 3"1/8 | 3"1/4 | 3"3/8 |3"1/2%
3535 (90.90) | B | 11/2 (1758 | 1734 [177/8 | 27 |2"1/8 | 2"1/4 |2°3/8 | 2"1/2 | 2'5/8 | 2°3/4 | 2°7/8 | 3" | 3"1/8 | 3"1/4 | 3"38 |3"1/2%
4030 - B | 1734 |1"7/8 | 2" |2"1/8 | 2"1/4|2°3/8 |2"1/2 | 2°5/8 |2"3/4 | 2°7/8 | 3" | 3"1/8 |31/4 | 338 | 3"1/2 |3"3/dk| 47k
4040 (100.100) | B [ 134 [1"7/8 | 2 [2"1/8 | 2"1/4|2'3/8 | 2"1/2 |25/8 |2°3/4 | 27/8 | 3" |3"1/8 | 3"1/4 |3"3/8 | 3"1/2 (3"3/4%| 4"%
4535 - B | 211/4 (238 [ 2"1/2 | 2'5/8 | 2'3/4 | 27/8 | 3" |3"1/8 |3"1/4 | 3"3/8 [ 3"1/2 | "4 | 47 |41/4x |4"1/2%
4545 (115.115) | B [ 2"1/4 |2"3/8 [ 2"1/2 | 2'5/8 | 2"3/4 [2'7/8 | 3" |3"1/8 |3"1/4 | 3"3/8 | 3"1/2 | 3"%/4 | 4 |4"1/d% |4"1/2%
5040 - B | 234 |27/8 | 3" |31/8 | 3"1/4|3'38 [3"1/2 |34 | 4 | 4"1/A | 412 | 4734 | 5%
5050 (125.125) | B | 234 |277/8 | 3" [3"1/8 | 3"1/4|3'3/8 |3"1/2 |3"3/4 | 4" |4"1/4 |42 | 434 | 5%

* Kilspar stammer ej 6verens med standard (lagre)
* Key-way is not according to standard ( lower)

Reservation fér mattférandringar / Reservation for dimensional changes

24 Matt i mm / Dimensions in mm



TRANSMISSIONSLEVERANTOREN AB

{TRANSLEM

www.translev.se

info@translev.se

tif: 08-446 39 90 fax: 08-756 44 73
TAPER BUSHES
Matt pa kil / Measure on key-way
Axelhdl mm Axelhal i tum
Bore in mm Bore in inch
Fran /From till / to b t b Fran /From till / to b t
10 12 4 D+1.8 1/4 1/2 1/8 D+ 1/16
12 17 5 D+23 T 1/2 3/4 3/16 D +3/32
17 22 6 D+28 3/4 1 1/4 D+1/8
22 30 8 D+3.3 1 11/4 5/16 D+1/8
30 38 10 D+3.3 11/4 11/2 3/8 D+1/8
38 44 12 D+3.3 11/2 13/4 7/16 D + 5/32
44 50 14 D+3.8 b ad 13/4 2 1/2 D + 5/32
50 58 16 D+43 2 21/2 5/8 D+ 7/32
58 65 18 D+44 21/2 3 3/4 D+1/4
65 75 20 D+49 3 21/2 7/8 D + 5/16
75 85 22 D+54 31/2 4 1 D+ 3/8
85 95 25 D+54 4 5 11/4 D+ 7/16
95 110 28 D+64 5 8 11/2 D+1/2
110 130 32 D+74 6 7 13/4 D +5/8
Typ / Type B f—8—
Typ / Type A ] 5
wW—
— 1 _v
Overforbart moment med kil
e Transmittable torque with key-way
tdragnings-
Bussn. Nr. moment 50,000
Bush No. Tightening 40,000 Bussn. Nr.
to:l?rllle 30,000 Bush No. W S
1008 20,000 | 50%° 1008 35 22.3
6
1108 1108 38 22.3
1210 48 25.4
;z;o 20 10,000
s 2000 1215 | 48 | 38.1
§ £000 L 1310 | 51 | 254
1310 20 - 5,000 L —1
€ oo HE 1610 57 25.4
//
@© 3,000 — 1615 57 38.1
e = | §3
€ S 20 I 1 2012 | 70 | 318
=) — 2517 | 86 | 445
2012 32 S0
b % 1000 o547 2525 86 63.5
900
S8 w 3020 | 108 50.8
2517 50 = S 700 —
S ﬁ 800 — ooz 3030 | 108 76.2
/ '
3020 w0 g§ ——aei0 1O 3525 | 127 | 635
u 300 10
3030 O K " 3535 | 127 | 88.9
200 —|
4030 | 146 76.2
3535 115
sbop + 1108 4040 | 146 | 101.6
100
4040 105 % 4535 | 162 88.9
% 4545 | 162 | 114.3
o 5040 | 178 | 101.6
5050 350
% 5050 | 178 | 127.0
20 15 20 30 40 50 60 70 8090 100 150 200
— Axelhdl mm / Bore mm

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

25



{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SVETSNAV OCH MELLANHYLSOR
WELDING HUBS AND ADAPTERS

Svetsnav for konisk klambussning.
Welding hub for taper bush
Material = stal / steel

Best. nr. | Bussn. A B C D E F v y
Code | Bushing h8 —
30.25 1210 70 65 64.5 25 9 10
30.40 1215 73 60 58.0 38 16 11 —

40.25 1610 80 75 74.5 25 9 10

40.40 1615 83 70 68.0 38 16 11

50.30 2012 95 90 89.5 32 12 12 clel a
65.45 2517 115 110 109.5 44 19 15

75.50 3020 145 140 139.5 50 19 15

75.75 3030 152 130 125.0 76 25 19 ]

90.65 3525 190 180 179.5 65 25 25

90.90 3535 184 155 151.0 89 32 25 ) I

100.100 4040 200 190 189.5 101 32 30 L

115.115 4545 210 200 199.5 115 40 30

125.125 5050 230 220 219.5 127 40 35 <EaleE

D >
Mellanhylsa / Adapter
Material: GG 20-25
Best. nr. Typ Bussning C +0.025 B H9 Kildjup —
Code Type Bushing 0078 Kilbredd Key-way
IKey-way width| deept
1008AM 1 1008 45 22
1008BM 2 1008 45 22 5.0 2.5
1210AM 1 1210 60 25
1210BM 2 1210 60 25 6.0 3.0
1215AM 1 1215 60 38
1215BM 2 1215 60 38 6.0 3.0 C
1610AM 1 1610 70 25
1610BM 2 1610 70 25 10.0 4.0
1615AM 1 1615 70 38
1615BM 2 1615 70 38 10.0 4.0
2017AM 1 2017 90 45
2017BM 2 2017 90 45 12.0 4.0
2517AM 1 2517 105 45
2517BM 2 2517 105 45 16.0 4.0 |
2525AM 1 2525 105 64 l B
2525BM 2 2525 105 64 16.0 4.0
3020AM 1 3020 130 51
3020BM 2 3020 130 51 20.0 5.0
3030AM 1 3030 130 76
3030BM 2 3030 130 76 20.0 5.0
3535AM 1 3535 160 89
3535BM 2 3535 160 89 22.0 5.0
4040AM 1 4040 185 102
4040BM 2 4040 185 102 24.0 5.0

1 Utan kilspar pa ytterdiametern / Without key-way on the outer diameter
2 Med kilspar pa ytterdiametern / With key-way on the outer diameter

26

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

{TRANSLEM

info@translev.se
fax: 08-756 44 73

SPANNHJUL FOR RULLKEDJA
IDLER SPROCKETS FOR ROLLER CHAIN

Typ / Type KS

a b_,c b ; c a
Typ KS éar férsedda med en- m ,L =
gangssmorda lager typ Z-ZZ, N 3
dessa ar fixerade i kedjehjulet |
med"segersakrlr.\g (SGH) ka_n T . A S ez L
bestallas exklusive tapp, bricka ND g ZI[ Do S LA«
och mutter l i
Type KS have shielded lub-free & =
bearings type Z-ZZ, they are -
locked in the sprockets with 1 —! M
internal circlips, can be ordered L
without bolt washer and nut. Typ / Type A Typ / Type B
Best. nr. For kedja| Tand- | Deln. diam. N | a b c D L G Typ Lagertyp Antal
Code For chain| antal Pitch dia. Type Bearing type lager
No. of No. of
teeth Do bearings|
FOR SIMPLEX RULLKEDJA / FOR SIMPLEX ROLLER CHAIN
S- 1738-KS 3/8” 17 51.84 41 18 34 20 9 20 63 10 A 6201-2Z 1
S-1712-KS 1/2" 17 69.12 55 18 45 25 10 25 80 12 A 6203-2Z 1
$-1758-KS 5/8” 17 86.40 70 22 55 26 12 35 93 16 A 6205-2Z 1
$-1734-KS 3/4” 17 103.67 83 38 55 28 22 35 105 20 A 6205-Z 2
S-1734-KSV 3/4” 17 103.67 83 24 55 28 12 35 95 20 A 6206-2Z 1
S-171-KS 1” 17 138.23 113 40 67 46 24 40 137 24 A 6206Z 2
S-171KSV 1” 17 138.23 113 26 67 46 13 40 126 24 A 6207-2Z 1
S-17114-KS 11/47| 17 172.79 125 45 60 42 85 35 247 20 B 6207-Z 2
S-17112-KS 11/27| 17 207.35 150 48 70 60 116 40 316 24 B 6208-Z 2
FOR DUPLEX RULLKEDJA / FOR DUPLEX ROLLER CHAIN
DS-1938-KS | 3/8” 19 57.87 - 16 45 30 10 20 85 12 A 6202-2Z 1
DS-1912-KS | 1/2 19 77.16 - 21 50 34 11 30 95 16 A 6204-27 1
DS-1958-KS | 5/8" 19 96.45 80 35 50 33 22 30 105 16 A 6204-Z 2
DS-1934-KS | 3/4” 19 115.74 95 43 67 53 24 40 144 24 A 6206-Z 2
DS-171-KS 1" 17 138.23 - 47 70 73 103 40 316 24 B 6208-Z 2
FOR TRIPLEX RULLKEDJA / FOR TRIPLEX ROLLER CHAIN
TS-1938-KS 3/8” 19 57.87 - 26 45 35 17 25 97 12 A 6202-Z 2
TS-1912-KS 1/2” 19 77.16 - 35 55 51 22 30 128 16 A 6204-Z 2
TS-1958-KS 5/8” 19 96.45 - 42 67 49 26 35 142 20 A 6205-Z 2
TS-1934-KS 3/4” 19 115.74 - 50 60 58 69 35 247 20 B 6207-Z 2
TS-171-KS 1" 17 138.23 - 80 70 89 87 45 316 24 B 6209-Z 2
Typ / Type C
Best. nr. For kedja Tandantal Delnings diam.
Code For chain No. of teeth Pitch dia. 1 D
Do
S-2138-C 3/87x7/32” 21 63.91 18.3 16 925
S-1818-C 1/2"x1/8” 18 73.14 18.3 16 1945
$-18316-C 1/2”x3/16” 18 73.14 18.3 16 1925
S-1612-C 1/2°x5/16” 16 65.10 18.3 16 7925
S-1812-C 1/2°x5/16” 18 73.14 18.3 16 925
S-1758-C 5/8”x3/8” 17 86.30 18.3 16 1945
$-1534-C 3/4"x7/16” 15 91.63 18.3 16 1925
$-121-C 1"x17.02 12 98.14 17.7 20 *5:00
S-13114-C 1 1/4"x3/4” 13 132.65 21.0 25 *201

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

27



www.translev.se
tif: 08-446 39 90

{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB

info@translev.se
fax: 08-756 44 73

SPANNHJUL FOR RULLKEDJA
IDLER SPROCKETS FOR ROLLER CHAIN

Typ / Type B

Typ B ar lamplig dar utrymmet ar begransat. Lagret ar fastsatt i hjulet

med lasvatska. Kan bestillas dven exklusive tapp, bricka och mutter. D, — : d [po
Type B are suitable for small areas. The bering are fixed to the sprockets !
with locktite. Can be ordered without bolt, washer and nut a | by
Best. nr. For kedja [Tandantal [Deln. diam. G Lagertyp /Antal lager
Code For chain| No. of |Pitch dia. mm | a b d D1 L Bearing type No. of
teeth Do bearings
S-1538-B 3/8” 15 45.82 M10 9 30 30 10 15 68 6200-2Z 1
S-15316-B 1/2” 15 61.09 M12 11 32 36 15 20 78 6202-2Z 1
S-1512-B 1/2” 15 61.09 M12 11 32 36 15 20 78 6202-27 1
S-1558-B 5/8" 15 76.35 M12 11 32 36 15 20 78 6202-27 1
S-1534-B 3/4” 15 91.62 M20 15 40 36 25 35 89 6205-2Z 1
S-151-B 1 15 122,17 M20 15 40 36 25 35 89 6205-2Z 1
L
Typ / Type J
yp/ 1yp 1
Spannhjul Typ J ar férsedda med sjalvsmorjande bussning. Hjulen &r
lampliga for mindre belastningar och laga varvtal. oo| N | aH8
Idler Typ J have lub-free bronze bushing. ’//// .
It is suitable for low rpm and loads. . %
<
Best. nr. For kedja Tandantal Deln. diam. N L Axelhal
Code For chain No. of teeth Pitch dia. Shaft dia.
Do o dH8
FOR SIMPLEX RULLKEDJA / FOR SIMPLEX ROLLER CHAIN
S-1738-J 3/8” 17 51.84 41 20 10
S-1712-J 1/2” 17 69.12 50 25 12
S-1758-J 5/8” 17 86.40 65 40 20
S-1734-J 3/4” 17 103.67 83 40 20
S-171-J 17 17 138.23 110 50 25
S-17114-J 11/4” 17 172.79 125 60 30
S-17112-J 11/2” 17 207.35 150 70 35
S-17134-J 1.3/4” 17 241.91 150 80 45
S-172-J 2” 17 276.46 150 100 50
FOR DUPLEX RULLKEDJA / FOR DUPLEX ROLLER CHAIN
DS-1738-J 3/8” 17 51.84 41 25 12
DS-1712-J 1/2” 17 69.12 50 30 16
DS-1758-J 5/8” 17 86.40 65 50 25
DS-1734-J 3/4” 17 103.67 83 60 30
DS-171-J 1” 17 138.23 110 70 35
DS-17114-J 11/4” 17 172.79 125 80 40
DS-17112-J 11/2” 17 207.35 165 80 45
DS-172-J 2" 17 276.46 150 120 60
FOR TRIPLEX RULLKEDJA / FOR TRIPLEX ROLLER CHAIN
TS-1738-J 3/8” 17 51.84 41 30 16
TS-1712-J 1/2” 17 69.11 50 40 20
TS-1758-J 5/8” 17 86.40 65 60 30
TS-1734-J 3/4” 17 103.67 83 70 35
TS-171-J 1” 17 138.23 - 80 40
TS-17114-J 11/4” 17 172.79 140 100 50
TS-17112-J 11/2” 17 207.35 - 120 60

28

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm



TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

{TRANSLEM

info@translev.se
fax: 08-756 44 73

SPANNHJUL FOR RULLKEDJA
IDLER SPROCKETS FOR ROLLER CHAIN

Typ / Type V

Detta spannhjul ar lampligt vid hégt varvtal och hég belastning. Do
God tatning, med engadngssmorda lager. %

This idler sprockets are suitable for high rom and loads.
The idler are sealed and lub-free. -

L
Best. nr. For kedja Tandantal Deln. diam. N L Axelhal
Code For chain No. of teeth Pitch dia. Shaft dia.
Do o dH8
FOR SIMPLEX RULLKEDJA / FOR SIMPLEX ROLLER CHAIN
S-2338-V 3/8” 23 69.95 55 40 10
S-1912-V 1/2” 19 77.16 60 42 12
S-1958-V 5/8” 19 96.45 80 50 20
S-1734-V 3/4” 17 103.67 80 70 20
S-171-V 1” 17 138.23 90 75 25
S-17114-V 11/4” 17 172.79 100 80 30
S-17112-V 11/2” 17 207.79 110 82 35
S-17134-V 13/4” 17 241.91 120 86 40
S-172-V 2" 17 276.46 130 90 45
FOR DUPLEX RULLKEDJA / FOR DUPLEX ROLLER CHAIN
DS-2338-V 3/8” 23 69.95 60 42 12
DS-2112-V 1/2” 21 85.21 70 44 15
DS-1958-V 5/8” 19 96.45 80 70 20
DS-1934-V 3/4” 19 115.740 90 75 25
DS-171-V 17 17 138.23 100 78 30
DS-17114-V 11/4” 17 172.79 110 87 35
DS-17112-V 11/2” 17 207.35 120 105 40
DS-172-V 27 17 276.46 145 128 50
FOR TRIPLEX RULLKEDJA / FOR TRIPLEX ROLLER CHAIN
TS-2338-V 3/8” 23 69.95 60 60 12
TS-2312-V 1/2” 23 93.27 80 72 20
TS-2358-V 5/8” 23 116.59 100 78 30
TS-2334-V 3/4” 23 139.90 110 80 35
TS-191-V 17 19 154.32 120 110 40
TS-17114-V 11/4” 17 172.79 130 125 45
TS-17112-V 11/2” 17 207.35 145 155 50

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 29



{TRANSLEV

TRANSMISSIONSLEVERANTOREN AB

G 06-446 3990 faxs 03-756 44 73
SPANNBOX
CHAIN TENSIONER

Spédnnelement fér rullkedjor

Gastrycksfjader med likformig spdnnkraft ldngs hela spdnnlangden.
Sjadlvsmérjande samt dampad. Glidskon i UHMW Polyethylene (HD 1000).

Tensioner for roller chains

Gas pressure springs with uniform tension pressure.
Self lubricated and damping capacity. Top part in UHMV Polyethylene (HD 1000).

A
8
c
]
X
2o _
%% Sjalvjusterande huvud
2z Self-adjusting top part
8|3
T E|E
- H ©
3 HET
<
mm m
! ‘ i
g1l i1l
T [ ‘:
38 11l
Vridbar / Adjusteble 108°
Simplex Duplex
Best. nr. For rullkedja Spann- A Best. nr. For rullkedja Spann- A
Code For roller chain kraft Code For roller chain kraft
Tension Tension
pressure pressure
N mm N mm
KS 05B-1 05 B 60 25 KS 05B-2 05 B 60 25
KS 06B-1 06 B | ANSI 35 60 25 KS 06B-2 06 B | ANSI 35 60 25
KS 08B-1 08B | ANSI 40 60 25 KS 08B-2 08B |ANSI40| 120 25
KS 10B-1 10B ANSI 50 60 25 KS 10B-2 10B ANSI 50 120 25
KS 12B-1 12B |[ANSI60| 120 25 KS 12B-2 12B |[ANSI60| 200 30
KS 16B-1 16 B ANSI 80 200 40 KS 16B-2 16 B ANSI 80 Pa forfragan
On Request

Reservation fér mattférandringar / Reservation for dimensional changes
30 Matti mm / Dimensions in mm



{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB

www.translev.se
tif: 08-446 39 90

info@translev.se

fax: 08-756 44 73

SPANNELEMENT MED TILLBEHOR
TENSIONING ELLEMENTS WITH ACCESSORIES

1
E - |
\ / i [ S| Sy
] T 7@?{ - ( ™~
-1 A J
rd AN /
F5 K }\F
/
M ) I /
L
g I I 1 (AN
MA 1) \&%—"/
(o) G P c
E N
Bestallningsnr. F (N) S D E G H J K L M N o P Q T M, Vi_kt
Code max N, Wi’g’"
SE11 0-80 400| 3551, 5 (M 6| 80| 20 | 900] 20 [ 22 | 60| 80| 5| 85| 10 [0.20
SE 11 FZB os
SE 15 0-130 |500| 45 |64,| 5 |[M 8[100 | 25 [11255] 25 | 30 | 80| 85 | 6 [105| 25 [0.40
SE 15 FZB o
SE 18 0-300 |500| 58|78, 6 [m10[100 | 30 [115.0] 30 | 35 [105| 85 | 8 [105| 49 [0.60
SE 18 FZB o
SE 27 0-800 |650| 78 [107,| 7 |[m12]130 | 50 [155.0| 40 | 49 [15.0 [105| 10 [125| 86 [1.70
SE 27 FZB e
SE 38 0-1400 | 875 95 [140,| 10 [M16] 175 | 60 [205.0] 40 | 66 [15.0 [125| 12 | 205 210 [3.55
SE 38 FZB os
SE 45 0-2300 [112.5] 115 [200,, | 12 [M20] 225 | 70 [260.0] 50 | 80 |18.0 [125| 12 | 205]| 410 [6.40
SE 45 FZB )
FZB = Forzinkad / Zink plated, Ma = Atdragningsmoment / Tightening torque
Spannrulle Kullagrad med fastbult
Tensioning roller with bearing and bolt
R Vikt
Besta(l:!g:;:gsnr. A B C D E max. F Weight
< Kg
he RSER 3035 30 35 2 14 5 M 8 0.08
RSER 4045 40 45 6 16 7 M 10 0.17
RSER 6060 60 60 8 17 7 M 12 0.40
RSER 8090 80 90 8 25 10 M 20 1.15
RSER 90135 90 135 10 27 12 M 20 1.75
Glidsko / Sliding shoe
Simplex, Duplex
Bestillningsnr. Fér rullkedja A B c D E Vikt
B Code For roller chain Wﬁ'gm
il P 385 SO 06B-1 M 8| 102 | 40 74 | 45 | 005
i P 12S ISO 08B-1 M10 | 13.9 50 96 55 0.10
< Lill 18- P 58S ISO 10B-1 M10 | 16.6 65 126 55 0.12
! o P 34S ISO 12B-1 M12 | 195 74 148 80 0.18
i P 38D ISO 06B-2 M 8| 102 40 74 45 0.07
LE : P 12D ISO 08B-2 M10 | 13.9 50 96 55 0.12
P 58D ISO 10B-2 M10 | 16.6 65 126 70 0.17
P 34D ISO 12B-2 M12 | 195 74 148 80 0.26

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

31



TRANSLEY

www.translev.se
tif: 08-446 39 90

'TRANSMISSIONSLEVERANTOREN AB
info@translev.se
fax: 08-756 44 73

SPANNFORBAND
CLAMPING UNITS

TYP A CCE 2000

Ingen sjalvcentrering
Stort 6verférbart moment

Not self Centering oj d
Medium-high torques
TYP A CCE 2000 Best. ex./ Order ex. TYP A CCE 2000-d
d D L M S T F P
mm mm mm mm mm l]-m Nm kN N/mm?
18 47 20 26 M6 16 290 32 110
19 47 20 26 M6 16 300 32 110
20 a7 20 26 M 6 16 320 32 110
22 47 20 26 M6 16 340 32 110
24 50 20 26 M6 16 420 35 110
25 50 20 26 M6 16 430 34 110
28 55 20 26 M6 16 600 44 110
30 55 20 26 M6 16 650 44 110
32 60 20 26 M 6 16 770 48 120
35 60 20 26 M6 16 830 48 | 120
38 65 20 26 M6 16 1100 56 | 140
40 65 20 26 M6 16 1150 58 | 140
42 75 24 32 M8 38 1800 86 | 150
a5 75 24 32 M8 38 2000 90 | 160
a8 80 24 32 M8 38 2100 920 | 150
50 80 24 32 M8 38 2200 90 | 150
55 85 24 32 M8 38 2900 100 | 160
60 20 24 32 M8 38 3100 100 | 150
65 95 24 32 M8 38 3600 110 | 150
70 110 28 38 M 10 75 5800| 170 | 170
75 115 28 38 M 10 75 6200 170 | 160
80 120 28 38 M 10 75 6700 170 | 160
85 125 28 38 M 10 75 7700 180 | 160
20 130 28 38 M 10 75 8200 180 | 160
95 135 28 38 M 10 75 9800| 200 | 160
100 145 30 42 Mi12 | 130 12000| 240 | 170
110 155 30 42 M12 | 130 13000| 240 | 160
120 165 30 42 M12 | 130 16000 270 | 170
130 180 38 50 M12 | 130 22000 340 | 150
140 190 38 50 M12 | 130 26000| 380 | 150
150 200 38 50 M12 | 130 30000 400 | 160
160 210 38 50 M12 | 130 35000 440 | 160
170 225 a4 58 M 14 | 200 43000 500 | 160
180 235 44 58 M 14 | 200 50000 550 | 160
190 250 52 66 M 14 | 200 62000| 620 | 150
200 260 52 66 M 14 | 200 69000 690 | 150
220 285 56 72 M 16 | 300 91000 920 | 150
240 305 56 72 M16 | 300 |[115000| 960 | 160
260 325 56 72 M 16 | 300 |[140000| 1050 | 170
280 355 66 87 M18 | 400 [170000| 1200 | 150
300 375 66 87 M 18 | 400 |210000| 1400 | 160
320 405 78 101 M20 | 580 |260000| 1600 | 150
340 425 78 101 M20 | 580 [270000| 1600 | 140
360 455 20 116 M22 | 770 |350000| 1900 | 140
380 475 920 116 M22 | 770 |370000| 1900 | 130
400 495 90 116 M22 | 770 |390000| 1900 | 120
Ts (Nm) Atdragningsmoment per skruv. / Screws tightening torque
Tn (Nm) Atdragningsmoment fér mutter. / Nut setting torque
T (Nm) Overférbart moment T alternativt axial kraft F med &tdragnings-
F (kN) momentet TS. Observera, endast 100% av T alt. F kan utnyttjas.
Torque or axial force transmissible with tightening torque TS.
Only 100% of T or F can be used
p (N/ mm?) Yttryck pa nav. / Hub surface pressure

32

w |

sl [ ]

TYP SD CCE 8000
Utvandig klamkoppling, mycket god koncentricitet

External clamping, excellent Concentricity

TYP SD CCE 8000  Best. ex./ Order ex. TYP SD CCE 8000-d
d ds D L B H C M Ts T F
mm mm mm mm mm mm max mm Nm Nm kN

12 50 9

16 13 41 19 15 11 0.017 M5 4 70 10

14 90 13

19 180 26

24 20 50 23 19 14 |0.017 M5 4 210 27

21 250 29

24 310 26

30 25 60 25 21 16 |0.017 M 5 4 340 27

26 380 28

28 460 50

36 30 72 27 23 18 |0.017 M 6 12 590 54

31 630 58

32 630 65

a4 35 80 29 25 20 |0.032 M 6 12 780 74

36 860 77

38 940 79

50 40 90 31 27 22 |0.032 M 6 12 1100 85

42 1300 90

42 1200 80

55 45 100 34 30 23 [0.032 M 6 12 1500 90

48 1900 100

48 1800 100

62 50 110 34 30 23 |0.032 M 6 12 2200 110

52 2400 120

50 2000 100

68 55 115 34 30 23 [0.038 M 6 12 2500 110

60 3100 120

55 2500 120

75 60 138 38 33 25 [0.048 M8 30 3200 140

65 3900 150

60 3200 120

80 65 145 38 32 25 [0.048 M8 30 3900 140

70 4600 160

65 4700 170

20 70 155 45 39 30 |[0.048 M8 30 6000 190

75 7200 210

70 6900 180

100 75 170 49.5 44 34 |0.048 M8 30 7500| 220

80 9000| 240

75 7200| 230

110 80 185 57 50 39 [0.048 | M 10 59 9000| 250

85 11000| 260

80 8500| 210

115 85 188 57 50 39 [0.048 | M 10 59 10000| 240

90 12000| 270

85 11000| 300

125 90 215 61 54 42 [0.056 | M 10 59 13000| 320

95 15000| 350

90 13700| 300

130 95 215 59 52 42 [0.056 | M 10 59 15800| 330

100 18200| 360

95 15000| 360

140 100 230 68 60 46 [0.056 | M 12 100 17000| 400

105 20000 420

105 20000( 390

155 110 263 70 62 50 [0.069 | M 12 100 23000( 420

115 26000( 450

115 36000( 630

165 120 290 78 68 56 |[0.069 | M 16 250 39000 660

125 44000 700

125 40000| 650

175 130 300 78 68 56 [0.079 | M 16 250 44000 680

135 49000 720

135 55000( 815

185 140 330 96 86 71 0.079 | M 16 250 60000( 875

145 65000| 896

140 66000( 950

195 150 350 96 86 71 0.079 | M 16 250 76000( 1000

155 82000( 1100

160 95000( 1200

220 165 370 114 104 88 |[0.079 | M 16 250 |102000| 1300

170 110000| 1300

170 120000| 1500

240 180 405 122 109 92 [0.079 | M 20 490 |140000| 1600

190 160000| 1700

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{Transiey

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPANNFORBAND
CLAMPING UNITS

TYP B CCE 1000

] TYPCCCE3000
- M
Sjalvcentrerande. M=EE== \t o — 5
Medium éverforbart 2 1 L Ingen sjalvcentrering ﬁ 2 E
moment. A 2P Sma radiella dimensioner. A=
Self centering for thin walled hubs Medium torque Not self centering small radial dimensions
TYP B CCE 1000 Best. ex./ Order ex. TYP B CCE 1000-d TYP C CCE 3000 Best. ex./ Order ex. TYP C CCE 3000-d
rrf'| m mDm nl':n) r?w men mBm ml?n mMm II% N-Ir-n k'l:\l N/rgm2 mdm mDm mLm 1 2 N 3 4 N-Ir-n kﬁ\l N/i ﬁmQ EIQ
6 14 25 9 215 245| M3 2 14 4.8 86 6 9 4.5 3 3 3 4 2 0.8 75 4
8 15 27 12 25 29 (M4 5 29 7 110 8 11 4.5 3 3 3 4 5 1 90 6
10 16 29 14 26 30 | M4 5 36 7 90 10 13 4.5 3 3 3 4 10 2 100 16
12 18 32 14 26 30 [ M4 5 60 10 105 12 15 4.5 3 3 3 4 11 2 90 16
14 23 38 14 26 30 | M4 5 75 10 90 14 18 6.3 3 4 4 5 22 3 90 26
15 24 44 16 36 42 | M6 17 | 180 23 120 15 19 6.3 3 4 4 5 25 3 90 27
16 24 44 16 36 42 | M6 17 180 23 120 16 20 6.3 3 4 4 5 26 3 90 27
18 26 47 18 38 44 | M6 17 | 200 22 120 18 22 6.3 3 4 4 5 33 3 90 33
19 27 48 18 38 44 | M6 17 210 22 120 19 24 6.3 3 4 4 5 40 4 90 33
20 28 49 18 38 44 | M6 17 | 220 22 120 20 25 6.3 3 4 4 5 44 4 90 33
22 32 54 25 45 51 M6 17 250 22 120 22 26 6.3 3 4 4 5 50 4 90 34
24 34 56 25 45 51 M6 17 | 270 22 120 24 28 6.3 3 4 4 5 68 6 100 34
25 34 56 25 45 51 M6 17 | 280 22 120 25 30 6.3 3 4 4 5 75 6 100 37
28 39 61 25 45 51 M6 17 | 500 35 150 28 32 6.3 3 4 4 5 90 6 100 40
30 41 62 25 45 51 M 6 17 | 530 35 150 30 35 6.3 3 4 4 5 100 7 100 40
32 43 65 30 50 56 | M6 17 | 750 45 150 32 36 6.3 3 4 4 5 120 7 100 40
35 47 69 30 50 56 | M6 17 | 850 48 140 35 40 7 3 4 4 5 160 9 100 50
38 50 72 30 50 56 | M6 17 | 930 48 140 38 44 7 4 5 5 6 190 10 100 60
40 53 75 30 50 56 | M6 17 | 980 48 130 40 45 8 4 5 5 6 230 11 100 70
42 55 78 40 65 73 | M8 41 |1000 | 48 130 42 48 8 4 5 5 6 260 12 100 70
45 59 85 40 65 73 | M8 41 |1900 | 84 130 45 52 10 4 5 5 6 390 17 100 | 110
48 62 87 45 70 78 | M8 41 |2000| 84 130 48 55 10 4 5 5 6 430 18 100 | 110
50 65 92 45 70 78 | M8 41 |2700 | 110 | 140 50 57 10 4 5 5 6 470 19 100 | 110
55 71 98 50 75 83 | M8 41 |3000| 110 | 130 55 62 10 4 5 5 6 580 | 21 100 | 120
60 77 | 104 50 75 83 | M8 41 |3300 | 110 | 130 60 68 12 4 5 6 7 840 | 28 100 | 160
65 84 111 50 75 83 | M8 41 |3600| 110 | 130 65 73 12 4 5 6 7 1000 | 30 100 | 160
70 90 | 119 60 91 101 |M 10| 83 (6200 | 180 | 130 70 79 14 4 5 6 7 1300 | 38 100 | 200
75 95 126 60 91 101 (M 10| 83 |6600| 180 | 130 75 84 14 4 5 6 7 1500 | 41 100 | 220
80 100 | 131 65 96 106 (M 10| 83 (8700 | 220 | 130 80 91 17 5 6 7 8 2100 | 54 100 | 300
85 106 | 137 65 96 106 (M 10| 83 |9200| 220 | 130 90 101 17 5 6 7 8 2700 | 61 100 | 320
90 112 | 143 65 96 106 |M 10| 83 (11000| 240 | 130 100 | 114 | 21 5 6 8 9 4200 | 84 100 | 440
95 120 | 153 65 96 106 [M 10| 83 |12000| 250 | 130 110 | 124 | 21 5 6 8 9 4300 | 86 90 450
100 | 125 | 162 65 102 | 114 |M 12 | 145 ({15000| 240 | 130 120 | 134 | 21 5 6 8 9 5100 | 88 90 450
120 | 155 | 198 90 128 | 140 |[M 12 | 145 |17400| 300 55 130 | 148 | 28 6 7 9 11 8100 | 125 90 650
140 | 158 | 28 6 7 9 11 [ 9400 135 90 690
150 | 168 | 28 6 7 9 11 |11000| 145 90 720
Typ C kan monteras i serie upp till 4st. Type C can be mounted in series up 2TYPCCCE3000T2=Talt. Fx 1.6 Skruvstorlek | Ts (Nm) | Fs (kN)
Férspanningskraften Fa & densamma. to 4 pcs. The preload force Fa is the 3TYPCCCE3000T3=Talt. Fx 19 Srew size
De 6verférbara momenten/kraften T same. The transmittable torque / force 4TYPCCCE3000T4=Talt. Fx2.1 M6 10 9
op.E o el Olnde, 77 S0 0e TUIDRI S0 0 Kiss 1298 st salanangss. ||
e e oy the i of screws on the flange, fghte. Threaded bolt with class 129 o N
flansen dras med momentet Ts. ned with the torque Ts. Every screw pro-  Should be used M 14 135 52
Varje skruv producerar da kraften Fs  duces the force Fs, and the number of M16 210 73
Antal skruvar skall vara n x Fs = Fa screws should be: neFs=Fa. The preload M 18 290 88

force Fa generates the transmissible axial
force F.

Reservation for mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

33



{Transicy

www.translev.se

tif: 08-446 39 90

info@translev.se

fax: 08-756 44 73

SPANNFORBAND

CLAMPING UNITS
TYP DS-ES
Best. ex. TYP DS/ES-d DS ES

d D D A B L M Ts T F P Ts T F P
mm mm mm mm mm mm_ mm |[Nm Nm kN N/mm?| Nm Nm kN N/mm?

20 47 56 22 28 34 M6 14 410 41 140 17 320 32 100

22 47 56 22 28 34 M6 14 450 41 140 17 350 32 100

24 50 59 22 28 34 M6 14 490 41 130 17 390 32 100

25 50 59 22 28 34 M6 14 510 41 130 17 400 32 100

28 55 64 22 28 34 M6 14 570 41 120 17 450 32 90

30 55 64 22 28 34 M6 14 610 41 120 17 490 32 90

32 60 69 22 28 34 M6 14 880 55 145 17 700 43 110

35 60 69 22 28 34 M6 14 960 55 145 17 760 43 110

38 65 74 22 28 34 M6 14 1000 55 135 17 820 43 100

40 65 74 22 28 34 M6 14 1100 55 135 17 870 43 100

42 75 84 25 33 41 MS8 35 2200 105 190 41 1700 80 140

45 75 84 25 33 41 M8 35 2400 105 190 41 1800 80 140

48 80 89 24 33 41 MS8 35 2500 105 175 41 1900 80 130

50 80 89 24 33 41 M8 35 2600 105 175 41 2000 80 130

55 85 91 24 33 41 M8 35 2900 105 165 1 2200 80 120

60 90 99 24 33 41 MS8 35 3100 105 155 41 2400 80 120 L = L

65 95 104 24 33 41 M8 35 3400 105 150 41 2600 80 110 B | B

70 110 119 29 40 50 M10| 70 6000 170 175 83 4600 130 130

75 115 124 29 40 50 M10| 70 6400 170 170 83 5000 130 130 = 3

80 120 129 29 40 50 M10| 70 6800 170 160 83 5300 130 120 o '7, =

85 125 134 29 40 50 M10| 70 9000 210 190 83 7000 160 150 b i

90 130 139 29 40 50 M10| 70 9600 210 185 83 7400 160 140 A

95 135 144 29 40 50 M10| 70 10200 210 185 83 7800 160 130 mm
100 145 154 32 44 56 M12|115 12000 235 170 145 9700 200 140
110 155 164 32 44 56 M12| 115 13000 260 160 145 10700 200 130 TYP DS-D TYP DS-D
120 165 174 32 44 56 M12|115 16000 270 165 145 14600 242 150 Sj'alvcentrerande. Stort Self centering
130 180 189 40 52 64 M12|115 23000 350 155 145 19000 300 130 sverforbart moment. without position ring.
140 190 199 40 54 68 M14|185 25000 360 150 230 23000 330 140 Under atdragnings- High transmissible
150 200 209 40 54 68 M 14| 185 30000 400 155 230 24500 330 130 momentet kan navet torque. During the
W o oo i - - - =0 ow a0 to] GUUSCIL e
200 260 269 50 64 78 M14 - - - - 230 49000 500 110 gln::;? ear\: ;f_)tsileos:santg/ger can axially displace.
TYP D-E

Best. ex. TYP D/E-d D E

d D D A B L M Ts T F P Ts T F P
mm mm _mm_mm mm mm_ mm |Nm Nm KN N/mm?| Nm Nm kN N/mm?

20 47 53 31.0 42 48 M6 17 530 52 110 17 320 33 70

22 47 53 31.0 42 48 M6 17 580 52 110 17 360 33 70

24 50 56 31.0 42 48 M6 17 630 52 100 17 390 33 70

25 50 56 31.0 42 48 M6 17 660 52 100 17 400 33 70

28 55 61 31.0 42 48 M6 17 740 52 100 17 450 33 60

30 55 61 31.0 42 48 M6 17 790 52 100 17 490 33 60

32 60 66 31.0 42 48 M6 17 1200 70 120 17 690 43 70

35 60 66 31.0 42 48 M6 17 1300 70 120 17 750 43 70

38 65 71 31.0 42 48 M6 17 1300 70 110 17 820 43 70

40 65 71 31.0 42 48 M6 17 1400 70 110 17 860 43 70

42 75 81 36.0 50 58 M38 41 2000 100 120 41 1300 60 70

45 75 81 36.0 50 58 M8 41 2200 100 120 41 1400 60 70

48 80 86 36.0 50 58 M8 41 3200 130 150 41 2000 80 90

50 80 86 36.0 50 58 M38 41 3300 130 150 41 2000 80 90

55 85 91 360 50 58 M8 41 3600 130 140 41 2200 80 90

60 90 96 36.0 50 58 M38 41 3900 130 130 41 2400 80 80

65 95 101 36.0 50 58 M8 41 4300 130 120 41 2600 80 70

70 110 119 46.0 60 70 M10| 83 7500 210 130 83 4600 130 80

75 115 124 46.0 60 70 M10| 83 8000 210 130 83 5000 130 80

80 120 129 46.0 60 70 M10| 83 8500 210 120 83 5200 130 70

85 125 134 46.0 60 70 M10| 83 11400 270 150 83 7000 170 90

90 130 139 46.0 60 70 M10| 83 12000 270 140 83 7400 170 80
100 145 155 52.0 68 80 M12| 145 15000 300 130 145 9800 190 80
110 155 165 520 68 80 M12|145 16500 300 120 | 145 10700 190 70| TYPES-E TYPES-E
120 165 175 52.0 68 80 M 12| 145 22500 370 140 145 14600 240 90 Sjéh/centrerande_ Medium Self Centering without
130 180 188 52.0 68 80 M 12| 145 29000 450 150 145 19000 300 100 overforbart moment. Under posiﬁon ring'
140 190 199 585 76 90 M 114|210 32000 460 130 230 23000 330 90 étdragningsmomentet Medium transmissible
150 200 209 585 76 90 M 114|210 41000 550 150 230 30000 400 100 forblir navet axiellt fixerat, torque' Durlng the Clamplng
160 210 219 585 76 90 M14|210 44000 550 140 | 230 32000 400 100 | 4 dessa typer har the hub remains acially fixed.
170 225 234 585 76 90 M14|210 54500 640 160 | 230 39000 460 110 | positionsring.
180 235 244 585 76 90 M14|210 57500 640 150 230 41000 460 100

34

Reservation f&r mittférdndringar / Reservation for dimensional changes

Mitt i mm / Dimensions in mm



{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPANNFORBAND
CLAMPING UNITS

TYPHCCE 5000 TYPICCE 5500

TYP F CCE 9000/9500. .
B
Sjalvcentrerande, /’// M Snabb montering och demontering
stort Sverférbart moment s Quick mounting and removal
Self centering, D F t L
: B
very high torque d T 5
x] =AN
k / 2
D1 q L D Dy d e D
TYP F CCE 9000/9500 * TYP F CCE 9000/9500
B L T F P
mm mDm rr'1vr|n Jrsn mm mm Nm kN N/mm?
25 50 M6 17 45 51 900 70 90
30 55 M6 17 45 51 1100 70 90
35 60 M6 17 45 51 1600 90 110
40 65 M6 14 45 51 2400 120 110
45 75 M 8 41 45 51 3300 150 140
50 80 M 8 41 64 72 4250 160 100
55 85 M 8 41 64 72 5100 200 110
60 90 M 8 41 64 72 6100 200 120
65 95 M 8 a1 64 72 6700 200 110
70 110 M 10 83 78 88 10800 320 130
75 115 M 10 83 78 88 13000 360 120
80 120 M 10 83 78 88 14500 360 130
85 125 M 10 83 78 88 16700 390 120
90 130 M 10 83 78 88 18100 390 130
95 135 M 10 83 78 88 18700 390 110
100 145 M 12 145 100 112 26500 520 120
110 155 M 12 145 100 112 32000 580 110
120 165 M 12 145 100 112 40000 670 120
130 180 M 14 230 116 130 51000 790 120
140 190 M 14 230 116 130 64000 920 120
150 200 M 14 230 116 130 74000 980 130
160 210 M 14 230 116 130 84000 1050 130
170 225 M 16 355 146 162 109000 1280 120
180 235 M 16 355 146 162 123000 1370 120
190 250 M 16 355 146 162 139000 1460 120
200 260 M 16 355 146 162 146000 1460 110
220 285 M 16 355 146 162 140500 1200 90
240 305 M 16 355 146 162 210000 1500 110
* Best. ex./ Order ex. TYP F CCE 9000/9500-d
TYP H-I'* TYPH TYPI]
d D D: B L N T F P B L N T F P
mm mm mm mm mm Nm Nm kN N7mm? mm mm Nm Nm KN N7mm?
14 25 32 6.5 16.5 55 32 4 110 17 29 90 80 10 90
15 25 32 6.5 16.5 55 35 5 110 17 29 90 90 12 90
16 25 32 6.5 16.5 55 40 5 120 17 29 70 80 10 70
18 30 38 7 17 80 50 6 110 18 32 190 190 22 120
19 30 38 7 17 85 55 6 120 18 32 150 170 18 100
20 30 38 7 17 90 60 6 120 18 32 110 130 13 80
24 35 45 7 17 130 90 8 120 22 36 230 260 22 90
25 35 45 7 17 135 100 8 130 22 36 170 200 16 80
28 40 52 8 20 170 120 9 130 22 36 390 440 12 120
30 40 52 8 20 200 150 10 120 22 36 240 300 20 80
32 45 58 9 22 300 220 13 140 28 42 320 380 23 70
35 45 58 9 22 300 230 13 140 28 42 320 400 23 70
40 50 65 9 23 400 310 16 120 28 44 400 520 23 80
45 55 70 10 255 500 390 17 120 28 45 500 650 23 70
50 60 75 10 25.5 620 480 19 120 28 46 620 800 32 70
60 70 85 12 29.5 1050 840 28 120 28 52 1050 1400 47 90

* Best. ex./ Order ex. TYP H/A-d

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

35



{Transicy

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

CLAMPING UNITS

SPANNFORBAND

Sjalvcentrerande.
Medium o6verfoérbart
moment.

Klamkoppling foér

utvéndig forbindning

av t.ex. axelandar

D| d

Self centering For connection
medium torques of coaxial shafts

TYPL Best. ex./ Order ex. TYP L-d TYP M CCE 7000 Best. ex./ Order ex. TYP M CCE 7000-d
d D B L M Ts T F P d D B L M Ts T F
mm mm mm mm mm Nm Nm kN N/mm? mm mm mm mm mm Nm Nm kN
16 32 17 22 M 4 5 70 9 50 15 45 50 56 M 6 17 150 17
18 40 18 24 M 6 17 200 23 110 16 45 50 56 M6 17 160 17
19 4 18 24 M6 17 210 23 100 18 50 50 56 M6 17 180 17
20 42 18 24 M 6 17 250 25 100 19 50 50 56 M6 17 190 17
22 44 18 24 M6 17 280 26 100 20 50 50 56 M6 17 200 17
24 46 18 24 M 6 17 320 27 120 24 55 60 66 M6 17 360 26
25 47 18 24 M6 17 340 27 110 25 55 60 66 M6 17 370 26
28 50 18 24 M 6 17 380 27 100 28 60 60 66 M6 17 420 26
30 52 18 24 M6 17 450 30 100 30 60 60 66 M6 17 450 26
32 54 18 24 M 6 17 520 32 90 35 75 75 83 M8 41 640 31
35 57 21.5 28 M6 17 630 36 120 40 75 75 83 M8 41 730 31
40 62 21.5 28 M 6 17 790 40 110 45 85 85 93 M8 41 1230 47
45 73 28 36 M8 41 1540 68 110 50 90 85 93 M8 41 1370 47
50 78 28 36 M8 4 1700 68 100 60 100 85 93 M8 41 2200 64
60 88 28 36 M8 41 2350 78 100 70 115 100 110 M 10 83 3300 80

36

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm



{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPANNFORBAND
CLAMPING UNITS

Rl

Sjalvcentrerande.

Medium - stort éverforbart moment.

Samma ytterdiameter med olika
axelhal for varje typ.

Self centering

Medium - high torques.

The same outer diameter with a range

of inner diameters for each type.

TYPEP
TYP EP Best. ex./ Order ex. TYP EP-d-type
Typ d D D4 A B L M Ts T F P
Type mm mm mm mm mm mm mm KN Nm KN N/mm?
1 14 55 62 23 31 39 8 41 287 4 103
1 16 55 62 23 31 39 8 41 329 41 103
1 18 55 62 23 31 39 8 4 370 4 103
1 19 55 62 23 31 39 8 41 390 4 103
1 20 55 62 23 31 39 8 41 410 41 103
1 22 55 62 23 31 39 8 4 451 4 103
1 24 55 62 23 31 39 8 41 492 4 103
1 25 55 62 23 31 39 8 41 513 41 103
1 28 55 62 23 31 39 8 4 575 4 103
1 30 55 62 23 31 39 8 41 616 4 103
2 24 65 72 23 31 39 8 41 616 51 111
2 25 65 72 23 31 39 8 a1 641 51 111
2 28 65 72 23 31 39 8 4 718 51 111
2 30 65 72 23 31 39 8 41 770 51 111
2 32 65 72 23 31 39 8 a1 821 51 111
2 35 65 72 23 31 39 8 4 898 51 111
2 38 65 72 23 31 39 8 41 975 51 111
2 40 65 72 23 31 39 8 a1 1026 51 111
3 30 80 88 26 34 42 8 a1 1077 72 108
3 32 80 88 26 34 42 8 4 1150 72 108
3 35 80 88 26 34 42 8 41 1257 72 108
3 38 80 88 26 34 42 8 41 1364 72 108
3 40 80 88 26 34 42 8 4 1436 72 108
3 42 80 88 26 34 42 8 41 1509 72 108
3 45 80 88 26 34 42 8 41 1616 72 108
3 48 80 88 26 34 42 8 4 1723 72 108
3 50 80 88 26 34 42 8 41 1796 72 108

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

37



www.translev.se

tif:

{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
info@translev.se

08-446 39 90 fax: 08-756 44 73

TECHNICAL INFORMATION

TEKNISKA SPECIFIKATIONER

Tillater mindre samt
kortare axlar utan nagon axiell fixering.

Allows a smaller and shorter shafts
without any need of an axial fixing

110

90

TYP F CCE 9000/9500 g 24

TYP Tolerans axel Tolerans hél Ytjamnhet
’ Yitryck pé navet Tolerance shaft Tolerance bore |Surface roughness
D, M I P Huizlsurface pressure A k11 - h11 N11 - H11 R: <16 pm
f=06 D [ % ) SD- ds<30 6 He R < 16 um
f  Overforningsfaktor
Form factor 30 <ds <65 h6 H6 Rt <16 pm
D d ] . . . 65 <ds <105 g6 H6 Rt <16 pm
f=08"" T | T O Strackgrénsen for
,_,l, o . *L navmaterialet. 110 < ds < 210 g6 H7 Rt <16 pm
Hub material yield point C - d<238 h6 H7 Rt< 16 pm
T d<38 h8 H8 Rt <16 pm
D: 4G .
i=to o[ Dhmin=CxD |&-D-DsEEs-FHILMmEP h8 Hg Rt < 16 um
p f C C C
Material G 25 Material St 37 Material C 40
N/mm? O = 180 N/mm? O =220 N/mm? O =300 N/mm?
0.6 1.25 1.18 1.12
60 0.8 1.30 1.23 1.18
1.0 1.42 1.32 1.22
0.6 1.31 1.25 1.18
80 0.8 1.45 1.35 1.24
1.0 1.61 1.46 1.31
0.6 1.41 1.32 1.22
100 0.8 1.61 1.46 1.31
1.0 1.86 1.63 1.41
0.6 1.59 1.45 1.30
130 0.8 1.93 1.67 1.44
1.0 2.49 1.97 1.59
0.6 1.81 1.60 1.39
160 0.8 2.43 1.94 1.58
1.0 4.12 2.52 1.81
Servicefaktor Belastning / Load
Vérderna for_T och F méste korrigeras Motor Konstant Latt vaxlande belastn. Tung véaxlande belastn.
med en servicefaktor fran tabellen Constant Light over loads Heavy over loads
Duty factor EIektrisk 1.0 1.5 2.0
The values T and F on the catalogue must be corrected E{?c".'.c -
. . Forbranning 1.5 2.0 25
with a duty depending from the type of work Combustion

Reservation fér mattférandringar / Reservation for dimensional changes

38

Matti mm / Dimensions in mm




{TRANSLEV

TRANSMISSIONSLEVERANTOREN AB

www.translev.se info@translev.se
TEKNISKA SPECIFIKATIONER
TECHNICAL INFORMATION
Montering

Rengor och anolja alla kontaktytor inklusive skruvarna. Anvéand ej olja som innehaller Molybdendisulfid.
Dra &t skruvarna latt samt centrera vid behov och rikta.Dra at skruvarna kryssvis med nagra steg i taget tills ratt
atdragningsmoment uppnatts. Gor en efterkontroll nér alla skruvarna &r dragna.

Demontering
Lossa alla skruvar nagra varv. B

TYP A CCE 2000

Delar sig normalt sjalv nér skruvarna lossas. Knacka latt p& skruvskallarna for att den bakre ringen skall slappa (se fig.1). Ifall
frontringen sitter fast skruva ur de silverplatterade skruvarna, avdragningshélen finns har under. Anvand skruvar av 1 dim.
storre for att dra ut frontringen (se fig. 2). Avdragningshélen har endast 3 géanger.

TYP B CCE 1000, D, DS, E, ES, L samt EP
Demontera samtliga skruvar och skruva i dessa i avdragningshélen i innerringen. Pressa isér ytter och innerring genom att
dra &t skruvarna. Efter att spannforbandet lossats och urtaget ur navet monteras skruvarna ratt igen (se fig. 3 och 4).

ITYP F CCE 9000/9500

Demontering 1 (se fig. 5) Demontera samtliga skruvar, skruva i dessa i de gangade halen i frontringen och lossa denna
genom att dra &t skruvarna. Demontera skruvarna. Demontering 2 (se fig. 6) skruva i skruvarna i de gangade halen i
mittflansen och dra at for att pressa ut den bakre ringen.

Installation

Clean and slightly oil all contact surface, including screw threads, screw heads, shaft and hub. Do not use oils containing
Molybolenum Disulphide.Tighten screw lightly and align hub. Tighten screws in diametrically opposite sequence in two or
three stages up to the catalogue tightening torque TS. Re-check tightening torque by applying it to all the screws.

Removal
Lossen all screws by a few turns

TYP A CCE 2000

Normally it release itself because of the wide cone angle; if necessary lightly tap the screws to release the rear thrust ring (fig.
1). If the front thrust ring is locked, use screws of next size up, screwed in to the removal pull-out threads, located under the
silver plated screws, and pull the front ring off (fig. 2). The removal threads have only 3 threads.

TYP B CCE 1000, D, DS, E, ES, L samt EP
Remove the screws and screw them into the release threads of the front ring, pressing off the rear ring and releasing MIAB-
FIX (fig. 3 and 4). Remove the screws from the release threads only after MIAB-FIX has been taken out of the hub.

TYP F CCE 9000/9500
Dismounting 1 (fig. 5): Remove the screws and screw them in the threaded bores in the front thrust ring and releas it.
Dismounting 2 (fig. 6): Screw the screws in the threaded bores in the central flange and release the rear thrust ring.

-

N v
Fig. 1 Fig. 3 Fig. 5
CONEX B CONEX F
a2 ¢ =ty
= S~ I KX
Fig. 2 Fig. 4 Fig. 6
CONEX A CONEXD, DS, E, ES, L, EP CONEX F

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 39



RCK®

CLAMPING ELEMENTS

SERIES RCK 11
SERIES RCK 13
SERIES RCK 15
SERIES RCK 16
SERIES RCK 19
SERIES RCK 40
SERIES RCK 45
SERIES RCK 50
SERIES RCK 55
SERIES RCK 60
SERIES RCK 61
SERIES RCK 70
SERIES RCK 71
SERIES RCK 80
SERIES RCK 95

page 6

10
11
12
13
14
15

16




MINIMUM HUB DIAMETER CHECK Dm

CLAMPING ELEMENTS

MINIMUM HUB DIAMETER
CHECK Dm

After choosing the clamping element type with the required
characteristics it is necessary to make a check on the mini-
mum extern diameter of the hub (Dm), which has to resist to
the solicitations caused by the high pressures developed by
the clamping element. The check is purely static and con-
cerns just solicitations caused by the clamping element:

/\/RS 0.2 + (Pm x C)
>
Blieler Rs 0.2 - (Pm x C)

Where: Dm

D

Rs 0.2

Pm

Extern diameter of the hub (mm)
Extern diameter of the clamping element (mm)

Yield point for permanent elongation
of 0.2% (N/mm?)

Specific pressure exercised by the clamping
element on the hub (N/mm?)

coefficient of the utilization in function of the
hub profile (Look at the pictures below)




SHAFT CLAMPING ELEMENTS

The clamping system connects one or two components par-
ts solidly to the drive shaft, which allows motion to be tran-
smitted or to withstand an axial thrust. Friction connection
enables gaps to be eliminated, thereby ensuring greater
precision of the keyed components without requiring strict
processing tolerances. The thrust cones develop a pressure
between the shaft and the hub, which enables pulleys, ge-
ars, chain sprockets , drums, flywheels, etc. to be anchored
safely. The easy assembly and disassembly features give
users many advantages, leading to a further cost saving.

Chiaravalli Group S.p.A. provides its customers with diffe-
rent types of clamping elements, which are designed to co-
ver a broad range of applications.

SELF CENTRING RCK 11 TYPE

Suitable for assemblies where special, even heavy-duty conditions
are required, achieving maximum friction clamping results.

It incorporates the best features of all the models which have been
presented.

It operates with very high torque values.

SELF CENTRING RCK 13 TYPE

Suitable for assemblies where good concentricity is required in
small spaces with medium- high torque values.
It can substitute RCK 40 in some cases.

SELF CENTRING RCK 15 TYPE

Suitable for assemblies where axial and radial positioning accuracy
is required with medium- high torque values.

The main feature is the possibility of varying the internal bores
while maintaining the external dimensions constant at only three
diameters.

SELF CENTRING RCK 16 TYPE

Suitable for assemblies where concentricity and positioning accu-
racy is required.
It operates with medium- high torque values.

SHAFT CLAMPING ELEMENTS




SHAFT CLAMPING ELEMENTS

SELF CENTRING RCK 19 TYPE
Suitable for hollow shafts, it operates by compressing the hollow

shafts on the solid shafts enabling transmission of medium high
twisting moments to be achieved.

NOT SELF CENTRING RCK 40 TYPE

SHAFT CLAMPING ELEMENTS

Suitable for general applications, it is not self centring and
therefore requires a centring band to ensure perfect concentricity.
It operates with medium- high torque values.

NOT SELF CENTRING RCK 45 TYPE

Suitable for applications where medium-low twisting moments are
required with, easy rapid assembly and disassembly operation.
Not self centring.

NOT SELF CENTRING RCK 50 TYPE

Comprising two tapered rings, must always be mounted
with a tightening flange.
It operates with low torque values; it isn't self centring.

RCK 50

SELF CENTRING RCK 55 TYPE

Suitable for assemblies where limited overall dimensions and
times are required. It operates with medium-low torque values.




SHAFT CLAMPING ELEMENTS 5

SELF CENTRING RCK 60 TYPE
Suitable for assemblies where a medium-high twisting moment

is required.
It operates in the opposite mode to RCK 13.

SELF CENTRING RCK 61 TYPE

SHAFT CLAMPING ELEMENTS

Enables adjacent components to be clamped to the hub thanks to
an axial force achieved during the clamping phase.
It operates with medium torque values.

SELF CENTRING RCK 70-71 TYPE
(RCK 71 eventually with spacer)

The RCK version is suitable for assemblies where concentricity and
orthogonal positioning of the parts is required.

The RCK 71 version has the same features as RCK 70 with the
addition of a spacer ring to completely avoid possible axial displa-
cements.

These components operates with medium- high torque values.

RCK 70-71

SELF CENTRING RCK 80 TYPE

Suitable for assemblies on hubs with thin walls guarantees both
axial and radial positioning precision with medium transmission
torque values.

Enables rigid connection between two aligned shafts.
It transmits medium-high twisting moments with the advantage of
enabling rapid assembly and disassembly




- RCK 11 TYPE CLAMPING ELEMENTS

4  SELF CENTRING

P4

w |

E THE RECOMMENDED MACHINING \ i

— TOLERANCES FOR THE PRESSURE b |

t SURFACES ARE AS FOLLOWS: ] IR

% [ \

= ©h8FORSHAFT I H \

> @ H 8 FOR HUB

< ad

-

O @D

w

~ ]

t DIMENSIONS maximum CLAMPING CLAMPING SCREWS = EXTRACTION

- torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT

S~ PARTNUMBER @d @D L1 L2 L Mt Shaft Hub N° Type Torque Type N° Kg

% Nm N/mm? N/mm? Nm

x RCK 125 5 55 32 40 46 840 295 134 6 Méx35 17 M6 3 0,50
RCK 1128 28 55 32 40 46 940 264 134 6 Méx35 17 Mé6 3 0,60
RCK 1130 30 55 32 40 46 1000 246 134 6 Méx35 17 Mé6 3 0,60
RCK 1135 35 60 44 54 60 1360 174 101 7 Mé6x45 17 Mé6 3 0,70
RCK 1138 38 75 44 54 62 2740 296 150 7 M8x50 41 M8 3 0,70
RCK 1140 40 75 44 54 62 2880 281 150 7 M8x50 41 M8 3 0,70
RCK 1142 42 75 44 54 62 3030 268 150 7 M8x50 41 M8 3 1,00
RCK 1145 45 75 44 54 62 3240 250 150 7 M8x50 41 M8 3 0,90
RCK 1148 48 80 56 64 72 3950 207 124 8 M8x50 41 M8 3 1,40
RCK 1150 50 80 56 64 72 4150 200 98 8 M8x50 41 M8 3 1,30
RCK 1155 55 85 56 64 72 5150 205 104 9 M8x50 41 M8 3 1,50
RCK 1160 60 90 56 64 72 6200 202 106 10 M8x50 41 M8 4 1,60
RCK 1165 65 95 56 64 72 6750 187 100 10 M8x50 41 M8 4 1,80
RCK 1170 70 110 70 78 88 11500 223 114 10  M10x60 83 M10 4 3,00
RCK 1175 75 115 70 78 88 12300 223 114 10  M10x60 83 M10 4 3,30
RCK 1180 80 120 70 78 88 14500 215 115 11 M10x60 83 M10 4 3,50
RCK 1185 85 125 70 78 88 15400 215 115 12 M10x60 83 M10 5 3,70
RCK 1190 90 130 70 78 88 17800 208 115 12  M10x60 83 M10 5 3,80
RCK 1195 95 135 70 78 88 18700 208 115 12 M10x60 83 M10 5 5,00
RCK 11100 100 145 90 100 112 26300 200 107 11 M12x80 145 M12 4 6,00
RCK 11110 110 155 90 100 112 31800 198 110 12  M12x80 145 M12 5 6,20
RCK 11120 120 165 90 100 112 40400 212 120 14  M12x80 145 M12 5 7,20
RCK 11130 130 180 104 116 130 51500 192 112 12  M14x90 230 M14 5 10,00
RCK 11140 140 190 104 116 130 64700 208 124 14  M14x90 230 M14 7 10,20
RCK 11150 150 200 104 116 130 74200 208 127 15 M14x90 230 M14 6 10,80
RCK 11160 160 210 104 116 130 84500 208 128 16  M14x90 230 M14 7 11,50
RCK 11170 170 225 134 148 164 108200 182 113 14 M16x110 355 M16 6 17,00
RCK 11180 180 235 134 148 164 123250 184 115 15  M16x110 355 M16 7 17,50
RCK 11190 190 250 134 148 164 133800 186 116 16 M16x110 355 M16 7 21,50
RCK 11200 200 260 134 148 164 146000 177 112 16 M16x110 355 M16 7 22,00
RCK 11220 220 285 134 148 164 181000 188 115 18 M16x110 355 M16 8 25,00
RCK 11240 240 305 134 148 164 218000 184 119 20 M16x110 355 M16 9 27,00
RCK 11260 260 325 134 148 164 250000 178 117 21 M16x110 355 M16 10 30,00
RCK 11280 280 355 165 177 197 360000 185 117 18  M20x130 690 M20 8 46,00
RCK 11300 300 375 165 177 197 428000 192 123 20 M20x130 690 M20 9 50,00

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 45 with torque value less or
equal to 3.200 Nm:

RCK 11 -45x75




RCK 13 TYPE CLAMPING ELEMENTS

a

@d Z

Ll

THE RECOMMENDED MACHINING | I[L;J E

TOLERANCES FOR THE PRESSURE ! | u I -

SURFACES ARE AS FOLLOWS: | [ » w

: | Ty 2

2 h 8 FOR SHAFT X =1 - o

9 H 8 FOR HUB I ‘ L S

gD 5

O

(1T

e, -

DIMENSIONS maximum  CLAMPING CLAMPING SCREWS  EXTRACTION t

torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT e

PART NUMBER gd @D L1 L2 L3 L Mt Shaft Hub N. Type Torque Type N. Kg ¥

Nm N/mm?2 N/mm? Nm 5

RCK 1318 18 47 17 22 28 34 310 314 120 5 M6x20 14 M6 3 0,30 ¥
RCK 1319 19 47 17 22 28 34 330 300 120 5 Méx20 14 M6 3 0,30
RCK 1320 20 47 17 22 28 34 380 295 125 5 Méx20 14 M6 3 0,30
RCK 1322 22 47 17 22 28 34 410 270 125 5 Méx20 14 M6 3 0,30
RCK 1324 24 50 17 22 28 34 440 243 120 6 Mé6x20 14 M6 3 0,30
RCK 1325 25 50 17 22 28 34 560 285 140 6 Méx20 14 M6 3 0,30
RCK 1328 28 55 17 22 28 34 630 255 130 6 Mé6x20 14 M6 3 0,40
RCK 1330 30 55 17 22 28 34 660 235 130 6 Mé6x20 14 M6 3 0,30
RCK 1332 32 60 17 22 28 34 960 295 155 8 M6x20 14 M6 4 0,40
RCK 1335 35 60 17 22 28 34 1050 270 155 8 Méx20 14 M6 4 0,40
RCK 1338 38 65 17 22 28 34 1140 250 145 8 Mé6x20 14 M6 4 0,40
RCK 1340 40 65 17 22 28 34 1200 235 145 8 Mé6x20 14 M6 4 0,40
RCK 1345 45 75 20 25 88 41 2180 290 170 7 M8x25 35 M8 3 0,60
RCK 1350 50 80 20 25 33 41 2430 260 160 7 M8x25 35 M8 3 0,80
RCK 1355 55 85 20 25 33 41 3070 270 175 8 M8x25 35 M8 4 0,80
RCK 1360 60 90 20 25 33 41 3350 245 165 8 M8x25 35 M8 4 0,80
RCK 1365 65 95 20 25 33 41 4080 255 175 9 M8x25 35 M8 3 0,90
RCK 1370 70 110 24 30 40 50 6280 280 180 8 M10x30 70 M10 4 1,59
RCK 1375 75 115 24 30 40 50 6680 260 170 8 M10x30 70 M10 4 1,80
RCK 1380 80 120 24 30 40 50 7130 250 160 8 M10x30 70 M10 4 1,80
RCK 1385 85 125 24 30 40 50 8480 260 180 9 M10x30 70 M10 3 2,00
RCK 1390 90 130 24 30 40 50 9080 250 170 9 M10x30 70 M10 3 2,10
RCK 1395 95 135 24 30 40 50 10580 260 180 10 M10x30 70 M10 4 2,10
RCK 13100 100 145 26 32 44 56 13380 270 190 8 M12x35 125 M12 4 2,80
RCK 13110 110 155 26 32 44 56 14580 240 180 8 M12x35 125 M12 4 3,00
RCK 13120 120 165 26 32 44 56 17880 250 180 9 M12x35 125 M12 4 3,20
RCK 13130 130 180 34 40 52 64 26000 240 170 12 M12x35 125 M12 6 4,80
RCK 13140 140 190 34 40 54 68 26980 210 150 9 M14x40 190 M14 4 5,20
RCK 13150 150 200 34 40 54 68 32980 230 170 10 M14x40 190 M14 5 5,40
RCK 13160 160 210 34 40 54 68 37980 230 170 11 M14x40 190 M14 4 5,70
RCK 13170 170 225 44 50 64 78 44980 180 130 12 M14x40 190 M14 6 8,00
RCK 13180 180 235 44 50 64 78 46980 170 130 12 M14x40 190 M14 6 0,30

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 30 with a torque value less than or
equal 660 Nm:

RCK 13 - 30 x 55




- RCK 15 TYPE CLAMPING ELEMENTS

4  SELF CENTRING

5 ‘ @ D+7

E THE RECOMMENDED MACHINING ‘ od -

— TOLERANCES FOR THE PRESSURE | | [ & ]

L SURFACES ARE AS FOLLOWS: I ! HH |

O o | ‘ |

% @ h 8 FOR SHAFT - ! |

S @ HB8FORHUB ) ! (™

< oD

O

Ll

o

ﬁ DIMENSIONS maximum  CLAMPING = CLAMPING SCREWS EXTRACTION

n torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT

S PART NUMBER ad D L1 L2 L3 L Mt Shaft Hub N° @ xL Torque (%] N° Kg

5 Nm N/mm2 N/mm? Max Nm

Y RCK 15014 14 55 17 22 31 39 290 458 118 4 M8x25 41 M8 2 0,50
RCK 15016 16 55 17 22 31 39 320 400 118 4 M8x25 41 M8 2 0,50
RCK 15018 18 55 17 22 31 39 360 356 118 4 M8x25 41 M8 2 0,50
RCK 15019 19 55 17 22 31 39 380 337 118 4 M8x25 41 M8 2 0,50
RCK 15020 20 55 17 22 31 39 400 320 118 4 M8x25 41 M8 2 0,50
RCK 15022 22 55 17 22 31 39 440 290 118 4 M8x25 41 M8 2 0,50
RCK 15024 24 55 17 22 31 39 480 265 118 4 M8x25 41 M8 2 0,50
RCK 15025 25 55 17 22 31 39 500 255 118 4 M8x25 41 M8 2 0,50
RCK 15028 28 55 17 22 31 39 560 228 118 4 M8x25 41 M8 2 0,40
RCK 15030 30 55 17 22 31 39 600 213 118 4 M8x25 41 M8 2 0,40
RCK 15124 24 65 17 22 31 39 620 332 122 5 M8x25 41 M8 3 0,70
RCK 15125 25 65 17 22 31 39 640 320 122 5 M8x25 41 M8 3 0,70
RCK 15128 28 65 17 22 31 39 720 285 122 5 M8x25 41 M8 3 0,60
RCK 15130 30 65 17 22 31 39 770 267 122 5 M8x25 41 M8 3 0,60
RCK 15132 32 65 17 22 31 39 820 250 122 5 M8x25 41 M8 3 0,60
RCK 15133 33 65 17 22 31 39 850 235 122 5 M8x25 41 M8 3 0,60
RCK 15135 35 65 17 22 31 39 900 228 122 5 M8x25 41 M8 3 0,50
RCK 15138 38 65 17 22 31 39 980 210 122 5 M8x25 41 M8 3 0,50
RCK 15140 40 65 17 22 31 39 1030 200 122 5 M8x25 41 M8 3 0,50
RCK 15230 30 80 20 25 33 41 1080 315 120 7 M8x25 41 M8 3 1,00
RCK 15232 32 80 20 25 33 41 1150 298 120 7 M8x25 41 M8 3 1,00
RCK 15233 33 80 20 25 33 41 1200 282 120 7 M8x25 41 M8 3 1,00
RCK 15235 35 80 20 25 33 41 1260 272 120 7 M8x25 41 M8 3 1,00
RCK 15238 38 80 20 25 33 41 1370 250 120 7 M8x25 41 M8 3 1,00
RCK 15240 40 80 20 25 33 41 1440 238 120 7 M8x25 41 M8 3 0,90
RCK 15243 42 80 20 25 33 41 1510 226 120 7 M8x25 41 M8 3 0,90
RCK 15245 45 80 20 25 33 41 1620 212 120 7 M8x25 41 M8 3 0,80
RCK 15248 48 80 20 25 33 41 1730 198 120 7 M8x25 41 M8 3 0,80
RCK 15250 50 80 20 25 33 41 1800 190 120 7 M8x25 41 M8 3 0,80
RCK 15340 40 80 20 25 33 41 2150 340 169 10 M8x25 41 M8 4 0,95
RCK 15345 45 80 20 25 33 41 2420 302 169 10 M8x25 41 M8 4 0,85
RCK 15350 50 80 20 25 33 41 2700 272 169 10 M8x25 41 M8 4 0,85

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 40 with a torque value less than ;
or equal 1030 Nm: _— :
RCK 15 - 40 x 65 W '

L




RCK 16 TYPE CLAMPING ELEMENTS

SELF CENTRING

THE RECOMMENDED MACHINING i I
TOLERANCES FOR THE PRESSURE ! [ e I
SURFACES ARE AS FOLLOWS: |

(2]

-

Z

Ll

>

=

Ll

. | - Q

- | « 2

2 h 8 FOR SHAFT ' [ =t [ 2| 2 o

9 H 8 FOR HUB ] Ll S

| <

@D O

L

o

DIMENSIONS maximum  CLAMPING CLAMPING SCREWS = EXTRACTION t

torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT O

PART NUMBER gd @D L1 L2 L3 L Mt Shaft Hub N. Type Torque Type N. Kg

Nm N/mm? N/mm? Nm 5

RCK 1618 18 47 17 22 28 34 260 240 93 5 Mé6x20 17 M6 3 0,30 ¢
RCK 1619 19 47 17 22 28 34 270 230 93 5 Méx20 17 M6 3 0,30
RCK 1620 20 47 17 22 28 34 280 220 95 5 Méx20 17 M6 3 0,30
RCK 1622 22 47 17 22 28 34 300 200 95 5 Méx20 17 M6 3 0,30
RCK 1624 24 50 17 22 28 34 400 215 107 6 Mé6x20 17 M6 3 0,30
RCK 1625 25 50 17 22 28 34 420 210 105 6 Mé6x20 17 M6 3 0,30
RCK 1628 28 55 17 22 28 34 470 190 96 6 Mé6x20 17 M6 3 0,40
RCK 1630 30 55 17 22 28 34 500 180 95 6 Mé6x20 17 M6 3 0,40
RCK 1632 32 60 17 22 28 34 720 220 115 8 Mé6x20 17 M6 4 0,40
RCK 1635 35 60 17 22 28 34 790 200 115 8 Mé6x20 17 M6 4 0,40
RCK 1638 38 65 17 22 28 34 850 185 105 8 Mé6x20 17 M6 4 0,50
RCK 1640 40 65 17 22 28 34 900 175 105 8 Méx20 17 M6 4 0,50
RCK 1645 45 75 20 25 33 41 1620 215 125 7 M8x25 41 M8 3 0,70
RCK 1650 50 80 20 25 88 41 1820 195 120 7 M8x25 41 M8 3 0,80
RCK 1655 55 85 20 25 33 41 2300 200 130 8 M8x25 41 M8 4 0,90
RCK 1660 60 90 20 25 33 41 2500 185 125 8 M8x25 41 M8 4 0,90
RCK 1665 65 95 20 25 33 41 3050 190 130 9 M8x25 41 M8 3 1,00
RCK 1670 70 110 24 30 40 50 4660 210 135 8 M10x30 83 M10 4 1,90
RCK 1675 75 115 24 30 40 50 5000 195 125 8 M10x30 83 M10 4 2,00
RCK 1680 80 120 24 30 40 50 5300 185 125 8 M10x30 83 M10 4 2,00
RCK 1685 85 125 24 30 40 50 6350 195 135 9 M10x30 83 M10 3 2,00
RCK 1690 90 130 24 30 40 50 6760 185 130 9 M10x30 83 M10 3 2,20
RCK 1695 95 135 24 30 40 50 7900 195 135 10 M10x30 83 M10 4 2,30
RCK 16100 100 145 26 32 44 56 9700 200 140 8 M12x35 145 M12 4 3,00
RCK 16110 110 155 26 32 44 56 10600 180 130 8 M12x35 145 M12 4 3,20
RCK 16120 120 165 26 32 44 56 13000 185 135 9 M12x35 145 M12 4 3,40
RCK 16130 130 180 34 40 52 64 18900 175 125 12 M12x35 145 M12 6 5,20
RCK 16140 140 190 34 40 54 68 20600 165 120 9 M14x40 230 M14 4 5,40
RCK 16150 150 200 34 40 54 68 25100 175 130 10 M14x40 230 M14 5 5,70
RCK 16160 160 210 34 40 54 68 29100 180 135 11 M14x40 230 M14 4 6,00
RCK 16170 170 225 44 50 64 78 34100 140 105 12 M14x40 230 M14 6 8,30
RCK 16180 180 235 44 50 64 78 36100 135 105 12 M14x40 230 M14 6 8,80

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 75 with a torque value less than
or equal 5000 Nm:

RCK 16 -75x 115




RCK 19 TYPE CLAMPING ELEMENTS
o

THE RECOMMENDED MACHINING
TOLERANCES FOR THE PRESSURE
SURFACES ARE AS FOLLOWS: ==

|
@d h 8 DIAMETER Lt
- R ) |

|
IMPORTANT: L —
INTERN TAPERS ARE LUBRICATED od
WITH PRODUCTS BASED ON g !

D

MOLYBDENUM BISULPHIDE.

RCK 19 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum CLAMPING CLAMPING SCREWS
torque  PRESSURE DIN 931 MAT. 10.9  WEIGHT
PARTNUMBER @d @D Gdw L1 L2 L gl Ddw Mt Shaft N. Type Torque Kg
(dw-d1) Nm N/mm?2 Nm
RCK 1924 24 50 19 14 195 23 36 0,017 170 286 6 M5x18 4 0,20
5? %8 DIN 912 MAT. 12.9
RCK 1930 30 60 24 16 215 25 44 0,017 300 233 7 M5x18 4 0,30
%2 ggg DIN 912 MAT. 12.9
RCK 1936 36 72 gg 18 235 27,5 52 0,032 £51;18 307 5 M6x20 12 0,40
31 630
RCK 1944 44 80 gg 20 25,5 29,5 61 0,032 %8 317 7 M6x20 12 0,60
36 860
RCK 1950 50 90 38 22 27,5 31,5 70 0,032 940 289 8 M6x25 12 0,80
40 1160
42 1380
RCK 1955 55 100 42 23 305 345 75 0,032 1160 252 8 M6x25 12 1,10
45 1520
48 1880
RCK 1965 62 110 48 23 305 34,5 86 0,048 1850 279 10  Méx25 12 1,30
50 2200
52 2400
RCK 1968 68 115 50 23 30,5 345 86 0,048 2000 255 10  M6x25 12 1,40
55 2500
60 3150
RCK 1975 75 138 55 25 32,5 37,8 100 0,048 2500 273 7 M8x30 30 1,70
60 3200
65 3950
RCK 1980 80 145 60 25 32,5 37,8 100 0,048 3200 256 7 M8x30 30 1,90
65 3900
70 4600
RCK 1990 90 155 65 30 39 443 114 0,048 4750 271 10  M8x35 30 3,30
70 6000
75 7250
RCK 19100 100 170 70 34 44 493 124 0,048 6900 258 12 M8x35 30 4,70
75 7500
80 9000
RCK 19110 110 185 75 39 50 56,4 136 0,048 7200 244 9  M10x40 59 5,90
80 9000
85 10800
RCK 19125 125 215 85 42 54 60,4 160 0,069 11000 266 12 M10x40 59 8,30
90 13000
95 15000
RCK 19140 140 230 95 46 60,5 68 175 0,069 15100 264 10 M12x45 100 10,0
100 17600
105 20100
RCK 19155 155 265 105 50 64,5 72 192 0,069 22000 263 12 M12x50 100 15,0
110 25000
115 28000
RCK 19165 165 290 115 56 71 81 210 0,069 31000 277 8  M16x55 250 22,0
120 35000
125 39000
RCK 19175 175 300 125 56 71 81 220 0,079 36000 261 8  M16x55 250 22,0
130 41000
135 45000
RCK 19185 185 330 135 71 86 96 236 0,09 52000 237 10 M16x70 250 24,0
140 57000
145 62000

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 36 with a torque value less than
or equal 440 Nm:

RCK19-36 x72




RCK 40 TYPE CLAMPING ELEMENTS

NOT SELF CENTERING

THE RECOMMENDED MACHINING
TOLERANCES FOR THE PRESSURE
SURFACES ARE AS FOLLOWS:

L1
11 |’E

@ h 8 FOR SHAFT
2 H 8 FOR HUB od

@D

RCK 40 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum  CLAMPING CLAMPING SCREWS  EXTRACTION
torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT
PART NUMBER gd @D L1 L H Mt Shaft  Hub N. Type Torque Type N. Kg
Nm N/mm? N/mm?2 Nm
RCK 4019 19 47 17 20 28 255 220 90 8 Méx18 14 M8 2 0,25
RCK 4020 20 47 17 20 28 270 210 90 8 Mé6x18 14 M8 2 0,24
RCK 4022 22 47 17 20 28 300 195 90 8 Mé6x18 14 M8 2 0,23
RCK 4024 24 50 17 20 28 360 195 95 9 Méx18 14 M8 3 0,26
RCK 4025 25 50 17 20 28 380 190 95 9 Méx18 14 M8 3 0,25
RCK 4028 28 55 17 20 28 500 187 96 10 Méx18 14 M8 4 0,30
RCK 4030 30 55 17 20 28 530 176 96 10 Méx18 14 M8 4 0,29
RCK 4032 32 60 17 20 28 630 192 105 12 Méx18 14 M8 4 0,30
RCK 4035 35 60 17 20 28 700 180 105 12 Méx18 14 M8 4 0,32
RCK 4038 38 65 17 20 28 860 183 107 14 Méx18 14 M8 4 0,36
RCK 4040 40 65 17 20 28 910 180 110 14 Méx18 14 M8 4 0,34
RCK 4042 42 75 20 24 34 1500 226 125 12  M8x22 35 M10 4 0,48
RCK 4045 45 75 20 24 34 1610 210 125 12 M8x22 35 M10 4 0,57
RCK 4048 48 80 20 24 34 1700 196 115 12 M8x22 35 M10 4 0,59
RCK 4050 50 80 20 24 34 1770 190 115 12 M8x22 35 M10 4 0,60
RCK 4055 55 85 20 24 34 2270 200 130 14 M8x22 35 M10 4 0,63
RCK 4060 60 90 20 24 34 2470 180 120 14 M8x22 35 M10 4 0,69
RCK 4065 65 95 20 24 34 3040 190 130 16 M8x22 35 M12 4 0,73
RCK 4070 70 110 24 28 40 4600 210 130 14 M10x25 70 M12 4 1,26
RCK 4075 75 115 24 28 40 4900 195 125 14 M10x25 70 M12 4 1,33
RCK 4080 80 120 24 28 40 5200 180 120 14 M10x25 70 M12 4 1,40
RCK 4085 85 125 24 28 40 6300 195 130 16 M10x25 70 M12 4 1,49
RCK 4090 90 130 24 28 40 6600 180 125 16 M10x25 70 M12 4 1,53
RCK 4095 95 135 24 28 40 7900 195 135 18 M10x25 70 M12 4 1,62
RCK 40100 100 145 26 33 47 9600 195 135 14 M12x30 125 M14 4 2,01
RCK 40110 110 155 26 33 47 10500 180 125 14 M12x30 125 M14 4 2,15
RCK 40120 120 165 26 33 47 13100 185 135 16 M12x30 125 M14 4 2,35
RCK 40130 130 180 34 38 52 17600 165 115 20 M12x35 125 M14 4 3,51
RCK 40140 140 190 34 38 52 20900 165 125 22 M12x35 125 M14 4 3,85
RCK 40150 150 200 34 38 52 24200 170 125 24 M12x35 125 M14 4 4,07
RCK 40160 160 210 34 38 52 28000 170 130 26 M12x35 125 M14 4 4,30
RCK 40170 170 225 38 44 60 32800 160 120 22 M14x40 190 M16 4 5,80
RCK 40180 180 235 38 44 60 37800 165 125 24 M14x40 190 M16 4 6,00
RCK 40190 190 250 46 52 68 46500 150 115 28 M14x45 190 M16 4 8,50
RCK 40200 200 260 46 52 68 52500 150 115 30 M14x45 190 M16 5 8,60
RCK 40220 220 285 50 56 74 68000 150 115 26 M16x50 295 M18 3 11,0

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 75 with a torque value less than
or equal 4900 Nm:

RCK 40-75x 115




RCK 45 TYPE CLAMPING ELEMENTS

48  NOT SELF CENTERING

S

E THE RECOMMENDED MACHINING LL;J ! LL;J

| TOLERANCES FOR THE PRESSURE l 4

Y SURFACES ARE AS FOLLOWS: ﬂ;“ | < 3

Q | h

— | T

o @ h 8 FOR SHAFT

= O H 8 FOR HUB od

3

) @D

L

o

t DIMENSIONS maximum  CLAMPING CLAMPING SCREWS  EXTRACTION

LN torque PRESSURE DIN 912 MAT. 12.9 THREAD  WEIGHT

< PART NUMBER od @D L1 L2 L Mt Shaft Hub N. Type Torque Type N. Kg

6 Nm N/mm? N/mm? Nm

o RCK 4518 18 40 12 185 245 190 260 120 6 Méx16 16 M8 2 0,2
RCK 4519 19 41 12 185 245 210 260 120 6 Méx16 16 M8 2 0,25
RCK 4520 20 42 12 185 245 240 250 120 6 Méx16 16 M8 2 0,24
RCK 4524 24 46 12 185 245 290 250 120 6 Méx16 16 M8 2 0,25
RCK 4525 25 47 12 185 245 330 230 120 8 Méx16 16 M8 2 0,25
RCK 4528 28 50 12 185 24,5 370 220 120 8 Méx16 16 M8 2 0,30
RCK 4530 30 52 12 185 24,5 430 210 120 8 Méx16 16 M8 2 0,30
RCK 4535 35 57 15 22 28 610 170 100 12 Méx16 16 M8 3 0,32
RCK 4538 38 60 15 22 28 680 170 100 12 Méx16 16 M8 3 0,36
RCK 4540 40 62 15 22 28 780 170 100 12 Méx16 16 M8 3 0,40
RCK 4542 42 70 18 28 36 1480 190 110 12 M8x22 41 M10 3 0,45
RCK 4545 45 73 18 28 36 1500 210 130 12  M8x22 41 M10 3 0,57
RCK 4548 48 76 18 28 36 1550 210 130 12 M8x22 41 M10 3 0,59
RCK 4550 50 78 18 28 36 1650 190 120 12 M8x22 41 M10 3 0,61
RCK 4555 55 83 18 28 36 2000 190 120 16  M8x22 41 M10 4 0,63
RCK 4560 60 88 18 28 36 2350 190 120 16  M8x22 41 M10 4 0,69
RCK 4570 70 105 22 35 35 3900 180 120 12 M10x25 70 M12 3 1,25
RCK 4580 80 115 22 35 35 4800 170 120 16 M10x25 70 M12 4 1,40

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 55 with a torque value less than
or equal 2000 Nm:

RCK 45 - 55 x 83




RCK 50 TYPE CLAMPING ELEMENTS

NOT SELF CENTERING

THE RECOMMENDED MACHINING @D

TOLERANCES FOR THE PRESSURE

SURFACES ARE AS FOLLOWS: , ; i I
/l 1 NsL-

O h 8 FOR SHAFT - :

O H 8 FOR HUB od

* cut horizontally

RCK 50 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum CLAMPING
torque PRESSURE
PART NUMBER gd @D L1 L Necessary force Mt Shaft Hub WEIGHT

Kg Nm N/mm? N/mm? Kg
RCK 5006 x4 9 37 45 380 2,4 115 75 0,01
RCK 5007  *7 10 37 4,5 390 3,0 105 70 0,01
RCK 5008 *8 11 3,7 4,5 530 4,7 120 90 0,01
RCK 5009 9 12 3,7 4,5 1560 7,9 140 105 0,01
RCK 5010 10 13 3.7 4,5 1560 9,5 135 105 0,01
RCK 5012 12 15 3,7 4,5 1560 11,4 115 90 0,01
RCK 5013 13 16 3,7 4,5 1560 13,1 110 90 0,01
RCK 5014 14 18 5,3 6,3 2540 22,3 115 90 0,01
RCK 5015 15 19 5,3 6,3 2540 24,3 110 85 0,01
RCK 5016 16 20 5,3 6,3 2540 27,3 105 85 0,01
RCK 5017 17 21 5,3 6,3 2540 29,8 105 85 0,01
RCK 5018 18 22 5,3 6,3 2540 32,4 100 80 0,01
RCK 5019 19 24 5,3 6,3 3600 49 140 110 0,01
RCK 5020 20 25 53 6,3 3600 53 135 105 0,01
RCK 5022 22 26 5,3 6,3 3600 66 135 115 0,01
RCK 5024 24 28 5.3 6,3 3600 73 130 110 0,01
RCK 5025 25 30 53 6,3 3600 72 115 95 0,01
RCK 5028 28 32 5,3 6,3 3600 86 115 100 0,01
RCK 5030 30 35 53 6,3 3600 91 100 85 0,01
RCK 5032 32 36 53 6,3 4500 131 130 115 0,02
RCK 5035 35 40 6 7 5400 171 125 110 0,02
RCK 5036 36 42 6 7 5400 169 115 100 0,02
RCK 5038 38 44 6 7 5400 181 110 95 0,02
RCK 5040 40 45 6,6 8 6600 231 115 105 0,03
RCK 5042 42 48 6,6 8 6600 235 110 95 0,04
RCK 5045 45 52 8,6 10 9900 353 105 95 0,04
RCK 5048 48 55 8,6 10 13200 572 155 135 0,05
RCK 5050 50 57 846 10 13200 602 150 130 0,05
RCK 5055 55 62 8,6 10 13200 670 140 125 0,06
RCK 5056 56 64 104 12 15720 790 130 115 0,07
RCK 5060 60 68 10,4 12 15720 860 125 110 0,07
RCK 5063 63 71 10,4 12 15720 910 120 105 0,08
RCK 5065 65 73 10,4 12 15720 950 115 100 0,08
RCK 5070 70 79 12,2 14 20960 1380 125 110 0,11
RCK 5071 71 80 12,2 14 20960 1400 120 110 0,12
RCK 5075 75 84 12,2 14 20960 1450 115 100 0,12
RCK 5080 80 91 15 17 29000 2200 125 105 0,20

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 24 with a torque value less than
or equal 73 Nm:

RCK 50 - 24 x 28




RCK 55 TYPE CLAMPING ELEMENTS
L

THE RECOMMENDED MACHINING ‘{
TOLERANCES FOR THE PRESSURE
SURFACES ARE AS FOLLOWS:

L1

@ h 8 FOR SHAFT
O H 8 FOR HUB @d
@D

RCK 55 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum CLAMPING FERRULE SECURITY
torque PRESSURE WASHER WEIGHT
PART NUMBER gd ©OD OE L1 L Mt Shaft Hub Type Thread Tightening Type Kg
Nm N/mm? N/mm? torque Nm
RCK 5514 14 25 32 23 31 65 80 45 Km4 M20x1 95 MB4 0,10
RCK 5515 15 25 32 23 31 70 80 45 KM4 M20x1 95 MB4 0,11
RCK 5518 18 30 38 24 33 100 75 45 KM5 M25x1,5 160 MBS 0,13
RCK 5519 19 30 38 24 33 105 75 45 KM5 M25x1,5 160 MB5 0,13
RCK 5520 20 30 38 24 33 112 70 45 KM5 M25x1,5 160 MB5 0,15
RCK 5524 24 35 45 29 38 178 65 45 KMé6 M30x1,5 220 MB6 0,17
RCK 5525 25 35 45 29 38 185 60 45 KMé6 M30x1,5 220 MB6 0,17
RCK 5528 28 40 52 34 44 250 55 40 KM7 M35x1,5 340 MB7 0,28
RCK 5530 30 40 52 34 44 270 50 40 KM7 M35x1,5 340 MB7 0,26
RCK 5535 35 45 58 34 45 390 55 45 KM8 M40x1,5 480 MB8 0,26
RCK 5540 40 50 65 35 46 520 55 45 KM9 M45x1,5 680 MB9 0,33
RCK 5545 45 55 70 35 47 680 60 50 KM10  M50x1,5 870 MB10 0,45
RCK 5550 50 60 75 36 48 880 60 50 KM11 M55x2 970 MB11 0,66
RCK 5555 55 65 80 36 48 1030 60 50 KM12 M60x2 970 MB12 0,72
RCK 5560 60 70 85 36 50 1360 65 55 KM13 M65x2 1300 MB13 0,80

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 30 with a torque value less than
or equal 270 Nm:

RCK 55 - 30 x 40




RCK 60 TYPE CLAMPING ELEMENTS

SELF CENTRING o4
THE RECOMMENDED MACHINING |

TOLERANCES FOR THE PRESSURE i
SURFACES ARE AS FOLLOWS:

L1

L3

——

@ h 8 FOR SHAFT ||
@ H 8 FOR HUB L

L2
L

@D

RCK 60 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum CLAMPING CLAMPING SCREWS  EXTRACTION
torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT
PARTNUMBER @d @D L1 L2 L3 L Mt  Axial force Shaft Hub N. Type Torque Type N. Kg
Nm N. N/mm? N/mm? Nm

RCK 6020 20 47 10 14 28 34 245 29400 210 93
RCK 6022 22 47 10 14 28 34 265 30000 196 93
RCK 6024 24 50 10 14 28 34 370 32300 215 108
RCK 6025 25 50 10 14 28 34 390 33300 210 108
RCK 6030 30 55 10 14 28 34 480 41200 186 98
RCK 6035 35 60 10 14 28 34 735 44100 186 108 M6x25 17 M6 0,32
RCK 6038 38 65 10 14 28 34 790 46100 206 103 M6x25 17 M6 0,36

5 Méx25 17 Mé 3
5 3
6 3
6 8
6 8
8 4
8 4
RCK 6040 40 65 10 14 28 34 830 47000 186 103 8 Mé6x25 17 M6 4 0,34
7 4
7 4
7 4
8 4
8 4
9 8
8 4

Mé6x25 17 Mé
Méx25 17 Mé
Méx25 17 Mé
Méx25 17 Mé

0,24
0,23
0,26
0,25
0,29

RCK 6042 42 75 12 18 35 43 1450 66000 225 132 M8x30 41 M8 0,48
RCK 6045 45 75 12 18 35 43 1560 70000 220 132 M8x30 41 M8 0,57
RCK 6050 50 80 12 18 35 43 1650 72000 206 127 M8x30 41 M8 0,60
RCK 6055 55 85 12 18 35 43 2250 80000 210 132 M8x30 41 M8 0,63
RCK 6060 60 90 12 18 35 43 2450 83000 186 122 M8x30 41 M8 0,69
RCK 6065 65 95 12 18 35 43 2890 90000 200 132 M8x30 41 M8 0,73
RCK 6070 70 110 16 24 46 56 4700 130000 220 140 M10x40 83 M10 1,26

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 30 with a torque value less than
or equal 480 Nm:

RCK 60 - 30 x 55




RCK 61 TYPE CLAMPING ELEMENTS

4d SELF CENTRING

Z

= [T | i

0 THE RECOMMENDED MACHINING |

| TOLERANCES FOR THE PRESSURE !

g SURFACES ARE AS FOLLOWS: 1 <~

2 |

o @ h 8 FOR SHAFT {

> O H 8 FOR HUB ad

<

O @D

Ll

-

ﬁ DIMENSIONS maximum CLAMPING CLAMPING SCREWS EXTRACTION

- torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT

O parT NUMBER ad gD L1 L Mt Shaft Hub N. Type  Torque Type N. Kg

5 Nm N/mm? N/mm? Nm

o RCK6110 10 20 13 15,5 15 110 55 4 M2,5x12 1,2 M2,5 2 0,02
RCK6112 12 22 13 15,5 20 90 50 4 M2,5x12 1,2 M25 2 0,02
RCK 6114 14 26 17 20 35 105 55 4 M3x16 2,1 M3 2 0,04
RCK 6115 15 28 17 20 40 100 50 4 M3x16 2,1 M3 2 0,04
RCK 6116 16 32 17 21 70 130 65 4 M4x16 4,9 M4 2 0,07
RCK 6118 18 35 21 25 80 115 60 4 M4x20 4,9 M4 2 0,09
RCK 6119 19 35 21 25 85 110 60 4 M4x20 4,9 M4 2 0,08
RCK 6120 20 38 21 26 220 220 115 6 M5x20 9.7 M5 3 0,10
RCK 6122 22 40 21 26 240 200 110 6 M5x20 9,7 M5 3 0,11
RCK 6124 24 47 26 32 380 220 110 6 Mé6x25 16,2 Mé 3 0,20
RCK 6125 25 47 26 32 390 210 110 6 Mé6x25 16,2 Mé 3 0,19

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 15 with a torque value less than
or equal 40 Nm:

RCK 61 - 15 x 28




RCK 70 TYPE CLAMPING ELEMENTS

SELF CENTRING @D

ad

THE RECOMMENDED MACHINING I———
TOLERANCES FOR THE PRESSURE i ! ]
SURFACES ARE AS FOLLOWS:

. =
@ h 8 FOR SHAFT - b | = |

-
@ H 8 FOR HUB
I ]

RCK 70 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum  CLAMPING CLAMPING SCREWS  EXTRACTION
torque PRESSURE DIN 912 MAT. 12.9 THREAD  WEIGHT
PART NUMBER gd @D L1 L2 L3 L Mt Shaft Hub N. Type Torque Type N. Kg
Nm N/mm? N/mm? Nm
RCK 7019 19 47 26 31 39 45 350 228 98 4 Méx25 17 M6 2 0,39
RCK 7020 20 47 26 31 39 45 390 231 100 4 Méx25 17 M6 2 0,38
RCK 7022 22 47 26 31 39 45 440 220 95 4 M6x25 17 M6 2 0,37
RCK 7024 24 50 26 31 39 45 519 215 102 6 M6x25 17 M6 3 0,43
RCK 7025 25 50 26 31 39 45 590 230 105 6 M6x25 17 M6 3 0,42
RCK 7028 28 55 26 31 39 45 700 220 110 6 M6x25 17 M6 3 0,55
RCK 7030 30 55 26 31 39 45 760 200 120 6 M6x25 17 M6 3 0,56
RCK 7032 32 60 26 31 39 45 930 230 114 8 Méx25 17 M6 4 0,60
RCK 7035 35 60 26 31 39 45 1030 200 119 8 Méx25 17 M6 4 0,50
RCK 7038 38 65 26 31 39 45 1240 210 124 8 Mé6x25 17 M6 4 0,60
RCK 7040 40 65 26 31 39 45 1350 200 125 8 Mé6x25 17 M6 4 0,60
RCK 7042 42 75 30 36 47 55 2170 236 140 6 M8x30 41 M8 3 1,00
RCK 7045 45 75 30 36 47 55 2350 236 140 6 M8x30 41 M8 3 1,00
RCK 7048 48 80 30 36 47 55 2510 218 135 6 M8x30 41 M8 3 1,10
RCK 7050 50 80 30 36 47 55 2580 218 135 6 M8x30 41 M8 3 1,00
RCK 7055 55 85 30 36 47 55 3200 223 145 8 M8x30 41 M8 4 1,10
RCK 7060 60 90 30 36 47 55 3380 198 157 8 M8x30 41 M8 4 1,20
RCK 7065 65 95 30 36 47 55 4160 213 140 8 M8x30 41 M8 4 1,30
RCK 7070 70 110 40 46 57 67 6840 225 143 8 M10x35 83 M10 4 2,20
RCK 7075 75 115 40 46 62 72 7500 210 138 8 M10x35 83 M10 4 2,50
RCK 7080 80 120 40 46 62 72 8100 200 130 8 M10x35 83 M10 4 2,60
RCK 7085 85 125 40 46 62 72 9700 210 145 10 M10x35 83 M10 4 2,80
RCK 7090 90 130 40 46 62 72 10300 200 138 10 M10x35 83 M10 4 2,70
RCK 7095 95 135 40 46 62 72 12100 210 148 10 M10x35 83 M10 4 2,90
RCK 70100 100 145 46 52 77 89 15700 216 148 8 M12x45 145 M12 4 3,90
RCK 70110 110 155 46 52 77 89 17200 196 139 8 M12x45 145 M12 4 4,20
RCK 70120 120 165 46 52 77 89 22500 216 156 10 M12x45 145 M12 4 4,80
RCK 70130 130 180 46 52 77 89 24000 196 140 12 M12x45 145 M12 4 5,00
RCK 70140 140 190 51 59 84 90 30800 196 145 8 M14x45 230 M14 4 6,50
RCK 70150 150 200 51 59 84 90 37150 205 153 10 M14x45 230 M14 5 7,00
RCK 70160 160 210 51 59 84 90 40500 205 155 10 M14x45 230 M14 5 7,00
RCK 70170 170 225 51 59 84 90 40900 163 123 12 M14x45 230 M14 6 8,50
RCK 70180 180 235 51 59 84 90 41300 160 120 12 M14x45 230 M14 6 9,00

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 48 with a torque value less than
or equal 2510 Nm:

RCK 70 - 48 x 80




RCK 71 TYPE CLAMPING ELEMENTS
o0+

@D
THE RECOMMENDED MACHINING ad
TOLERANCES FOR THE PRESSURE
SURFACES ARE AS FOLLOWS: " "

@ h 8 FOR SHAFT
2 H 8 FOR HUB

L3

RCK 71 TYPE CLAMPING ELEMENTS

DIMENSIONS maximum CLAMPING CLAMPING SCREWS EXTRACTION
torque PRESSURE DIN 912 MAT. 12.9 THREAD WEIGHT
PART NUMBER gd oD L1 L2 L3 L Mt Shaft Hub N. Type Torque Type N. Kg
Nm N/mm?2  N/mm? Nm
RCK 7119 19 47 26 31 39 45 300 228 98 4 Mé6x25 17 M6 2 0,45
RCK 7120 20 47 26 31 39 45 320 231 98 4 Méx25 17 M6 2 0,46
RCK 7122 22 47 26 31 39 45 370 211 99 4 Méx25 17 M6 2 0,50
RCK 7124 24 50 26 31 39 45 430 220 110 6 Méx25 17 M6 3 0,50
RCK 7125 25 50 26 31 39 45 480 226 113 6 Méx25 17 M6 3 0,50
RCK 7128 28 55 26 31 39 45 590 207 108 6 Méx25 17 M6 3 0,60
RCK 7130 30 55 26 31 39 45 650 226 121 6 Méx25 17 M6 3 0,60
RCK 7132 32 60 26 31 39 45 800 201 117 8 Méx25 17 Mé 4 0,70
RCK 7135 35 60 26 31 39 45 860 206 121 8 Méx25 17 M6 4 0,60
RCK 7138 38 65 26 31 39 45 1030 201 124 8 Méx25 17 M6 4 0,80
RCK 7140 40 65 26 31 39 45 1130 239 146 8 Méx25 17 M6 4 0,60
RCK 7142 42 75 30 36 47 55 1930 221 138 6 M8x30 41 M8 3 1,20
RCK 7145 45 75 30 36 47 55 1950 221 138 6 M8x30 41 M8 3 1,10
RCK 7148 48 80 30 36 47 55 2180 226 145 6 M8x30 41 M8 3 1,30
RCK 7150 50 80 30 36 47 55 2210 226 146 6 M8x30 41 M8 3 1,10
RCK 7155 55 85 30 36 47 55 2730 226 146 8 M8x30 41 M8 4 1,20
RCK 7160 60 90 30 36 47 55 2910 201 134 8 M8x30 41 M8 4 1,30
RCK 7165 65 95 30 36 47 55 3570 211 145 8 M8x30 41 M8 4 1,40
RCK 7170 70 110 40 46 57 67 5830 226 145 8 M10x35 83 M10 4 2,50
RCK 7175 75 115 40 46 62 72 6330 221 151 8 M10x35 83 M10 4 2,60
RCK 7180 80 120 40 46 62 72 6840 202 142 8 M10x35 83 M10 4 2,80
RCK 7185 85 125 40 46 62 72 8160 221 161 10 M10x35 83 M10 4 2,80
RCK 7190 90 130 40 46 62 72 8670 201 146 10 M10x35 83 M10 4 3,00
RCK 7195 95 135 40 46 62 72 10200 191 141 10 M10x35 83 M10 4 3,00
RCK 71100 100 145 46 52 77 89 13600 201 151 8 M12x45 145 M12 4 5,50
RCK 71110 110 155 46 52 77 89 14870 201 182 8 Mi12x45 145 M12 4 4,80
RCK 71120 120 165 46 52 77 89 19460 221 162 10 M12x45 145 M12 4 5,50
RCK 71130 130 180 46 52 77 89 20820 202 146 12 M12x45 145 M12 4 6,00
RCK 71140 140 190 51 59 84 90 25410 192 141 8 M14x45 230 M14 4 7,50
RCK 71150 150 200 51 59 84 90 30720 202 152 10 M14x45 230 M14 5 7,70
RCK 71160 160 210 51 59 84 90 33150 202 152 10 M14x45 230 M14 5 8,00
RCK 71170 170 225 51 59 84 90 34000 161 121 12 M14x45 230 M14 6 9,80
RCK 71180 180 235 51 59 84 90 34250 157 122 12 M14x45 230 M14 6 9,80

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 30 with a torque value less than
or equal 650 Nm:

RCK 71 - 30 x 55




RCK 80 TYPE CLAMPING ELEMENTS

SELF CENTRING @ D2 ‘,2

od Z

THE RECOMMENDED MACHINING ! T E

TOLERANCES FOR THE PRESSURE | n -

SURFACES ARE AS FOLLOWS: M a ol w

o~ |- O

- Z

@ h 8 FOR SHAFT - =

O H 8 FOR HUB | l S

@D <

|

@ D1 o

i

1 -

DIMENSIONS maximum  CLAMPING CLAMPING SCREWS  EXTRACTION t

torque PRESSURE DIN 912 MAT. 12.9 THREAD  WEIGHT ©

PART NUMBER @d @D ©D1 @D2 L1 L2 L3 L Mt Shaft Hub N. Type Torque Type N. Kg Nt

Nm N/mm?2 N/mm? Nm 5

RCK 8006 6 14 22 25 10 185 22,5 255 12 190 80 3 M3x10 22 M3 2 015
RCK 8008 8 15 24 27 12 215 255 295 29 205 110 3 M4x12 5 M4 2 0,16
RCK 8009 9 16 25 28 14 235 27,5 315 31 150 85 3 M4ax12 5 M4 2 0,16
RCK 8010 10 16 25 28 14 235 275 315 35 140 85 3 M4ax12 5 M4 2 0,17
RCK 8011 11 18 28 32 14 235 27,5 315 52 170 105 4 Max12 5 M4 2 0,17
RCK 8012 12 18 28 32 14 235 275 315 58 150 100 4 Max12 5 M4 2 0,18
RCK 8014 14 23 35 39 14 235 27,5 315 69 140 80 4 Max12 5 M4 2 0,20
RCK 8015 15 24 40 45 16 29,5 365 425 170 158 98 4 Mé6x18 17 M6 2 0,21
RCK 8016 16 24 40 45 16 29,5 365 425 180 148 98 4 Méx18 17 M6 2 0,23
RCK 8017 17 26 42 47 19 32,5 39,5 455 200 180 125 4 Méx18 17 M6 2 0,25
RCK 8018 18 26 42 47 19 32,5 39,5 455 200 180 125 4 Méx18 17 M6 2 0,27
RCK 8019 19 27 43 49 19 325 39,5 455 210 170 120 4 Méx18 17 M6 2 0,29
RCK 8020 20 28 44 50 19 325 39,5 455 220 160 115 4 Méx18 17 M6 2 0,30
RCK 8022 22 32 48 54 26 395 46,5 525 250 115 80 4 Méx18 17 M6 2 0,38
RCK 8024 24 34 50 56 26 395 46,5 525 395 146 102 6 Méx18 17 M6 3 0,41
RCK 8025 25 34 50 56 26 395 46,5 525 410 140 102 6 Méx18 17 M6 3 0,45
RCK 8028 28 39 55 61 255 39,5 46,5 52,5 465 135 98 6 Méx18 17 M6 3 0,47
RCK 8030 30 41 57 62 255 395 465 525 510 127 90 6 Méx18 17 M6 3 0,48
RCK 8032 32 43 59 65 255 395 465 525 705 146 108 8 Méx18 17 M6 4 0,51
RCK 8035 35 47 62 69 315 455 525 585 790 105 80 8 Mé6x18 17 M6 4 0,63
RCK 8038 38 50 66 72 31,5 455 525 585 860 100 76 8 Méx18 17 M6 4 0,67
RCK 8040 40 53 69 75 31,5 455 525 585 900 96 72 8 Méx18 17 M6 4 0,73
RCK 8042 42 55 71 78 31,5 455 52,5 585 940 90 70 8 Méx18 17 M6 4 0,78
RCK 8045 45 59 80 86 45 625 71 79 1840 110 85 8 M8x22 41 M8 4 1,23
RCK 8048 48 62 81 87 45 625 71 79 2000 105 80 8 M8x22 41 M8 4 1,24
RCK 8050 50 65 86 92 45 625 71 79 2100 100 75 8 M8x22 41 M8 4 1,40
RCK 8055 55 71 92 98 55 725 81 89 2580 85 65 9 M8x22 41 M8 3 1,70
RCK 8060 60 77 98 104 55 725 81 89 2800 75 60 9 M8x22 41 M8 3 1,76
RCK 8065 65 84 105 111 55 725 81 89 3050 70 55 9 M8x22 41 M8 3 2,21
RCK 8070 70 90 113 119 65 86,5 96,5 106,5 5250 90 70 9 M10x25 83  M10 3 3,05
RCK 8075 75 95 119 126 65 86,5 96,5 106,5 5600 80 65 9 M10x25 83  M10 3 3,32
RCK 8080 80 100 125 131 65 86,5 96,5 106,5 8000 100 80 12 M10x25 83  M10 4 3,50
RCK 8090 90 112 137 144 65 86,5 96,5 106,5 9000 90 75 12 M10x25 83  M10 4 3,90
RCK 80100 100 125 147 154 65 86,5 96,5 106,5 15000 120 95 18 M10x25 83  M10 4 4,60
RCK80110 110140 172 180 90 114 128 140 16000 80 65 12 M12x35 145 M12 4 8,70
RCK80120 120155 187 198 90 114 128 140 17500 70 55 12 M12x35 145 M12 4 10,70

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 95 with a torque value less than
or equal 8000 Nm:

RCK 80 - 80 x 100




- RCK 95 TYPE CLAMPING ELEMENTS

2

Z

|

E THE RECOMMENDED MACHINING

- TOLERANCES FOR THE PRESSURE T T

g SURFACES ARE AS FOLLOWS: o H o

Z —H =4

T O h 8 FOR SHAFT n n

3 e

d @D

1T}

- ]

ﬁ DIMENSIONS maximum CLAMPING CLAMPING SCREWS

Te) torque PRESSURE DIN 912 MAT. 12.9 WEIGHT

O PARTNUMBER @d @D L1 L Mt Shaft N. Type Torque Kg

5 Nm N/mm? 2 Nm

x RCK 9517 17 50 50 56 200 110 4 M6x40 17 0,51
RCK 9518 18 50 50 56 220 110 4 M6x40 17 0,52
RCK 9519 19 50 50 56 230 110 4 M6x40 17 0,50
RCK 9520 20 50 50 56 240 105 4 Mé6x40 17 0,50
RCK 9524 24 55 60 66 290 120 4 Mé6x50 17 0,71
RCK 9525 25 55 60 66 450 110 6 Mé6x50 17 0,69
RCK 9528 28 60 60 66 510 110 6 Mé6x50 17 0,81
RCK 9530 30 60 60 66 550 105 6 M6x50 17 0,78
RCK 9532 32 63 60 66 580 90 6 Mé6x50 17 0,85
RCK 9535 35 75 75 83 790 105 4 M8x60 41 1,48
RCK 9538 38 75 75 83 850 100 4 M8x60 41 1,45
RCK 9540 40 75 75 83 900 95 4 M8x60 41 1,40
RCK 9542 42 78 75 83 950 90 4 M8x60 41 1,50
RCK 9545 45 85 85 93 1520 110 6 M8x70 41 2,03
RCK 9548 48 90 85 93 1620 100 6 M8x70 41 2,24
RCK 9550 50 90 85 93 1690 95 6 M8x70 a1 2,18
RCK 9555 55 94 85 93 2470 110 8 M8x70 41 2,29
RCK 9560 60 100 85 93 2710 95 8 M8x70 41 2,52
RCK 9565 65 105 85 93 2930 90 8 M8x70 41 2,69
RCK 9570 70 115 100 110 3770 90 6 M10x80 83 3,94

ORDERING EXAMPLE:

The following will be ordered with a shaft
having @d 40 with a torque value less than
or equal 900 Nm:

RCK 95 - 40 x 75




{TrANsLEV

‘TRANSMISSIONSLE!
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR LANGLANKAD HALBULTKEDJA MED STOR RULLE
SPROCKETS FOR WIDE PITCH HOLLOWPIN CHAIN WITH LARGE ROLLER

Best. nr. Tandantal Do B D L
Code No. of teeth
For 2” Delning / For 2” pitch
S-748/2-8 8 132.8 25 90 45
S-748/2-10 10 164.4 25 90 45
S-748/2-12 12 196.3 25 100 50
S-748/2-18 18 292.6 25 100 50
For 100 mm Delning / For 100 mm pitch
S-748/100-8 8 261.3 25 100 50
S-748/100-10 10 323.7 25 100 50
S-748/100-12 12 386.4 25 100 50

Material: Stal / Steel

Annat material och tandantal pa forfragan.
On request other material and no. of teeth.

Reservation fér mattférandringar / Reservation for dimensional changes
40 Matti mm / Dimensions in mm




{Transiey

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

KEDJEHJUL FOR LANTBRUKSKEDJA
SPROCKETS FOR AGRICULTURE CHAIN

\N\N\E
N

ENNNNN
N

Material: Stal / Steel

Best. nr. Kedje nr. Tandantal Do D L B
Code Chain no. | No. of teeth
S32-9 MR32 9 85.4 65 40 20
S32-11 MR32 11 103.68 70 40 20
S32-13 MR32 13 122.06 70 40 20
S32-15 MR32 15 140.59 75 40 20
S32-17 MR32 17 158.97 75 45 25
S32-18 MR32 18 168.21 75 45 25
S32-27 MR32 27 251.61 90 50 25
S32-30 MR32 30 279.44 90 50 25
S42-9 MR42 9 102.11 70 40 20
S42-11 MR42 11 123.97 70 40 20
S42-13 MR42 13 145.94 70 40 20
S42-15 MR42 15 167.98 80 40 25
S42-17 MR42 17 190.06 80 45 25
S42-18 MR42 18 201.13 85 45 25
S42-27 MR42 27 300.84 90 50 30
S42-30 MR42 30 334.12 90 50 30
S52-9 MR52 9 111.40 85 45 20
S52-11 MR52 11 135.24 90 50 20
S52-13 MR52 13 159.20 90 50 20
S52-15 MR52 15 183.25 100 50 20
S52-17 MR52 17 207.35 100 55 25
S52-18 MR52 18 219.41 100 55 25
S52-27 MR52 27 328.19 110 55 30
S52-30 MR52 30 364.50 110 60 30
S55-9 MR55 9 121.05 90 55 20
S55-11 MR55 11 146.95 90 55 20
S55-13 MR55 13 173.99 100 55 20
S55-15 MR55 15 199.12 100 55 25
S55-17 MR55 17 225.31 100 55 25
S55-18 MR55 18 238.41 100 55 25
S55-27 MR55 27 356.61 110 65 30
S$55-30 MR55 30 396.07 110 65 30
S45-9 MR45 9 121.05 90 55 20
S45-11 MR45 11 146.95 90 55 20
S45-13 MR45 13 172.99 100 55 20
S45-15 MR45 15 199.12 100 55 25
S45-17 MR45 17 225.31 100 55 25
S45-18 MR45 18 238.41 100 55 30
S45-27 MR45 27 356.61 110 65 30
S45-30 MR45 30 396.07 110 65 30
S62-9 MR62 9 122.54 90 55 20
S62-11 MR62 11 148.76 100 55 20
S62-13 MR62 13 175.13 100 55 25
S62-15 MR62 15 201.57 110 55 25
S62-17 MR62 17 228.08 110 55 30
S62-18 MR62 18 241.35 110 55 30
S62-27 MR62 27 361.00 120 70 30
S62-30 MR62 30 400.94 120 70 30

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

41



{TRANSLEM

www.translev.se
tif: 08-446 39 90

'TRANSMISSIONSLEVERANTOREN AB
info@translev.se
fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard kedja med massiv bult
Sprocket for standar chain with solid pin
DIN 8167 - ISO 1977 Standard

Dy

Do

N

df
Dm

Transportﬁrkedja Ytterdiam. Dy / Outher dia. Dy A
- Delning Tandantal Rulle / Roller |Rulle / Roller|Rulle / Roller|Rulle / Roller|Rulle / Rollel
Con veyor Chain Pitch | No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | B Dm df
M 20 - ME 20 o g oo | ot | e o | Al | | om | mm | mm
40 8 104.52 110 111 118 14.5 11
10 129.44 134 136 142 "
12 154.54 160 161 168 Dessa métt
16 205.03 210 212 218 pé farfrégan
50 8 130.65 136 137 144
10 161.80 167 169 175 These
12 193.18 198 200 206 measurs on
16 256.29 261 263 269 request
63 8 164.62 170 171 178
10 203.87 209 21 217
12 243.41 248 250 256
16 322.92 328 330 336
80 8 209.05 214 216 222
10 258.88 264 266 272
12 309.09 314 316 322
16 410.06 415 417 423

* Min. ytterdiameter

= Min. outher diameter

Reservation fér mattférandringar / Reservation for dimensional changes

42

Matti mm / Dimensions in mm




TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

{TRANSLEM

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard kedja med massiv bult
Sprockets for standard chain with solid pin
DIN 8167 - ISO 1977 Standard

Transportarkedja Ytterdiam. Dy / Outher dia. Dy A
Conveyor Chain Ohion’ | No. o teth M/ Te | T/ e | oo Tope | Ty Type | e/ Tpe| B | om |
50 8 130.65 136 139 146 16.5 12.5
] ” 10 161.80 167 170 177 » ”
L " 12 19318 | 199 201 209 " - Dessa métt
16 256.29 262 264 272 » , pa forfragan
63 8 164.62 170 173 180 ” ,
J o . ’ 10 203.87 209 212 219 ’ ’ These
ol o T a ’ 12 243.41 249 251 259 , ” measurs on
\ ’ 16 32292 | 328 331 338 ’ ' request
80 8 209.05 215 217 225 " ”
10 258.88 264 267 274
N [/ , 12 309.09 315 317 325
’ 16 410.06 416 418 426 ” ,
A 100 8 261.31 267 269 277 ’ ’
B » 10 323.60 329 332 339 " "
” 12 386.37 392 394 402 " ”
" 16 512.58 518 521 528 " ”
Transportorkedja Ytterdiam. Dy / Outher dia. Dy A
Conveyor Chain Delning | Tandantal Rulle / Roller|Rulle / Roller| Rulle / Roller| Rulle / Roller| Rulle / Rollel
M 4 0 _ ME 4 0 P/g:h No. oé teeth 5o Typ CA 71/pe Typ /B Ti/pe Typ C/-Ig}fe TyX_g ?’épe Typ /D Type B Dm df
mm mm mm mm mm mm mm mm mm mm
; 63 8 164.62 171 174 183 18 13
] ” 10 203.87 211 213 222 , ”
’ 12 243.41 250 253 262 ’ ” Dessa matt
" 16 322.92 330 333 341 " " pa férfragan
80 8 209.05 216 219 228 » ,
s o e 10 258.88 266 268 277 , , These
ol a S a : 12 309.09 316 319 328 " . measurs on
\ ” 16 410.06 417 420 429 » . request
100 8 261.31 268 271 280 7 "
” 10 323.60 330 333 342 " ”
J_J_A_ " 12 386.37 393 396 405 " ”
16 51258 519 522 531
A 125 8 326.64 333 336 345
B ’ 10 404.51 411 414 423 ’ ,
* Min. ytterdiameter i 12 482.96 490 492 501 - i
* Min otherdiameter i 16 073 &7 630 659 i ”

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 43



{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard kedja med massiv bult
Sprockets for standard chain with solid pin
DIN 8167 - ISO 1977 Standard

Transportorkedja Ytterdiam. Dy / Outher dia. Dy A
Conveyor Chain | s Iz o el pali mesie i o | |
M 56 - ME 56 - MR 56 um ‘ n?r% mﬁ* m%* %g* Athr;]C mDm mm | mm | mm
63 8 164.62 1783 176 186 22 16
 e— ” 10 20387 | 212 215 225 " "
7 " 12 243.41 251 254 265 " " Dessa métt
’ 16 32292 | 331 334 344 ” ” pa forfragan
80 8 209.05 217 220 231 ” "
10 258.88 267 270 280 These
E 8 5 g 12 309.09 317 320 331 measurs on
\ " 16 410.06 418 421 432 7 " request
100 8 261.31 269 272 283 " "
" 10 323.60 332 335 345 " "
[/ ” 12 386.37 394 397 408 " "
——— ” 16 512.58 521 524 534 , ,
A 125 8 326.64 335 338 348
B 10 404.51 413 416 426 " "
" 12 482.96 491 494 504 " "
” 16 640.73 649 652 662 " "
160 8 418.10 426 429 440 " "
” 10 517.77 526 529 539 " "
12 618.19 626 629 640
16 820.13 828 831 842
Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller|Rulle / Roller|Rulle / Roller|Rulle / Roller| Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do A, B, C-Dy AB-C D
mm mm mm mm mm mm mm mm | mm | mm
Transportorkedja 80 8 209.05 | 219 222 235 26 20
Con veyor Chain ” 10 258.88 268 272 284 ? ?
M 80 - ME 80 - MR 80 " 12 309.09 319 322 335 " " Dessa métt
’ 16 41006 | 420 423 436 ’ ’ pa forfragan
b 100 8 261.31 271 274 287 " "
— 10 323.60 333 337 349 These
12 386.37 396 399 412 measurs on
16 512.58 522 526 538 7 7 request
125 8 326.64 336 340 352 " "
E 8 5 g " 10 404.51 414 418 430 " "
” 12 482.96 492 496 508 " "
\ ” 16 640.73 650 654 666 " "
160 8 418.10 428 431 444
_4 10 517.77 527 531 543
1 " 12 618.19 628 631 644 " "
A " 16 820.13 830 833 846 " "
B 200 8 522.62 532 536 548 " "
” 10 647.21 657 660 673 " "
* Min. ytterdiameter ” 12 772.74 782 786 798 ” "
16 1025.16 1035 1038 1051

* Min. outherdiameter

44

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard kedja med massiv bult
Sprockets for standard chain with solid pin
DIN 8167 - ISO 1977 Standard

Transportorkedija Ytterdiam. Dy / Outher dia. Dy A
Conveyor Chain -l e N R T R Es S e I e
M112- ME 112- MR 112 P z Do A, B, C-Dy ABC D
mm mm mm mm mm mm mm mm mm mm
80 8 209.05 220 225 240 29 21
] " 10 258.88 270 274 289 " "
2 " 12 300.09 | 320 325 340 " " Dessa matt
” 16 410.06 421 426 441 , ’ pa forfragan
100 8 261.31 272 277 292 7 ”
10 323.06 334 339 354 ” ” These
E 8 5 g ’ 12 386.37 397 402 417 7 7 measurs on
\ , 16 512.58 524 528 544 ” ” request
125 8 326.64 338 342 357 " "
" 10 404.51 416 420 435 " "
] [/ " 12 482.96 494 498 513 " ”
16 640.73 652 656 671
A 160 8 418.10 429 434 449
B " 10 517.77 529 533 548 " "
" 12 618.19 629 634 649 " "
" 16 820.13 831 836 851 " "
200 8 522.62 534 538 553 " "
" 10 647.21 658 663 678 " ”
12 772.74 784 788 803
16 1025.16 1036 1041 1056 ”
Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller |Rulle / Roller|Rulle / RollerjRulle / Roller|{ Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do Ay B CDy AB-C D
mm mm mm mm mm mm mm mm mm mm
Transportérkedja 100 8 261.31 274 280 297 34 25
Conveyor Chain ” 10 323.06 336 342 359 , .
M 160 - ME 160 - MR 160 " 12 386.37 399 405 422 " 7 Dessa métt
’ 16 51258 | 526 531 548 " " pa férfragan
) Y AR 125 8 326.64 340 345 362 " ”
—1 ’ 10 404.51 418 423 440 » » These
12 482.96 496 501 518 " " measurs on
" 16 640.73 654 659 676 7 7 request
160 8 418.10 431 437 454 " 7
5- 8 5 g " 10 517.77 531 536 553 7 7
\ " 12 618.19 631 637 654 " "
" 16 820.13 833 839 856 " ”
200 8 522.62 536 541 558
.A " 10 647.21 660 666 683
r .4 " 12 772.74 786 791 808 " "
A " 16 1025.16 1038 1044 1061 " "
B 250 8 653.28 666 672 689 " "
” 10 809.02 822 828 845 " "
* Min. ytterdiameter " 12 965.92 979 984 1001 ” ”
« Min. outherdiameter ” 16 1281.46 1294 1300 1317 ” ”

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 45



{TRANSLEM

www.translev.se
tif: 08-446 39 90

'TRANSMISSIONSLEVERANTOREN AB
info@translev.se
fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul fér Standard kedja med massiv bult
Sprockets for standard chain with solid pin
DIN 8167 - ISO 1977 Standard

Transportorkedija
Conveyor Chain
M 224 - ME 224 - MR 224

I——/—7T1
b
> O
al a %E

Transportérkedja
Conveyor Chain
M 315 - ME 315 - MR 315

I——7T)
rH
> O
al a %E

[

B S

A

B
* Min. ytterdiameter

* Min. outherdiameter

46

Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller (Rulle / Roller|Rulle / Roller|Rulle / Roller| Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do A, B C-Dy A-B-C D
mm mm mm mm mm mm mm mm | mm mm
125 8 326.64 342 348 370 39 29
” 10 404.51 420 426 448 7 7
" 12 482.96 498 504 526 " " Dessa matt
” 16 640.73 656 662 684 " " pé f6rfrégan
160 8 418.10 434 440 461 " "
10 517.77 533 539 561 These
12 618.19 634 640 661 measurs on
” 16 820.13 836 842 863 ” ” request
200 8 522.62 538 544 566 " "
” 10 647.21 663 669 690 " "
” 12 772.74 788 794 816 " "
” 16 1025.16 1041 1047 1068 " "
250 8 653.28 669 675 696
10 809.02 825 831 852 7 7
” 12 965.92 981 987 1009 7 7
” 16 1281.46 1297 1303 1324 " "
315 8 823.13 839 845 867 " "
” 10 1019.36 1035 1041 1062 " "
12 1217.06 1233 1239 1260
16 1614.63 1630 1636 1658
Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller|Rulle / Roller|Rulle / Roller|Rulle / Roller| Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do A B C-D, A-B-C D
mm mm mm mm mm mm mm mm | mm mm
160 8 418.10 437 444 469 44 32
” 10 517.77 536 543 568 7 7
” 12 618.19 637 644 669 " " Dessa matt
” 16 820.13 839 846 871 " " pé f6rfrégan
200 8 522.62 541 548 573 " "
10 647.21 666 673 698 These
12 772.74 791 798 823 measurs on
16 1025.16 1044 1051 1076 7 ” request
250 8 653.28 672 679 704 7 7
” 10 809.02 828 835 860 " 7
” 12 965.92 984 991 1016 " "
” 16 1281.46 1300 1307 1332 " ”
315 8 823.13 842 849 874
10 1019.36 1038 1045 1070
” 12 1217.06 1236 1243 1268 7 "
” 16 1614.63 1633 1640 1665 " "
400 8 1045.25 1064 1071 1096 " "
” 10 1294.43 1313 1320 1345 " "
” 12 1545.48 1564 1571 1596 " "
16 2050.33 2069 2076 2101

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TRANSLEM

www.translev.se

tif: 08-446 39 90

TRANSMISSIONSLEVERANTOREN AB

info@translev.se
fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard kedja med massiv bult
Sprockets for standard chain with solid pin
DIN 8167 - ISO 1977 Standard

N

df
Dm

> O
al o
/]
1
A
B

Transportﬁrkedja Ytterdiam. Dy / Outher dia. Dy A
Conveyor Chain PBich’ | No. of e el e | o/ Tpe | ool e | Tvel Te | e/ Tpe| B | om | o
M 450 - ME 450 um i n?r?‘n mﬁ']* mﬁ'l* %nt')n* Ar;an-'nc mDm mm mm mm
200 8 522.64 544 553 583 52 36
" 10 647.21 668 678 708 ”
12 772.74 794 803 833 Dessa métt
16 1025.16 1046 1056 1086 pé farfrégan
250 8 653.28 675 684 714
10 809.02 830 840 870 These
12 965.92 987 996 1026 measurs on
16 1281.46 1303 1312 1342 request
315 8 823.13 845 854 884
10 1019.36 1041 1050 1080
12 1217.06 1238 1248 1278
16 1614.63 1636 1645 1675
400 8 1045.25 1067 1076 1106
10 1294.43 1316 1325 1355
12 1545.48 1567 1576 1606
16 2050.33 2072 2081 2111

*» Min. ytterdiameter
* Min. outherdiameter

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

47



{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard halbultkedja
Sprockets for standard hollow pin chain
DIN 8167 - ISO 1977 Standard

Transportorkedija
Conveyor Chain
MC 28
L
3 a 5 &

/]
j A I
A
B
Transportérkedja
Conveyor Chain
MC 56
L
3 a 5 §

* Min. ytterdiameter
* Min. outherdiameter

48

Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller (Rulle / Roller|Rulle / Roller|Rulle / Roller| Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do Ay B C-D, A-B-C D
mm mm mm mm mm mm mm mm | mm | mm
50 8 130.65 140 144 149 18 13
” 10 161.80 171 175 180 ” ”
” 12 193.18 203 207 212 " " Dessa matt
” 16 256.29 266 270 275 " " pé f6rfrégan
63 8 164.62 174 178 183 " "
10 203.87 213 217 222 These
12 243.41 253 257 262 measurs on
” 16 322.92 332 336 341 " " request
80 8 209.05 219 222 228 ” "
” 10 258.88 268 272 277 " "
” 12 309.09 318 323 328 " "
" 16 410.06 419 423 428 " "
100 8 261.31 271 275 280
10 323.60 333 337 342 ” ”
” 12 386.37 396 400 405 " ”
” 16 512.58 522 526 531 " "
125 8 326.64 336 340 345 " "
" 10 404.51 414 418 423 " "
12 482.96 492 496 501
16 640.73 650 654 659
Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller |Rulle / Roller|Rulle / Roller|Rulle / Roller|Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do AL B C-D, A-B-C D
mm mm mm mm mm mm mm mm mm mm
63 8 164.62 176 180 190 22 16
10 203.87 215 219 229
12 243.41 255 259 269 Dessa matt
” 16 322.92 334 338 348 ’ ’ pa forfragan
80 8 209.05 221 225 235 ” ”
" 10 258.88 270 274 284 ’ ’ These
’ 12 309.09 320 324 334 5 5 measurs on
" 16 410.06 421 425 435 . , request
100 8 261.31 273 277 287
10 323.60 335 339 349 " ”
i 12 386.37 398 402 412 " ”
” 16 512.58 524 528 538 i "
125 8 326.64 338 342 352 " "
i 10 404.51 416 420 430 " "
12 482.96 494 498 508
16 640.73 652 656 666

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

TRANSPORTORKEDJEHJUL
SPROCKETS FOR CONVEYOR CHAIN

Kedjehjul for Standard halbultkedja
Sprockets for standard hollow pin chain
DIN 8167 - ISO 1977 Standard

Transportorkedija
Conveyor Chain
MC 112

Dy
Do
df

Dm

[/
r
A
B
Transportérkedja
Conveyor Chain
MC 224
o
3 & 5 &
(4
r .11
A
B

*» Min. ytterdiameter

* Min. outherdiameter

Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller |Rulle / Roller|Rulle / RollerjRulle / Roller|{ Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do A, B C-Dy A-B-C D
mm mm mm mm mm mm mm mm | mm mm
80 8 209.5 224 230 244 29 21
” 10 258.88 274 280 294 " 7
" 12 309.09 324 330 344 " " Dessa matt
" 16 410.06 425 431 445 " " pé f6rfrégan
100 8 261.31 277 283 297 ” ”
10 323.60 339 345 359 These
12 386.37 402 408 422 measurs on
” 16 512.58 528 534 548 ” ” request
125 8 326.64 342 348 362 " 7
" 10 404.51 420 426 440 " "
” 12 482.96 498 504 518 " "
" 16 640.73 656 662 676 " "
160 8 418.10 434 440 454
10 517.77 533 539 5563 7
” 12 618.19 634 640 654 7 7
” 16 820.13 836 842 856 " 7
200 8 522,62 538 544 558 " "
” 10 647.21 663 669 683 " "
12 772.74 788 794 808
16 1025.16 1040 1046 1061
Ytterdiam. Dy / Outher dia. Dy A
Delning Tandantal Rulle / Roller |Rulle / Roller|Rulle / RollerjRulle / Roller|{ Rulle / Rollel
Pitch No. of teeth Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type | Typ/ Type B Dm df
P z Do A B, C-D, A-B-C D
mm mm mm mm mm mm mm mm | mm mm
125 8 326.64 348 357 377 39 29
” 10 404.51 426 435 455 7 7
" 12 482.96 504 513 533 " 7 Dessa matt
" 16 640.73 662 671 691 " " pé f6rfrégan
160 8 418.10 440 449 469 " ”
10 517.77 539 548 568 These
12 618.19 640 649 669 measurs on
” 16 820.13 842 851 871 7 request
200 8 522.62 544 553 573 7 7
" 10 647.21 669 678 698 7 7
" 12 772.74 794 803 823 " "
” 16 1025.16 1047 1056 1076 " "
250 8 653.28 675 684 704
10 809.02 830 839 859
” 12 965.92 987 996 1016 7 7
” 16 1281.46 1303 1312 1332 " 7
315 8 823.13 845 854 874 " "
” 10 1019.36 1041 1050 1070 " "
” 12 1217.06 1238 1247 1267 " ”
16 1614.63 1636 1645 1665

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

49



www.translev.se

tif:

{TrANsLEV
info@translev.se

08-446 39 90 fax: 08-756 44 73

SPARKULLAGER
DEEP GROOVE BALL BEARINGS

Finns i féljande typer:
Oppen

z
zz
RS
2RS

Available types

- utan tatning

- Skyddsplét ena sidan zz
- Skyddspléat bdda sidor 2RS

Finns i féljande typer:

Oppen - utan tatning

- Gummitétning ena sidan

- Gummitétning béda sidor

Available types
Open - Without sealing

- Skyddsplat bdda sidor
- Gummitétning béda sidor

2z - Shield both side
Open - Without sealing 2RS - Sealed both side
z - Shield one side
2z - Shield both side
RS - Sealed one side
Serie Miniatyrlager 2RS - Sealed both side
Miniature bearings Serie 68 (618)
Beteckning d D B B1 Vikt i gram Beteckning d D B Vikt / Weight
Code Weight (g) Code kg
601X 1.5 6 2.5 3.0 0.30 6800 10 19 5 0.005
602 2.0 7 2.8 3.5 0.40 6801 12 21 5 0.006
602X 2.5 8 2.8 4.0 0.60 6802 15 24 5 0.007
603 3.0 9 3.0 0.90 6803 17 26 5 0.008
604 4.0 12 4.0 2.00 6804 20 32 7 0.017
605 5.0 14 5.0 4.00 6805 25 37 7 0.022
606 6.0 17 6.0 6.00 6806 30 42 7 0.024
607 7.0 19 6.0 7.00 6807 35 47 7 0.028
608 8.0 22 7.0 11.00 6808 40 52 7 0.031
609 9.0 24 7.0 13.00 6809 45 58 7 0.040
623 3.0 10 4.0 1.00 6810 50 65 7 0.052
624 4.0 13 5.0 3.00 6811 55 72 9 0.098
625 5.0 16 5.0 4.00 6812 60 78 10 0.125
626 6.0 19 6.0 7.00 6813 65 85 10 0.127
627 7.0 22 7.0 12.00 6814 70 90 10 0.130
628 8.0 24 8.0 17.00 6815 75 95 10 0.145
629 9.0 26 8.0 19.00 6816 80 100 10 0.147
633 3.0 13 5.0 3.00 6817 85 110 13 0.320
634 4.0 16 5.0 5.00 6818 90 115 13 0.335
635 5.0 19 6.0 8.00 6820 100 125 13 0.310
636 6.0 22 7.0 14.00 6821 105 130 13 0.370
637 7.0 26 9.0 24.00 6822 110 140 16 0.605
638 8.0 28 9.0 28.00 6824 120 150 16 0.537
639 9.0 30 10.0 36.00 6826 130 165 18 0.758
681 1.0 3 1.0 0.03 6828 140 175 18 1.250
681X 1.5 4 1.2 2.3 0.07 6830M 150 190 20 1.500
682 2.0 5 15 2.3 0.12 6832M 160 200 20 1.450
682X 2.5 6 1.8 2.6 0.23 6834M 170 215 22 1.920
683 3.0 7 2.0 3.0 0.32 6836M 180 225 22 2.020
684 4.0 9 25 4.0 0.60 6838M 190 240 24 2.200
685 5.0 11 3.0 5.0 1.00 6840M 200 250 24 2.710
686 6.0 13 3.5 5.0 2.00 6844M 220 270 24 2.960
687 7.0 14 3.5 5.0 2.00 6848M 240 300 28 4.480
688 8.0 16 4.0 5.0 3.00 6852M 260 320 28 4.820
689 9.0 17 4.0 5.0 4.00 6856M 280 350 33 7.300
692 2.0 6 2.3 3.0 0.30 6860M 300 380 38 10.400
692X 25 7 2.5 3.5 0.40 6864M 320 400 38 13.800
693 3.0 8 3.0 4.0 0.60
694 4.0 11 4.0 2.00
695 5.0 13 4.0 2.00
696 6.0 15 5.0 4.00
697 7.0 17 5.0 5.00
698 8.0 19 6.0 7.00
699 9.0 20 6.0 8.00

50

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm




{Transiey

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPARKULLAGER
DEEP GROOVE BALL BEARINGS
~B— I:'inns i féljande typer:
Oppen - utan tdtning
I z - Skyddsplat ena sid_an
zz - Skyddsplat bada sidor
’ { RS - Gumm/:t%tm:ng ena sid_an
2RS - Gummitétning béda sidor
d>|D + —od
L l
Serie 60
Beteckning d D B Vikt / Weight
Code kg
6000 10 26 8 0.019
6001 12 28 8 0.022
6002 15 32 9 0.030
6003 17 35 10 0.039
6004 20 42 12 0.069
60/22 22 44 12 0.073
6005 25 47 12 0.080
60/28 28 52 12 0.097
6006 30 55 13 0.115
60/32 32 58 13 0.121
6007 35 62 14 0.155
6008 40 68 15 0.192
6009 45 75 16 0.245
6010 50 80 16 0.260
6011 55 90 18 0.381
6012 60 95 18 0.412
6013 65 100 18 0.439
6014 70 110 20 0.608
6015 75 115 20 0.649
6016 80 125 22 0.872
6017 85 130 22 0.918
6018 90 140 24 1.190
6019 95 145 24 1.230
6020 100 150 24 1.290
6021 105 160 26 1.580
6022 110 170 28 1.930
6024 120 180 28 2.090
6026 130 200 33 3.150
6028 140 210 33 3.350
6030 150 225 35 4.240
6032 160 240 38 5.150
6034 170 260 42 6.890
6036 180 280 46 8.880
6038 190 290 46 9.390
6040 200 310 51 12.000

Available types
Open - Without sealing

z - Shield one side

V44 - Shield both side

RS - Sealed one side

2RS - Sealed both side

Serie 62
Beteckning d D B Vikt / Weight

Code kg
6200 10 30 9 0.029
6201 12 32 10 0.037
6202 15 35 11 0.045
6203 17 40 12 0.065
6204 20 47 14 0.105
62/22 22 50 14 0.119
6205 25 52 15 0.129
62/28 28 58 16 0.172
6206 30 62 16 0.199
62/32 32 65 17 0.221
6207 35 72 17 0.288
6208 40 80 18 0.375
6209 45 85 19 0.420
6210 50 90 20 0.459
6211 55 100 21 0.619
6212 60 110 22 0.783
6213 65 120 23 1.000
6214 70 125 24 1.090
6215 75 130 25 1.190
6216 80 140 26 1.420
6217 85 150 28 1.760
6218 90 160 30 2.180
6219 95 170 32 2.640
6220 100 180 34 3.170
6221 105 190 36 3.790
6222 110 200 38 4.450
6224 120 215 40 5.290
6226 130 230 40 5.960
6228 140 250 42 7.680
6230 150 270 45 10.000
6232 160 290 48 12.800
6234 170 310 52 15.800
6236 180 320 52 15.900
6238 190 340 55 22.300
6240 200 360 58 26.700
6244 220 400 65 37.400
6248 240 440 72 50.500

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

51



{Transicy

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPARKULLAGER
DEEP GROOVE BALL BEARINGS

Finns i féljande typer:
Oppen - utan tatning

z - Skyddsplét ena sidan

zz - Skyddsplat bdda sidor
RS - Gummitétning ena sidan
2RS - Gummitétning bada sidor

Serie 63
Beteckning d D B Vikt / Weight

Code kg
6300 10 35 11 0.053
6301 12 37 12 0.060
6302 15 42 13 0.082
6303 17 47 14 0.115
6304 20 52 15 0.144
63/22 22 56 16 0.179
6305 25 62 17 0.232
63/28 28 68 18 0.287
6306 30 72 19 0.345
63/32 32 75 20 0.389
6307 35 80 21 0.460
6308 40 90 23 0.640
6309 45 100 25 0.835
6310 50 110 27 1.060
6311 55 120 29 1.370
6312 60 130 31 1.770
6313 65 140 33 2.250
6314 70 150 35 2.560
6315 75 160 37 3.050
6316 80 170 39 3.650
6317 85 180 41 4.300
6318 90 190 43 5.000
6319 95 200 45 5.650
6320 100 215 47 7.000
6321 105 225 49 8.050
6322 110 240 50 9.550
6324 120 260 55 12.400
6326 130 280 58 15.100
6328 140 300 62 18.500
6330 150 320 65 21.500
6332 160 340 68 26.000
6334 170 360 72 36.600
6336 180 380 75 43.100
6338 190 400 78 49.700
6340 200 420 80 55.300

52

Reservation fér mattférandringar / Reservation for dimensional changes

Available types
Open - Without sealing

z - Shield one side

zz - Shield both side

RS - Sealed one side

2RS - Sealed both side

Serie 64
Beteckning d D B Vikt / Weight
Code kg

6403 17 62 17 0.270
6404 20 72 19 0.398
6405 25 80 21 0.520
6406 30 90 23 0.735
6407 35 100 25 0.952
6408 40 110 27 1.230
6409 45 120 29 1.530
6410 50 130 31 1.880
6411 55 140 33 2.350
6412 60 150 35 2.770
6413 65 160 37 3.400
6414 70 180 42 4.830
6415 75 190 45 5.720
6416 80 200 48 6.760
6417 85 210 52 7.950
6418 90 225 54 11.400

Matti mm / Dimensions in mm




{Transiey

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPARKULLAGER
DEEP GROOVE BALL BEARINGS

~B

Finns i féljande typer:
Oppen - utan titning

zz - Skyddsplat bada sidor
2RS - Gummitétning béda sidor

Serie 69 (619)
Beteckning d D B Vikt / Weight
Code kg
6900 10 22 6 0.009
6901 12 24 6 0.011
6902 15 28 7 0.016
6903 17 30 7 0.018
6904 20 37 9 0.036
6905 25 42 9 0.042
6906 30 47 9 0.049
6907 35 55 10 0.075
6908 40 62 12 0.110
6909 45 68 12 0.130
6910 50 72 12 0.134
6911 55 80 13 0.183
6912 60 85 13 0.196
6913 65 90 13 0.210
6914 70 100 16 0.340
6915 75 105 16 0.360
6916 80 110 16 0.380
6917 85 120 18 0.535
6918 95 130 18 0.601
6920 100 140 20 0.828
6921 105 145 20 0.856
6922 110 150 20 0.893
6924 120 165 22 1.210
6926 130 180 24 1.570
6928 140 190 24 1.670
6930 150 210 28 3.050
6932 160 220 28 3.130
6934 170 230 28 3.350
6936 180 250 33 4.910
6938M 190 260 33 5.200
6940M 200 280 38 7.300
6944M 220 300 38 7.900
6948M 240 320 38 8.500
6952M 260 360 46 14.400
6956M 280 380 46 15.100
6960M 300 420 56 24.100
6964M 320 440 56 25.300
6968M 340 460 56 26.600

Available types
Open - Without sealing

2z - Shield both side
2RS - Sealed both side
Serie 160
Beteckning d D B Vikt / Weight
Code kg
16001 12 28 7 0.015
16002 15 32 8 0.025
16003 17 35 8 0.032
16004 20 42 8 0.050
16005 25 47 8 0.060
16006 30 55 9 0.088
16007 35 62 9 0.108
16008 40 68 9 0.125
16009 45 75 10 0.166
16010 50 80 10 0.174
16011 55 90 11 0.257
16012 60 95 11 0.275
16013 65 100 11 0.295
16014 70 110 13 0.430
16015 75 115 13 0.462
16016 80 125 14 0.590
16017 85 130 14 0.620
16018 90 140 16 0.845
16019 95 145 16 0.880
16020 100 150 16 0.920
16021 105 160 18 1.225
16022 110 170 19 1.503
16024 120 180 19 1.570
16026 130 200 22 2.700
16028M 140 210 22 2.860
16030M 150 225 24 3.600
16032M 160 240 25 4.250
16034M 170 260 28 5.750
16036M 180 280 31 7.550
16038M 190 290 31 7.850
16040M 200 310 34 10.100
16044M 220 340 37 13.200
16048M 240 360 37 13.600
16052M 260 400 44 21.100
16056M 280 420 44 22.700

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm

53



{TRANSLEV

'TRANSMISSIONSLEVERANTOREN
www.tra
tif: 08- 446 39 90 f 08 756 44 73

INFORMATION EJ UPPTAGNA LAGER
INFORMATION ABOUT NOT SHOWED BEARINGS

Forutom de lagertyper som visas i katalogen
lagerfor vi ocksa foljande typer:

Besides the bearings types that are showed in
the catalouge we also have following types

e Timken koniska rullager / Timken tapered roller bearings
e Axial kullager / Angular contact ball bearings

e Sfariska kullager / Self-aligning ball bearings

e Cylindriska rullager / Cylindrical roller bearings

e Sfariska rullager / Spherical roller bearings

¢ Vinkelkontaktlager / Angular contact bearings

e Nallager / Needel bearings

¢ Tillbehor / Accessorys

Vanligen kontakta oss for vidare information.

Please contact us for further information.

Reservation fér mattférandringar / Reservation for dimensional changes
54 Matt i mm / Dimensions in mm



{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

AXELMUTTRAR OCH LASBRICKOR
LOCK NUTS AND LOCK WACHER

Mutter / Lock nut Lasbricka / Lock wacher
typ / type AN typ / type AW-X

_

N

Best. nr. Typ Ganger r Best. nr. Typ
Code Type Thread d2 d1 g b h d3 B  max Code Type 43 M 1 B1 f d4 a5
KM 0 - M10x0.75| 18 [ 135 | 14 3 | 20 - 4 - MB 0 - 10 8.5 3 1.0 - - 21
KM 1 - M 12x1.0 22 17| 18 3 | 20 - 4 - MB 1 - 12 10.5 3 1.0 - - 25
KM 2 AN 02 | M 15x1.0 25 21| 21 4 | 20 | 155 5| 04 MB 2 AW 02 X 15 135 4 1.0 4 21 28
KM 3 AN O3 [ M 17x1.0 28 24 | 24 4 | 20| 175 51| 04 MB 3 AW 03 X 17 15.5 4 1.0 4 24 32
KM 4 AN 04 | M 20x1.0 32 26 | 28 4 | 20| 205 6| 04 MB 4 AW 04 X 20 18.5 4 1.0 4 26 36
KM 5 AN 05 | M 25x1.5 38 32| 34 5 | 20 | 258 71 04 MB 5 AW 05 X 25 23.0 5 1.2 5 32 42
KM 6 AN 06 | M 30x1.5 45 38 | 41 5 | 2.0 | 30.8 7| 04 MB 6 AW 06 X 30 275 5 1.2 5 38 49
KM 7 AN 07 | M 35x1.5 52 44 | 48 5 | 20| 358 8| 04 MB 7 AW 07 X 35 32,5 6 1.2 5 44 57
KM 8 AN 08 | M 40x1.5 58 50 | 53 6 | 25 | 408 9| 05 MB 8 AW 08 X 40 37.5 6 1.2 6 50 62
KM 9 AN 09 | M 45x1.5 65 56 | 60 6 | 25 | 458 10 | 0.5 MB 9 AW 09 X 45 425 6 1.2 6 56 69
KM 10 | AN10 | M 50x1.5 70 61| 65 6 | 25 | 508 11| 05 MB 10 | AW 10X 50 47.5 6 1.2 6 61 74
KM 11 | AN11 | M 55x2.0 75 67 | 69 7 | 30| 560/ 11 | 0.5 MB11 | AW 11X 55 52.5 8 1.2 7 67 81
KM 12 | AN12 | M 60x2.0 80 73| 74 7 | 30| 610/ 11| 05 MB 12 | AW 12X 60 57.5 8 1.5 7 73 86
KM 13 | AN 13 | M 65x2.0 85 79| 79 7 | 30| 66.0] 12 | 0.5 MB 13 | AW 13 X 65 62.5 8 1.5 7 79 92
KM 14 | AN14 | M 70x2.0 92 85| 85 8 | 35| 71.0| 12| 05 MB 14 | AW 14X 70 66.5 8 1.5 8 85 98
KM15 | AN15 | M 75x2.0 98 9 | 91 8 | 35| 76.0| 13 | 0.5 MB15 | AW 15X 75 71.5 8 1.5 8 90 104
KM16 | AN16 | M 80x2.0 | 105 95 | 98 8 | 35| 81.0] 15| 0.6 MB 16 | AW 16 X 80 76.5 10 1.8 8 95 112
KM 17 | AN17 | M85x2.0 | 110 | 102 | 103 8 | 35| 86.0/ 16 | 0.6 MB 17 | AW 17 X 85 81.5 10 1.8 8 102 119
KM18 | AN18 | M90x2.0 | 120 | 108 | 112 | 10 | 4.0 | 91.0| 16 | 0.6 MB 18 | AW 18X 90 86.5 10 1.8 10 108 126
KM19 | AN19 | M95x2.0 | 125 | 113 [ 117 | 10 | 4.0 | 96.0| 17 | 0.6 MB19 | AW 19X 95 91.5 10 1.8 10 113 133
KM20 | AN20 | M100x2.0| 130 | 120 | 122 | 10 | 4.0 [101.0| 18 | 0.6 MB 20 | AW 20 X 100 96.5 12 1.8 10 120 142
KM21 | AN21 | M105x2.0| 140 | 126 | 130 | 12 | 5.0 [106.0| 18 | 0.7 MB 21 | AW 21 X 105 100.5 12 1.8 12 126 145
KM22 | AN22 | M110x2.0| 145 | 133 | 135 | 12 | 5.0 (111.0| 19 | 0.7 MB22 | AW22X 110 105.5 12 1.8 12 133 154
KM23 | AN23 | M115x2.0| 150 | 137 | 140 | 12 | 5.0 [116.0| 19 | 0.7 MB 23 | AW 23 X 115 110.5 12 2.0 12 137 159
KM24 | AN24 | M120x2.0| 155 | 138 | 145 | 12 | 5.0 [121.0| 20 | 0.7 MB 24 | AW 24 X 120 115.0 14 2.0 12 138 164
KM25 | AN25 | M 125x2.0| 160 | 148 [ 150 | 12 | 5.0 [126.0| 21 | 0.7 MB 25 | AW 25 X 125 120.0 14 2.0 12 148 170
KM26 | AN26 | M 130x2.0| 165 | 149 | 155 | 12 | 5.0 (131.0| 21 | 0.7 MB 26 | AW 26 X 130 125.0 14 2.0 12 149 175
KM 27 AN 27 | M 135x2.0| 175 | 160 | 163 14 6.0 [136.0| 22 0.7 MB 27 AW 27 X 135 130.0 14 2.0 14 160 185
KM28 | AN28 | M 140x2.0| 180 | 160 | 168 | 14 | 6.0 [141.0| 22 | 0.7 MB 28 | AW 28 X 140 135.0 16 2.0 14 160 192
KM29 | AN29 | M 145x2.0| 190 | 172 [ 178 | 14 | 6.0 [146.0| 24 | 0.7 MB 29 | AW 29 X 145 140.0 16 2.0 14 172 202
KM30 | AN30 | M150x2.0| 195 | 171 | 183 | 14 | 6.0 [151.0| 24 | 0.7 MB 30 | AW 30X 150 145.0 16 2.0 14 171 205
KM31 | AN31 | M155x3.0| 200 | 182 | 186 | 16 | 7.0 [156.5| 25 | 0.7 MB31 | AW31X 155 147.5 16 25 16 182 212
KM32 | AN32 | M160x3.0| 210 | 182 [ 196 | 16 | 7.0 [161.5| 25 | 0.7 MB 32 | AW 32X 160 154.0 18 25 16 182 217
KM33 | AN33 | M165x3.0| 210 | 193 [ 196 | 16 | 7.0 [166.5| 26 | 0.7 MB 33 | AW 33 X 165 157.5 18 25 16 193 222
KM34 | AN34 | M170x3.0| 220 | 193 | 206 | 16 | 7.0 (171.5| 26 | 0.7 MB 34 | AW 34 X 170 164.0 18 25 16 193 232
KM36 | AN36 | M 180x3.0| 230 | 203 | 214 | 18 | 8.0 (181.5| 27 | 0.7 MB 36 | AW 36 X 180 174.0 20 25 18 203 242
KM 38 | AN38 | M190x3.0| 240 | 214 [ 224 | 18 | 8.0 [191.5| 28 | 0.7 MB 38 | AW 38X 190 184.0 20 25 18 214 252
KM 40 | AN40 | M200x3.0| 250 | 226 | 234 | 18 | 8.0 [201.5| 29 | 0.7 MB40 | AW40X | 200 194.0 20 25 18 226 262

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 5 5



tif: 08-446 39 90

{Transicy

www.translev.se

info@translev.se
fax: 08-756 44 73

STALAGER
PILLOW BLOCK

UCP 2+ UCP3
(ladsning med stoppskruv)
(Set screw locking)

EWP 2 « EWP 3
(ldsning med excentrisk lasring)
(eccentric locking collar)

Axelhal 12-140mm

—B

Shaft dia. 12-140mm uee
Best.nr. | Axelhal Matt i mm / Dimension in mm Bult st.| Vikt
Code haft dia.| L A J H N N4 Hq Ho Lq B B4 S  |Bolt size W‘i’ght
UCP 201 12 127 38 95 30.2 13 19 15 62 42 31.0 - 127 | M10 | 0.70
UCP 202 15 127 38 95 30.2 13 19 15 62 42 31.0 - 127 | M10 | 0.69
UCP 203 17 127 38 95 30.2 13 19 15 62 42 31.0 - 127 | M10 | 0.68
UCP 204 20 127 38 95 33.3 13 19 15 65 42 31.0 - 127 | M10 | 0.68
EWP 204 20 127 38 95 33.3 13 19 15 65 42 - 43.7 | 171 | M10 | 0.73
UCP 205 25 140 38 105 | 36.5 13 19 16 70 42 | 34.0 - 143 | M10 | 0.82
EWP 205 25 140 38 105 36.5 13 19 16 70 42 - 444 | 175 | M10 | 0.86
UCP 305 25 175 45 132 45.0 17 20 16 83 54 38.0 - 15.0 | M14 | 1.32
EWP 305 25 175 45 132 45.0 17 20 16 83 54 - 468 | 167 | M14 | 1.39
UCP 206 30 165 48 121 42.9 17 21 18 83 54 38.1 - 159 | M14 | 1.36
EWP 206 30 165 48 121 42.9 17 21 18 83 54 - 484 | 183 | M14 | 1.42
UCP 306 30 180 50 140 50.0 17 20 19 94 56 43.0 - 170 | M14 | 1.82
EWP 306 30 180 50 140 50.0 17 20 19 94 56 B 500 | 175 | M14 | 1.93
UCP 207 35 167 48 127 47.6 17 21 19 94 54 429 - 175 | M14 | 1.73
EWP 207 35 167 48 127 47.6 17 21 19 94 54 - 51.1 188 | M14 | 1.86
UCP 307 35 210 56 160 56.0 17 25 21 105 65 48.0 - 19.0 | M14 | 250
EWP 307 35 210 56 160 | 56.0 17 25 21 105 65 - 516 | 183 | M14 | 2.60
UCP 208 40 184 54 137 49.2 17 23 19 100 52 49.2 - 19.0 | M14 | 210
EWP 208 40 184 54 137 49.2 17 23 19 100 52 - 563 | 21.4 | M14 | 220
UCP 308 40 220 60 170 60.0 17 27 23 116 68 52.0 - 19.0 | M14 | 3.20
EWP 308 40 220 60 170 60.0 17 27 23 116 68 - 571 198 | M14 | 3.40
UCP 209 45 190 54 146 54.0 17 23 20 108 60 49.2 - 19.0 | M14 | 2.30
EWP 209 45 190 54 146 54.0 17 23 20 108 60 - 563 | 21.4 | M14 | 240
UCP 309 45 245 67 190 | 67.0 20 30 25 128 76 | 57.0 - 220 | M16 | 4.30
EWP 309 45 245 67 190 67.0 20 30 25 128 76 - 58.7 | 19.8 | M16 | 2.90
UCP 210 50 206 60 159 57.2 20 25 22 114 65 51.6 - 19.0 | M16 | 2.70
EWP 210 50 206 60 159 57.2 20 25 22 114 65 B 62.7 | 246 | M16 | 290
UCP 310 50 275 75 212 75.0 20 35 28 143 85 61.0 - 220 | M16 | 5.80
EWP 310 50 275 75 212 75.0 20 35 28 143 85 - 666 | 246 | M16 | 6.00
UCP 211 55 219 60 171 63.5 20 25 22 126 70 55.6 - 222 | M16 | 3.40
EWP 211 55 219 60 171 63.5 20 25 22 126 70 - 714 | 278 | M16 | 3.60
UCP 311 55 310 80 236 80.0 20 38 31 154 96 66.0 - 250 | M16 | 7.40
EWP 311 55 310 80 236 80.0 20 38 31 154 96 - 73.0 | 278 | M16 | 7.60
UCP 212 60 241 70 184 69.8 20 25 25 138 70 65.1 - 254 | M16 | 4.80
EWP 212 60 241 70 184 69.8 20 25 25 138 70 - 778 | 31.0 | M16 | 5.00
UCP 312 60 330 85 250 85.0 25 38 33 165 102 71.0 - 260 | M20 | 9.00
EWP 312 60 330 85 250 85.0 25 38 33 165 102 - 79.4 | 31.0 | M20 | 9.40
UCP 213 65 265 70 203 76.2 25 29 27 150 7 65.1 - 254 | M20 | 5.70
EWP 213 65 265 70 203 76.2 25 29 27 150 7 - 85.7 | 34.1 M20 | 6.20
UCP 313 65 340 90 260 90.0 25 38 36 174 105 75.0 - 30.0 | M20 | 10.20
EWP 313 65 340 90 260 90.0 25 38 36 174 105 - 85.7 | 325 | M20 | 10.80
UCP 214 70 266 72 210 79.4 25 31 27 156 83 74.6 - 30.2 | M20 | 6.40
EWP 214 70 266 72 210 79.4 25 31 27 156 83 - 85.7 | 341 | M20 | 6.90
UCP 314 70 360 90 280 95.0 27 40 40 186 105 78.0 - 330 | M22 | 12.40
EWP 314 70 360 90 280 95.0 27 40 40 186 105 B 921 | 341 | M22 | 13.10
UCP 215 75 275 74 217 82.6 25 31 28 163 85 77.8 - 333 | M20 | 7.20
EWP 215 75 275 74 217 82.6 25 31 28 163 85 - 921 | 37.3 | M20 | 7.60
UCP 315 75 380 100 290 |100.0 27 40 40 197 120 82.0 - 320 | M22 | 14.60
EWP 315 75 380 100 290 | 100.0 27 40 40 197 120 - 100.0 | 373 | M22 | 15.80

56

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm




{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

STALAGER

PILLOW BLOCK
Best.nr. | Axelhdl Métt i mm / Dimensions in mm Bult st. | Vikt
Code |Shaftdia| L A J H N [Ny [ Hy [ Hy [y B | By | S |Boltsize W‘i’g’"
UCP 216 80 292 78 232 889 | 25 31 30 175 91 82.6 - | 333 | M20 | 87
UCP 316 80 400 110 300 | 106.0 | 27 40 45 209 120 86.0 - | 340 | M22 | 18.1
EWP 316 80 400 110 300 | 106.0 | 27 40 45 209 120 - 106.4 405 | M22 | 195
UCP 217 85 310 83 247 952 | 25 31 32 187 96 85.7 - | 3441 M20 | 11.0
UCP 317 85 420 110 320 | 1120 | 38 45 45 221 125 96.0 - | 400 | M27 | 21.0
EWP 317 85 420 110 320 | 1120 | 33 45 45 221 125 - 109.5 420 | M27 | 220
UCP 218 90 327 88 262 | 1016 | 27 33 34 200 100 96.0 - | 397 | M22 | 133
UCP 318 90 430 110 330 | 3180 | 33 45 50 233 130 96.0 - | 400 | M27 | 23.0
EWP 318 90 430 110 330 | 3180 | 33 45 50 233 130 - 1159 436 | M27 | 25.0
UCP 319 95 470 120 360 | 125.0 | 36 50 50 250 140 |103.0 - | 410 | M30 | 29.0
UCP 320 100 490 120 380 | 1400 | 36 50 55 275 140 |108.0 - | 420 | M30 | 36.0
UCP 321 105 490 120 380 | 1400 | 36 50 55 278 140 |112.0 - | 440 | M30 | 36.0
UCP 322 110 520 140 400 | 150.0 | 40 55 60 295 155 |117.0 - | 460 | M33 | 450
UCP 324 120 570 140 450 | 160.0 | 40 55 70 321 140 |126.0 - | 510 | M33 | 61.0
UCP 326 130 600 140 480 | 180.0 | 40 55 80 354 140 |135.0 - | 540 | M33 | 75.0
UCP 328 140 620 140 500 | 200.0 | 40 55 80 388 140 |145.0 - | 590 | M33 | 91.0

Lagg till ’G00” till best. nr. om lagret 6nskas smorijfritt.
Andra utférande finns dven med skyddslock och spannhylsa Vanligen kontakta oss for mer information.

Please add GOO at the end of the bearing No. if non-grease filling type units or housings are required.
Other versions: With cover and tapered adapter on request. Please contact us for futher information.

Light-Duty (LP-Typ)

UBLP 2

(ldsning med stoppskruv)

(set screw locking)
ENLP 2 *’g 7 % bk p
2 N \
(ldsning med excentrisk lasring) E &% l L J
(eccentric locking collar) AT o [
I
Axelhal 12-35mm
Shaft dia. 12-835mm
UBLP
Best.nr. | Axelhdl Matt i mm / Dimensions in mm Bult st. W‘gi;tht
Code |Shaft dia. L A J H N Ny Hq Ho Lq S Bolt size | kg

UBLP 201J 12 114 25 87 30.2 12 16 12 57 38 22,0 6.0 M10 | 0.38

ENLP 201J 12 114 25 87 30.2 12 16 12 57 38 6.5 M10 | 0.41

UBLP 202J 15 114 25 87 30.2 12 16 12 57 38 22,0 6.0 M10 | 037

ENLP 202J 15 114 25 87 30.2 12 16 12 57 38 6.5 M10 | 040

UBLP 203J 17 114 25 87 30.2 12 16 12 57 38 22.0 6.0 M10 | 0.36

ENLP 203J 17 114 25 87 30.2 12 16 12 57 38 6.5 M10 | 039

UBLP 204J 20 125 27 97 333 12 16 13 64 41 24.7 7.0 M10 | 047

ENLP 204J 20 125 27 97 333 12 16 13 64 41 - 75 M10 | 053

UBLP 205J 25 130 29 100 36.5 12 16 13 70 42 27.0 75 M10 | 0.58

ENLP 205J 25 130 29 100 365 12 16 13 70 42 75 M10 | 063

UBLP 206J 30 156 33 120 429 14 21 15 83 51 30.3 8.0 M12 | 068

ENLP 206J 30 156 33 120 42.9 14 21 15 83 51 9.0 M12 | 0.76

UBLP 207J 35 165 35 127 47.6 14 21 16 93 53 329 8.5 M12 | 094

ENLP 207J 35 165 35 127 476 14 21 16 93 53 95 M12 | 1.10

Light-Duty UBLP / ENLP ar férsedda med smorijfria lager.
Light-Duty UBLP / ENLP have Ilub-free bearings

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

57



{Transicy

www.translev.se info@translev.se
FLANSLAGER, FYRKANTIGT UTFORANDE
SQUARE FLANGE UNITS
UCF 2 » UCF 3 N ‘ ]

(ldsning med stoppskruv)

(set screw locking) N B

EWF 2 « EWF 3 T [

(lAsning med excentrisk lasring) s L I

B (eccentric locking collar) “ .
Axelhdl 12-140mm ]
Shaft dia. 12-140mm - L
UCF
Best. nr. | Axelhdl Métt i mm / Dimensions in mm Bultst. | Vikt
Code |Shaftdia.| L J A Aq Ay N B B4 s Ag H, |Boltsize Wi’g "t

UCF 201 12 86 64 | 255 12 15 12 31.0 - 127 | 333 - M10 | 067
UCF 202 15 86 64 | 255 12 15 12 31.0 - 127 | 333 - M10 | 0.66
UCF 203 17 86 64 | 255 12 15 12 31.0 - 127 | 333 - M10 | 0.64
UCF 204 20 86 64 | 255 12 15 12 31.0 - 127 | 333 - M10 | 062
EWF 204 20 86 64 | 255 12 15 12 - 437 | 171 | 416 33 | M10 | 068
UCF 205 25 95 70 | 270 14 16 12 34.0 - 143 | 357 - M10 | 083
EWF 205 25 95 70 | 270 14 16 12 - 444 | 175 | 429 39 | M10 | 086
UCF 305 25 110 80 | 290 13 16 16 38.0 - 150 | 39.0 - M14 | 114
EWF 305 25 110 80 | 29.0 13 18 16 - 468 | 167 | 461 41 M14 | 121
UCF 206 30 108 83 | 31.0 14 18 12 38.1 - 159 | 402 - M10 | 1.14
EWF 206 30 108 83 | 31.0 14 18 12 - 484 | 183 | 481 45 | M10 | 1.19
UCF 306 30 125 95 | 320 15 18 16 43.0 - 170 | 440 - M14 | 164
EWF 306 30 125 95 | 320 15 18 16 - 500 | 175 | 505 - M14 | 175
UCF 207 35 117 92 | 340 16 19 14 429 - 175 | 444 - M12 | 147
EWF 207 35 117 92 | 340 16 19 14 - 511 | 188 | 513 52 | M12 | 160
UCF 307 35 135 | 100 | 360 16 20 19 48.0 - 19.0 | 49.0 - M16 | 220
EWF 307 35 135 | 100 | 360 16 20 19 - 516 | 183 | 533 - M16 | 230
UCF 208 40 130 | 102 | 360 16 21 16 492 - 190 | 512 - M14 | 200
EWF 208 40 130 | 102 | 360 16 21 16 - 563 | 214 | 559 57 | M14 | 210
UCF 308 40 150 | 112 | 400 17 23 19 52.0 - 190 | 56.0 - M16 | 290
EWF 308 40 150 | 112 | 400 17 23 19 - 571 | 198 | 603 - M16 | 3.10
UCF 209 45 137 | 105 | 380 18 22 16 492 - 19.0 | 522 - M14 | 240
EWF 209 45 137 | 105 | 380 18 22 16 - 563 | 214 | 569 62 | M14 | 250
UCF 309 45 160 | 125 | 440 18 25 19 57.0 - 220 | 600 - M16 | 3.60
EWF 309 45 160 | 125 | 44.0 18 25 19 - 587 | 19.8 | 639 - M16 | 3.70
UCF 210 50 143 | 111 | 400 18 22 16 516 - 19.0 | 546 - M14 | 260
EWF 210 50 143 | 111 | 400 18 22 16 - 627 | 246 | 601 67 | M14 | 270
UCF 310 50 175 | 132 | 480 19 28 23 61.0 - 220 | 670 - M20 | 470
EWF 310 50 175 | 132 | 480 19 28 23 - 666 | 246 | 700 - M20 | 4.90
UCF 211 55 162 | 130 | 430 20 25 19 55.6 - 222 | 584 - M 16 36
EWF 211 55 162 | 130 | 430 20 25 19 - 714 | 278 | 686 75 | M16 | 3.80
UCF 311 55 185 | 140 | 520 20 30 23 66.0 - 250 | 710 - M20 | 5.80
EWF 311 55 185 | 140 | 520 20 30 23 - 730 | 278 | 752 - M20 | 6.00
UCF 212 60 175 | 143 | 480 20 29 19 65.1 - 254 | 687 - M16 | 4.80
EWF 212 60 175 | 143 | 480 20 29 19 - 778 | 310 | 758 83 | M16 | 5.00
UCF 312 60 195 | 150 | 56.0 22 33 23 71.0 - 260 | 780 - M20 | 7.40
EWF 312 60 195 | 150 | 56.0 22 33 23 - 794 | 310 | 814 - M20 | 7.80
UCF 213 65 187 | 149 | 500 20 30 19 65.1 - 254 | 697 - M16 | 580
EWF 213 65 187 | 149 | 500 20 30 19 - 857 | 341 | 816 89 | M16 | 630
UCF 313 65 | 208 | 166 | 580 22 33 23 75.0 - 300 | 780 - M16 | 830
EWF 313 65 | 208 | 166 | 580 22 33 23 - 857 | 325 | 862 - M20 | 890
UCF 214 70 193 | 152 | 540 24 31 19 74.6 - 302 | 754 - M16 | 6.60
EWF 214 70 193 | 152 | 54.0 24 31 19 - 857 | 341 | 816 93 | M16 | 7.10
UCF 314 70 | 226 | 178 | 610 25 36 25 78.0 - 330 | 810 - M22 | 9.80
EWF 314 70 | 226 | 178 | 610 25 36 25 - 921 | 341 | 940 - M22 | 10.50
UCF 215 75 | 200 | 159 | 56.0 24 34 19 77.8 - 333 | 785 - M16 | 7.70
EWF 215 75 | 200 | 159 | 56.0 24 34 19 - 921 | 373 | 88 | 100 | M16 | 810
UCF 315 75 | 236 | 184 | 660 25 39 25 82.0 - 320 | 89.0 - M22 | 11.20
EWF 315 75 | 236 | 184 | 66.0 25 39 25 - 100.0 | 373 | 1017 - M22 | 12.40

Reservation fér mattférandringar / Reservation for dimensional changes
5 8 Matti mm / Dimensions in mm



{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
FLANSLAGER, FYRKANTIGT UTFORANDE
SQUARE FLANGE UNITS
Best. nr. | Axelhdl Matt i mm / Dimensions in mm Bultst. | Vikt
Code |Shaftdia.| L J A Aq A, N B By s As | H, |Boitsize| "3
UCF 216 80 208 165 58 24 34 23 82.6 - 33.3 83.3 - M 20 8.2
UCF 316 80 250 196 68 27 38 31 86.0 - 34.0 90.0 - M 27 13.6
EWF 316 80 250 196 68 27 38 31 - 106.4 40.5 93.9 115 M 27 15.0
UCF 217 85 220 175 63 26 36 23 85.7 - 34.1 87.6 - M 20 9.6
UCF 317 85 260 204 74 27 44 31 96.0 - 40.0 100.0 - M 27 15.5
EWF 317 85 260 204 74 27 44 31 - 109.5 42.0 111.5 - M 27 16.9
UCF 218 90 235 187 68 26 40 23 96.0 - 39.7 96.3 - M 20 1241
UCF 318 90 280 216 76 30 44 35 96.0 - 40.0 100.0 - M 30 20.0
EWF 318 90 280 216 76 30 44 35 - 115.9 43.6 116.3 - M 30 22.0
UCF 319 95 290 228 94 30 59 35 103.0 - 41.0 121.0 - M 30 22.0
UCF 320 100 310 242 94 32 59 38 108.0 - 42.0 125.0 - M 33 27.0
UCF 321 105 310 242 94 32 59 38 112.0 - 44.0 127.0 - M 33 28.0
UCF 322 110 340 266 96 35 60 41 117.0 - 46.0 131.0 - M 36 37.0
UCF 324 120 370 290 110 40 65 41 126.0 - 51.0 140.0 - M 36 50.0
UCF 326 130 410 320 115 45 65 41 135.0 - 54.0 146.0 - M 36 65.0
UCF 328 140 450 350 125 55 75 4 145.0 - 59.0 161.0 - M 36 86.0

Lagg till ’G00” till best. nr. om lagret 6nskas smorijfritt.
Andra utférande finns dven med skyddslock och spannhylsa Vanligen kontakta oss for mer information.

Please add GOO at the end of the bearing No. if non-grease filling type units or housings are required.
Other versions: With cover and tapered adapter on request. Please contact us for futher information.

- N B
Light-Duty [
UBF 2
(ldsning med stoppskruv) -

(set screw locking) Tt L }
! v
Axelhal 20-40mm (D
Shaft dia. 20-40mm
'_AG—'
Best. nr. Axelhal Métt i mm / Dimension in mm Bult st. Ww'ktht
Code  |Shaftdia| L J A Aq Ay N B s Ag  |Boltsizd kg
UBF 204JG00 | 20 86 64 255 12 15 12 24.7 7.0 327 | M10]| 058
UBF 205JG00 25 95 70 27.0 14 16 12 27.0 7.5 36.2 M 10 0.78
UBF 206JG00 | 30 108 83 31.0 14 18 12 303 8.0 403 | M10]| 1086
UBF 207JG00 | 85 117 92 34.0 16 19 14 32.9 85 434 | M12 | 134
UBF 208JG00 | 40 130 102 36.0 16 21 16 35.0 90 470 | M14 | 179

Light-Duty UBF &r férsedda med smorjfria lager.
Light-Duty UBF have lub-free bearings.

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 59



{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

FLANSLAGER, RUNT UTFORANDE
ROUND FLANGE UNITS

UCFC 2

(ldsning med stoppskruv)
(set screw locking)

EWFC 2 p L g

(lasning med excentrisk lasring) L

(eccentric locking collar)

Axelhal 12-90mm UCFC

Shaft dia. 12-90mm

Best.nr. | Axelhal Matt i mm / Dimensions in mm Bult st. W\gi';tht
Code |Shaftdia| H J Ji [ A TA AN A; [ B By | Hq S | Ag [ Ha Poltsizg 1o

UCFC 201 12 | 100 | 551 | 78 | 205 | 7 10 | 12 5 |310]| - 62 | 127 | 283 | - |[M10| 073
UCFC 202 15 | 100 | 551 | 78 | 205 | 7 10 | 12 5 310 - 62 | 127 | 283 | - |[M10| 071
UCFC 203 17 | 100 | 551 | 78 | 205 | 7 10 | 12 5 | 310 - 62 | 127 | 283 | - |M10| 070
UCFC 204 20 | 100 | 551 | 78 | 205 | 7 10 | 12 5 |310 ]| - 62 | 127 | 283 | - |M10| 068
EWFC 204 20 | 100 | 551 | 78 | 205 | 7 10 | 12 5 - | 437 | 62 | 17.1 | 366 | 33 |M10| 0.73
UCFC 205 25 | 115 | 636 | 90 [ 210 | 7 10 | 12 6 | 340 | - 70 | 143 | 297 | - |[M10| 092
EWFC 205 25 | 115 | 636 | 90 | 210 | 7 10 | 12 6 - | 444 | 70 | 175|369 | 39 |M10| 096
UCFC 206 30 | 125 | 707 | 100 | 230 | 8 10 | 12 8 | 38.1 - 80 | 159 | 322 | - |[M10| 123
EWFC 206 30 | 125 | 707 | 100 | 230 | 8 10 | 12 8 - | 484 | 80 | 183 | 401 | 45 | M10| 1.28
UCFC 207 35 | 135 | 778 | 110 | 260 | 9 11 14 8 |49 | - 9 | 175|364 | - |[M12| 157
EWFC 207 35 | 135 | 778 | 110 | 260 | 9 11 14 8 - | 511 | 90 | 188 | 433 | 52 |M12| 1.70
UCFC 208 40 | 145 | 848 | 120 | 260 | 9 11 14 10 [ 492 | - [ 100 | 190 | 412 | - |[M14| 187
EWFC 208 40 | 145 | 848 | 120 | 260 | 9 11 14 10 - | 563 | 100 | 214 | 459 | 52 | M14 | 2.00
UCFC 209 45 | 160 | 933 | 132 | 260 | 14 | 10 | 16 12 [ 492 | - | 105 | 190 | 402 | - |[M14| 260
EWFC 209 45 | 160 | 933 | 132 [ 260 | 14 | 10 | 16 12 - | 563 | 105 | 214 | 449 | 62 |M14 | 270
UCFC 210 50 | 165 | 976 | 138 [ 280 | 14 | 10 | 16 12 [516 | - [ 110 [ 190 | 426 | - [M14| 280
EWFC 210 50 | 165 | 976 | 138 | 280 | 14 | 10 | 16 12 - | 627 | 110 | 246 | 481 | 67 | M14 | 3.00
UCFC 211 55 | 185 [106.1 | 150 | 31.0 | 15 | 13 | 19 12 [ 556 | - | 125 | 222 | 464 | - |[M16| 390
EWFC 211 55 | 185 [106.1 | 150 [ 31.0 | 15 | 13 | 19 12 - | 714 | 125 | 278 | 566 | 75 | M16 | 4.10
UCFC 212 60 | 195 [1131| 160 [ 360 | 15 | 17 | 19 12 | 65.1 - | 135 | 254 | 567 | - |[M16| 480
EWFC 212 60 | 195 [1131| 160 | 360 | 15 | 17 | 19 12 - | 778|135 | 31.0 | 638 | 83 |M16 | 5.00
UCFC 213 65 | 205 [1202 | 170 [ 360 | 15 | 16 | 19 14 | 65.1 - | 145 | 254 | 557 | - |M16| 540
UCFC 214 70 | 215 [1251 | 177 | 400 | 18 | 17 | 19 14 | 746 | - | 150 [ 302|614 | - |[M16| 690
UCFC 215 75 | 220 [130.1 | 184 [ 400 | 18 | 18 | 19 16 [ 778 | - | 160 [ 333|625 | - [M16| 750
UCFC 216 80 | 240 [1414 | 200 | 420 | 18 | 18 | 23 16 |86 | - |170 | 333|673 | - |[M20| 880
UCFC 217 85 | 250 [147.1 | 208 | 450 | 20 | 18 | 23 18 [ 857 | - | 180 | 341 | 696 | - |M20|1060
UCFC 218 90 | 265 [1555 | 220 [ 500 | 20 | 22 | 23 18 | 960 | - [ 190 | 397 | 783 | - | M20 1290

Lagg till ”G00” till best. nr. om lagret 6dnskas smorijfritt.
Andra utférande finns dven med skyddslock och spannhylsa Vanligen kontakta oss for mer information.

Please add GO0 at the end of the bearing No. if non-grease filling type units or housings are required.

Other versions: With cover and tapered adapter on request. Please contact us for futher information.
N

\

Light-Duty DS go
UBFC 2 ) . H
(Iasning med excentrisk Idsring)
(set screw locking)
Axelhdl 20-35mm ]
Shaft dia. 20-35mm i

Best. nr. Axelhal Méatt i mm/ Dimensions in mm Bult st. Ww'ktht

el

Code |Shaftdia| H J i A A Ay N Ag B Hy s Ag  [Boltsizd kg
UBFC 204JG00 | 20 100 55.1 78 20.5 7 10 12 5 24.7 62 7.0 277 | M10 | 063
UBFC 205JG00 | 25 115 63.6 el 210 7 10 12 6 27.0 70 75 295 | M10 | 088
UBFC 206JG00 | 30 125 70.7 100 23.0 8 10 12 8 30.3 80 8.0 323 | M10| 1.15
UBFC 207JG00| 35 135 778 110 26.0 9 1 14 8 32.9 90 8.5 354 | M12 | 1.44

Light-Duty UBFC &r forsedda med smorjfria lager.
Light-Duty UBFC have lub-free bearings

60

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm



{Transiey

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
FLANSLAGER, OVALT UTFORANDE
RHOMBIC FLANGE UNITS

UCFL 2 « UCFL 3

(ldsning med stoppskruv)

(set screw locking) N

EWFL 2 « EWFL 3 %\ ﬁN >

(Isning med excentrisk Isring) \4\ AN N

(eccentric locking collar)

T
Axelhal 12-140mm i/{
Shaft dia. 12-140mm
Best. nr. | Axelhal Matt i mm / Dimensions in mm Bult st.| Vikt
Code |Shaftdia| H J L A Aq Ay N B B4 ] Ag H, |Bolt sizel W‘i’g”‘

UCFL 201 12 113 90 60 | 255 12 15 12 | 31.0 - 12.7 | 333 - M10 | 0.51
UCFL 202 15 113 90 60 | 255 12 15 12 | 310 - 12.7 | 333 - M10 | 0.49
UCFL 203 17 113 90 60 | 255 12 15 12 | 31.0 - 12.7 | 333 - M10 | 0.48
UCFL 204 20 113 90 60 | 255 12 15 12 | 31.0 - 12.7 | 333 - M10 | 0.46
EWFL 204 20 113 90 60 | 255 12 15 12 - 437 | 171 | 416 | 33 | M10 | 051
UCFL 205 25 130 99 68 | 27.0 14 16 16 | 34.0 - 143 | 357 - M14 | 0.63
EWFL 205 25 130 99 68 | 27.0 14 16 16 - 444 | 175 | 429 | 39 | M14 | 068
UCFL 305 25 150 | 113 80 | 29.0 13 16 19 | 380 - 15.0 | 39.0 - M16 | 0.96
EWFL 305 25 150 | 113 80 | 29.0 13 16 19 - 468 | 167 | 461 | 41 M16 | 1.03
UCFL 206 30 148 | 117 80 | 31.0 14 18 16 | 381 - 159 | 402 - M14 | 0.95
EWFL 206 30 148 | 117 80 | 31.0 14 18 16 - 484 | 183 | 481 | 45 | M14 | 1.01
UCFL 306 30 180 | 134 90 | 32.0 15 18 23 | 430 - 17.0 | 44.0 - M20 | 1.36
EWFL 306 30 180 | 134 90 | 32.0 15 18 23 - 500 | 175 | 505 - M20 | 1.47
UCFL 207 35 161 | 130 90 | 34.0 16 19 16 | 429 - 175 | 444 - M14 | 1.31
EWFL 207 35 161 | 130 90 | 34.0 16 19 16 - 511 | 188 | 513 | 52 | M14 | 1.43
UCFL 307 35 185 | 141 | 100 | 36.0 16 20 23 | 480 - 19.0 | 49.0 - M20 | 1.80
EWFL 307 35 185 | 141 | 100 | 36.0 16 20 23 - 516 | 183 | 533 - M20 | 1.88
UCFL 208 40 175 | 144 | 100 | 36.0 16 21 16 | 49.2 - 19.0 | 51.2 - M14 | 1.69
EWFL 208 40 175 | 144 | 100 | 36.0 16 21 16 - 563 | 214 | 559 | 57 | M14 | 1.82
UCFL 308 40 200 | 158 | 112 | 40.0 17 23 23 | 520 - 19.0 | 56.0 - M20 | 2.40
EWFL 308 40 200 | 158 | 112 | 40.0 17 23 23 - 571 | 19.8 | 60.3 - M20 | 2.60
UCFL 209 45 188 | 148 | 113 | 38.0 18 22 19 | 49.2 - 19.0 | 52.2 - M16 | 2.10
EWFL 209 45 188 | 148 | 113 | 38.0 18 22 19 - 563 | 214 | 569 | 62 | M16 | 2.20
UCFL 309 45 230 | 177 | 132 | 44.0 18 25 25 | 57.0 - 220 | 60.0 - M22 | 3.30
EWFL 309 45 230 | 177 | 132 | 44.0 18 25 25 - 58.7 | 19.8 | 63.9 - M22 | 3.40
UCFL 210 50 197 | 157 | 120 | 40.0 18 22 19 | 51.6 - 19.0 | 54.6 - M16 | 2.40
EWFL 210 50 197 | 157 | 120 | 40.0 18 22 19 - 62.7 | 246 | 601 | 67 | M16 | 2.60
UCFL 310 50 240 | 187 | 144 | 480 19 28 25 | 61.0 - 220 | 67.0 - M22 | 450
EWFL 310 50 240 | 187 | 144 | 480 19 28 25 - 66.6 | 246 | 70.0 - M22 | 4.70
UCFL 211 55 224 | 184 | 134 | 430 20 25 19 | 55.6 - 222 | 584 - M16 | 3.40
EWFL 211 55 224 | 184 | 134 | 430 20 25 19 - 714 | 278 | 686 | 75 | M16 | 3.70
UCFL 311 55 250 | 198 | 154 | 52.0 20 30 25 | 66.0 - 250 | 71.0 - M22 | 530
EWFL 311 55 250 | 198 | 154 | 52.0 20 30 25 - 730 | 278 | 752 - M22 | 550
UCFL 212 60 250 | 202 | 144 | 480 20 29 23 | 65.1 - 254 | 687 - M20 | 4.30
EWFL 212 60 250 | 202 | 144 | 480 20 29 23 - 778 | 31.0 | 758 | 83 | M20 | 4.60
UCFL 312 60 270 | 212 | 164 | 56.0 22 33 31 71.0 - 260 | 78.0 - M27 | 6.50
EWFL 312 60 270 | 212 | 164 | 56.0 22 33 31 - 794 | 310 | 814 - M27 | 6.90
UCFL 213 65 258 | 210 | 157 | 50.0 24 30 23 | 65.1 - 254 | 69.7 - M20 | 5.40
EWFL 213 65 258 | 210 | 157 | 50.0 24 30 23 - 857 | 341 | 816 | 89 | M20 | 6.80
UCFL 313 65 205 | 240 | 186 | 58.0 25 33 31 75.0 - 300 | 780 - M27 | 83
EWFL 313 65 205 | 240 | 186 | 58.0 25 33 31 - 857 | 325 | 86.2 - M27 | 8.90
UCFL 214 70 265 | 216 | 163 | 54.0 24 31 23 | 746 - 302 | 754 - M20 | 6.30
EWFL 214 70 265 | 216 | 163 | 54.0 24 31 23 - 857 | 341 | 816 | 93 | M20 | 6.80
UCFL 314 70 315 | 250 | 196 | 61.0 28 36 35 | 780 - 330 | 81.0 - M30 | 9.90
EWFL 314 70 315 | 250 | 196 | 61.0 28 36 35 - 921 | 341 | 94.0 - M 30 | 10.60
UCFL 215 75 275 | 225 | 168 | 56.0 24 34 23 | 778 - 33-3 | 785 - M20 | 6.90
EWFL 215 75 275 | 225 | 168 | 56.0 24 34 23 - 921 | 373 | 888 | 100 | M20 | 7.30
UCFL 315 75 320 | 260 | 206 | 66.0 30 39 35 | 820 - 320 | 89.0 - M 30 | 11.40
EWFL 315 75 320 | 260 | 206 | 66.0 30 39 35 - |1000 | 373 | 1017 | - M 30 | 12.60

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 6 1



{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
FLANSLAGER, OVALT UTFORANDE
RHOMBIC FLANGE UNITS
Best. nr. | Axelhal Matt i mm / Dimensions in mm Bult st.| Vikt
Code |Shaftdia| H J L A | A | A N B | By s Ag | H, [Boltsize W‘;}'g "t

UCFL 216 80 290 233 180 58 24 34 25 82.6 - 33.3 83.3 - M 22 8.4
UCFL 316 80 355 285 210 68 32 38 38 86.0 - 34.0 90.0 - M33 | 14.1
EWFL 316 80 355 285 210 68 32 38 38 - 106.4 | 40.5 93.9 115 M33 | 155
UCFL 217 85 305 248 190 63 26 36 25 85.7 - 341 87.6 - M 22 9.9
UCFL 317 85 370 300 220 74 32 44 38 96.0 — 40.0 | 100.0 — M33 | 16.8
EWFL 317 85 370 300 220 74 32 44 38 - 1095 | 42.0 111.5 - M 33 18.2
UCFL 218 90 320 265 205 68 26 40 25 96.0 - 39.7 96.3 - M22 | 124
UCFL 318 90 385 315 235 76 36 44 38 96.0 - 40.0 | 100.0 - M33 | 195
EWFL 318 90 385 315 235 76 36 44 38 - 1159 | 436 | 1163 - M33 | 21.3
UCFL 319 95 405 330 250 94 40 59 4 103.0 - 410 | 121.0 - M36 | 26.0
UCFL 320 100 440 360 270 94 40 59 44 108.0 - 420 | 125.0 - M39 | 31.0
UCFL 321 105 440 360 270 94 40 59 44 102.0 - 440 | 127.0 - M39 | 30.0
UCFL 322 110 470 390 300 96 42 60 44 117.0 - 46.0 | 131.0 - M39 | 400
UCFL 324 120 520 430 330 110 48 65 47 126.0 - 51.0 | 140.0 - M42 | 55.0
UCFL 326 130 550 460 360 115 50 65 47 135.0 - 54.0 | 146.0 - M42 | 68.0
UCFL 328 140 600 500 400 125 60 75 51 145.0 - 59.0 | 161.0 - M45 | 95.0

Lagg till ”G00” till best. nr. om lagret dnskas smorijfritt.
Andra utférande finns dven med skyddslock och spannhylsa Vanligen kontakta oss for mer information.

Please add GOO at the end of the bearing No. if non-grease filling type units or housings are required.
Other versions: With cover and tapered adapter on request. Please contact us for futher information.

Light-Duty (LF-Typ) < 1
UBLF 2 N <P i
(ldsning med stoppskruv) F X f m;§§
(set screw locking) //' N ) ;/\' f % ) )\f .A;l
| ¢ /|| HIY
ENLF 2
(ldsning med excentrisk lasring) EN Y-
(eccentric locking collar) N N -]
Lad
Axelh3l 12-35mm UBFL L
Shaft dia. 12-35mm
Best.n. | Axelhal Maétt i mm/ Dimensions in mm Bult st. W\giI;tht
Code |Shaftdia.| H J L A Aq Ay N B B4 s Ag  [Boltsizel g
UBLF201BJ| 12 81 635 56 18.0 9.5 9.5 8 22.0 - 6.0 255 | M 6| 027
ENLF201BJ| 12 81 635 56 18.0 9.5 9.5 8 - 28.6 6.5 316 | M 6| 030
UBLF202BJ| 15 81 635 56 18.0 9.5 9.5 8 22.0 - 6.0 255 | M 6| 026
ENLF 202BJ| 15 81 635 56 18.0 9.5 9.5 8 - 28.6 6.5 316 | M 6| 029
UBLF203BJ| 17 81 635 56 18.0 9.5 9.5 8 22.0 - 6.0 255 | M 6| 025
ENLF 203BJ| 17 81 63.5 56 18.0 95 95 8 - 286 6.5 316 | M 6| 028
UBLF 204BJ| 20 90 715 63 20.0 1.0 11.0 10 24.7 - 7.0 287 | M 8| 029
ENLF 204BJ| 20 90 715 63 20.0 11.0 11.0 10 - 31.0 75 345 | M 8| 034
UBLF205BJ| 25 95 76.0 68 20.0 11.0 11.0 10 27.0 - 75 305 | M 8| 039
ENLF 205BJ| 25 95 76.0 68 20.0 11.0 1.0 10 - 31.0 75 345 | M 8| 044
UBLF 206BJ| 30 113 905 79 225 12.0 12.0 12 30.3 - 8.0 343 | M10 | 056
ENLF 206BJ| 30 113 905 79 225 12.0 12.0 12 - 35.7 9.0 387 | M10 | 064
UBLF207BJ| 35 122 100.0 89 24.0 13.0 13.0 12 32.9 - 85 374 | M10 | 077
ENLF207BJ| 35 122 100.0 89 24.0 13.0 13.0 12 - 38.9 95 424 | M10 | 092

Light-Duty UBLF / ENLF &r forsedda med smérifria lager.
Light-Duty UBLF / ENLF have lub-free bearings

Reservation fér mattférandringar / Reservation for dimensional changes
6 2 Matti mm / Dimensions in mm



{TrANsLEV
TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

STAL OCH FLANSLAGER MED LAGERHUS I PLAT
PILLOW AND FLANGE UNITS WITH PRESSED STEEL HOUSING

UBPP 2

(ldsning med stoppskruv)
(set screw locking)

ENPP 2

’»[f%

(lasning med excentrisk lasring) /f’ % ! [ ;

(eccentric locking collar) k J / ljl “h )
N ' n

H | n
Axelhal 12-35mm N J ' s l ) B o
Shaft dia. 12-35mm ' !
UBPP ENPP
Best.nr. | Axelhal Matt i mm / Dimensions in mm Bult st. W\gi':;tht
Code Shaft dia. L A J H N H1 H2 B B1 S IBolt size| kg
UBPP 201 12 86 25 68 22.2 9 3.2 43.8 22.0 - 6.0 M 8| 0.15
ENPP 201 12 86 25 68 22.2 9 3.2 43.8 - 28.6 6.5 M 8| 0.20
UBPP 202 15 86 25 68 22.2 9 3.2 43.8 22.0 - 6.0 M 8| 0.15
ENPP 202 15 86 25 68 22.2 9 3.2 43.8 - 28.6 6.5 M 8| 0.19
UBPP 203 17 86 25 68 22.2 9 3.2 43.8 22.0 - 6.0 M 8| 0.14
ENPP 203 17 86 25 68 22.2 9 3.2 43.8 - 28.6 6.5 M 8 0.18
UBPP 204 20 98 32 76 25.4 9 3.2 50.5 24.7 - 7.0 M 8| 020
ENPP 204 20 98 32 76 25.4 9 3.2 50.5 - 31.0 7.5 M 8| 025
UBPP 205 25 108 32 86 28.6 11 4.0 56.6 27.0 - 7.5 M10 | 0.28
ENPP 205 25 108 32 86 28.6 11 4.0 56.6 - 31.0 7.5 M10 | 0.33
UBPP 206 30 117 38 95 33.3 11 4.0 66.3 30.3 - 8.0 M10 | 0.40
ENPP 206 30 117 38 95 33.3 11 4.0 66.3 - 35.7 9.0 M10 | 0.47
UBPP 207 35 129 42 106 39.7 11 4.6 78.0 32.9 - 8.5 M10 | 0.57
ENPP 207 35 129 42 106 39.7 11 4.6 78.0 - 38.9 9.5 M10 | 0.71

UBPP / ENPP ar férsedda med smorjfria lager.
UBPP /| ENPP have lub-free bearings

UBPF 2

(ldsning med stoppskruv)
(set screw locking)

ENPF 2
(ldsning med excentrisk lasring)
(eccentric locking collar)

©

—
,
Axelhal 12-35mm UBPF ENPF ba-
Shaft dia. 12-35mm
Best.nr. | Axelhdl Métt i mm / Dimensions in mm Bult st. | Vikt
Code |Shaftdia.| H Jq A Aq N Ha min B By S ottsize po

UBPF 201 12 81 63 14 40 7 49 22,0 - 6.0 M 6| 023
ENPF 201 12 81 63 14 4.0 7 49 - 286 65 M 6| 026
UBPF 202 15 81 63 14 4.0 7 49 22,0 - 6.0 M 6| 022
ENPF 202 15 81 63 14 4.0 7 49 - 286 6.5 M 6| 025
UBPF 203 17 81 63 14 4.0 7 49 22,0 - 6.0 M 6| 021
ENPF 203 17 81 63 14 4.0 7 49 - 286 65 M 6| 024
UBPF 204 20 BN 71 16 4.0 9 56 24.7 - 7.0 M 8| 028
ENPF 204 20 BN 71 16 40 9 56 - 31 75 M 8| 033
UBPF 205 25 95 76 18 4.0 9 60 27.0 - 75 M 8| 034
ENPF 205 25 95 76 18 4.0 9 60 - 31 75 M 8| 039
UBPF 206 30 113 BN 18 5.2 11 71 303 - 8.0 M10 | 056
ENPF 206 30 113 ) 18 5.2 11 71 - 35.7 9.0 M10 | 0.64
UBPF 207 35 122 100 20 5.2 11 81 329 - 85 M10 | 072
ENPF 207 35 122 100 20 5.2 11 81 - 38.9 95 M10 | 0.87

UBPF / ENPF &r forsedda med smérijfria lager.
UBPF / ENPF have lub-free bearings

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 63



{TRANSLEM

'TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

STAL OCH FLANSLAGER MED LAGERHUS I PLAT
PILLOW AND FLANGE UNITS WITH PRESSED STEEL HOUSING

UBPFL 2
(ldsning med stoppskruv) L s
(set screw locking) e { ) [E:g .
Ll s L L1 -1 EL/—
‘ b
(ldsning med excentrisk lasring) % J " ﬁ i
(eccentric locking collar) j

77

r n
a1,
v LJ
!
‘:A
A

Axelhal 12-35mm i |
Shaft dia. 12-35mm N UBPFL " N ENPFL
Best.n. | Axelhal Matt i mm/ Dimensions in mm Bult st. W\gi';tht
Code Shaft dia. H J A Aq N L Ha min B B1 S Bolt sizel kg

UBPFL 201 12 81 63.5 14 4.0 7 59 49 22.0 - 6.0 M 6| 022
ENPFL 201 12 81 63.5 14 4.0 7 59 49 - 28.6 6.5 M 6| 026
UBPFL 202 15 81 63.5 14 4.0 7 59 49 22.0 - 6.0 M 6| 021
ENPFL 202 15 81 63.5 14 4.0 7 59 49 - 28.6 6.5 M 6| 025
UBPFL 203 17 81 63.5 14 4.0 7 59 49 22.0 - 6.0 M 6| 0.20
ENPFL 203 17 81 63.5 14 4.0 7 59 49 - 28.6 6.5 M 6| 023
UBPFL 204 20 90 714 16 4.0 9 67 56 24.7 - 7.0 M 8| 027
ENPFL 204 20 90 71.4 16 4.0 9 67 56 - 31.0 7.5 M 8| 032
UBPFL 205 25 95 76.2 18 4.0 9 71 60 27.0 - 7.5 M 8| 0.33
ENPFL 205 25 95 76.2 18 4.0 9 71 60 - 31.0 7.5 M 8| 0.38
UBPFL 206 30 113 90.5 18 5.2 11 84 71 30.3 - 8.0 M10 | 0.54
ENPFL 206 30 113 90.5 18 5.2 11 84 71 - 35.7 9.0 M10 | 0.62
UBPFL 207 35 125 100.0 20 52 11 94 81 329 - 8.5 M10 | 0.71
ENPFL 207 35 125 100.0 20 5.2 11 94 81 - 38.9 9.5 M10 | 0.86

UBPFL / ENPFL ar forsedda med smorijfria lager.
UBPFL / ENPFL have lub-free bearings

Reservation fér mattférandringar / Reservation for dimensional changes
64 Matti mm / Dimensions in mm



{Transiey

www.translev.se

tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73

SPANNLAGER

TAKE-UP UNITS

UCT 2+ UCT3

(ldsning med stoppskruv)

(set screw locking)

EWT 2 « EWT 3

(ldsning med excentrisk lasring)

(eccentric locking collar)

Axelhal 12-140mm

Shaft dia. 12-140mm

B

uct
Best. nr. Axelhal Matt i mm / Dimnesions in mm
Code Shaft dia. N1 L2 H2 N2 N L3 A1 H1 H L A A2 L1 B B1 S

UCT 201 12 16 10 51 32 19 51 12 76 89 94 32 21 61 31.0 - 12.7
UCT 202 15 16 10 51 32 19 51 12 76 89 94 32 21 61 31.0 - 12.7
UCT 203 17 16 10 51 32 19 51 12 76 89 94 32 21 61 31.0 - 12.7
UCT 204 20 16 10 51 32 19 51 12 76 89 94 32 21 61 31.0 - 12.7
EWT 204 20 16 10 51 32 19 51 12 76 89 94 32 21 61 - | 437 | 174
UCT 205 25 16 10 51 32 19 51 12 76 89 97 32 24 62 | 34.0 - 143
EWT 205 25 16 10 51 32 19 51 12 76 89 97 32 24 62 - | 444 | 175
UCT 305 25 16 12 62 36 26 65 12 80 89 | 122 36 26 76 | 38.0 - 15.0
EWT 305 25 16 12 62 36 26 65 12 80 89 122 36 26 76 - | 46.8 | 16.7
UCT 206 30 16 10 56 37 22 57 12 89 | 102 113 37 28 70 | 38.1 - 15.9
EWT 206 30 16 10 56 37 22 57 12 89 | 102 113 37 28 70 - | 484 | 183
UCT 306 30 18 14 70 41 28 74 16 90 | 100 137 41 28 85 | 43.0 - 17.0
EWT 306 30 18 14 70 41 28 74 16 90 | 100 137 41 28 85 - | 50.0 | 17.5
UCT 207 35 16 13 64 37 22 64 12 89 | 102 129 37 30 78 | 429 - 175
EWT 207 35 16 13 64 37 22 64 12 89 | 102 129 37 30 78 - | 511 | 1838
UCT 307 35 20 15 75 45 30 80 16 100 | 111 150 45 32 94 | 48.0 - 19.0
EWT 307 35 20 15 75 45 30 80 16 100 | 111 150 45 32 94 - | 516 | 183
UCT 208 40 19 16 83 49 29 83 16 102 | 114 144 49 33 88 | 49.2 - 19.0
EWT 208 40 19 16 83 49 29 83 16 | 102 | 114 | 144 | 49 33 88 - | 563 | 214
UCT 308 40 22 17 83 50 32 89 18 112 | 124 162 50 34 100 | 52.0 - 19.0
EWT 308 40 22 17 83 50 32 89 18 112 | 124 162 50 34 100 - | 571 | 19.8
UCT 209 45 19 16 83 49 29 83 16 102 | 117 144 49 35 87 | 49.2 - 19.0
EWT 209 45 19 16 83 49 29 83 16 102 | 117 144 49 35 87 - | 563 | 214
UCT 309 45 24 18 90 55 34 97 18 125 | 138 178 55 38 110 | 57.0 - 22.0
EWT 309 45 24 18 90 55 34 97 18 125 | 138 178 55 38 110 - | 58.7 | 19.8
UCT 210 50 19 16 83 49 29 86 16 | 102 | 117 | 149 | 49 37 90 |51.6 - 19.0
EWT 210 50 19 16 83 49 29 86 16 102 | 117 149 49 37 90 - | 62.7 | 24.6
UCT 310 50 27 20 98 61 37 106 20 140 | 151 191 61 40 117 | 61.0 - 22.0
EWT 310 50 27 20 98 61 37 106 20 140 | 151 191 61 40 117 - | 66.6 | 24.6
UCT 211 55 25 19 102 64 35 95 22 130 | 146 171 64 38 106 | 55.6 - 222
EWT 211 55 25 19 102 64 35 95 22 130 | 146 171 64 38 106 - | 714 | 278
UCT 311 55 29 21 105 66 39 115 22 150 | 163 207 66 44 127 | 66.0 - 25.0
EWT 311 55 29 21 105 66 39 115 22 150 | 163 207 66 44 127 - | 730 | 27.8
UCT 212 60 32 19 102 64 35 102 22 130 | 146 194 64 42 119 | 65.1 - 254
EWT 212 60 32 19 102 64 35 102 22 130 | 146 194 64 42 119 - | 778 | 31.0
UCT 312 60 31 23 113 71 4 123 22 160 | 178 220 71 46 135 | 71.0 - 26.0
EWT 312 60 31 23 113 71 41 123 22 160 | 178 220 7 46 135 - 794 | 31.0
UCT 213 65 32 21 111 70 41 121 26 151 167 224 70 44 137 | 65.1 - 254
EWT 213 65 32 21 111 70 41 121 26 151 167 224 70 44 137 - | 85.7 | 3441
UCT 313 65 32 25 | 116 70 43 | 134 26 | 170 | 190 | 238 | 80 50 | 146 | 75.0 - 30.0
EWT 313 65 32 25 116 70 43 134 26 170 | 190 238 80 50 146 - | 857 | 325
UCT 214 70 32 21 111 70 41 121 26 151 167 224 70 46 137 | 74.6 - 30.2
EWT 214 70 32 21 111 70 41 121 26 151 167 224 70 46 137 - | 85.7 | 341
UCT 314 70 36 25 130 85 46 140 26 180 | 202 252 90 52 155 | 78.0 - 33.0
EWT 314 70 36 25 130 85 46 140 26 180 | 202 252 90 52 155 - | 921 | 3441
UCT 215 75 32 21 111 70 41 121 26 151 167 232 70 48 140 | 77.8 - 33.3
EWT 215 75 32 21 111 70 41 121 26 151 167 232 70 48 140 - 1921 | 37.3
UCT 315 75 36 25 132 85 46 150 26 192 | 216 262 90 55 160 | 82.0 - 32.0
EWT 315 75 36 25 132 85 46 150 26 192 | 216 262 90 55 160 - 1100.0| 37.3

Reservation fér mattférandringar / Reservation for dimensional changes

Matti mm / Dimensions in mm

65



{TRANSLEM

TRANSMISSIONSLEVERANTOREN AB

www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73
SPANNLAGER
TAKE-UP UNITS
Best.nr. | Axelhdl Matt i mm / Dimensions in mm
Code |Shaftdia.|Ny | Lo | Ho | Np | N | Lg | Ay | H | H L | A |A|[L| B |B | s

UCT 216 80 32 21 111 70 41 121 26 165 | 184 | 235 70 51 140 | 82.6 - 33.3
UCT 316 80 42 28 150 98 53 160 30 204 | 230 | 282 | 102 60 | 174 | 86.0 - 34.0
EWT 316 80 42 28 150 98 53 160 30 204 | 230 | 282 | 102 60 | 174 - 106.4 | 40.5
UCT 217 85 38 29 124 73 48 157 30 173 | 198 | 260 73 54 | 162 | 85.7 - 34.1
EWT 317 85 42 30 152 98 53 170 32 214 | 240 | 298 | 102 64 | 183 | 96.0 - 40.0
UCT 317 85 42 30 152 98 53 170 32 214 | 240 | 298 | 102 64 | 183 - 109.5| 42.0
UCT 318 90 46 30 160 | 106 57 175 32 228 | 255 | 312 | 110 66 | 192 | 96.0 - 40.0
EWT 318 90 46 30 160 | 106 57 175 32 228 | 255 | 312 | 110 66 | 192 - 1159 | 43.6
UCT 319 95 46 31 165 | 106 57 180 35 240 | 270 | 322 | 110 72 | 197 [103.0 - 41.0
UCT 320 100 48 32 175 | 115 59 200 35 260 | 290 | 345 | 120 75 | 210 [108.0 - 42.0
UCT 321 105 48 32 175 | 115 59 200 35 260 | 290 | 345 | 120 75 | 210 [112.0 - 44.0
UCT 322 110 52 38 185 | 125 65 215 38 285 | 320 | 385 | 130 80 | 235 [117.0 - 46.0
UCT 324 120 60 42 210 | 140 70 230 45 320 | 355 | 432 | 140 90 | 267 |126.0 - 51.0
UCT 326 130 65 45 220 | 150 75 240 50 350 | 385 | 465 | 150 | 100 | 285 |135.0 - 54.0
UCT 328 140 70 50 230 | 160 80 255 50 380 | 415 | 515 | 155 | 100 | 315 [145.0 - 59.0

Lagg till ”G00” till best. nr. om lagret dnskas smorijfritt.
Andra utférande finns dven med skyddslock och spé@nnhylsa Véanligen kontakta oss fér mer information.

Please add GOO at the end of the bearing No. if non-grease filling type units or housings are required.
Other versions: With cover and tapered adapter on request. Please contact us for futher information.

UCFA 2 8

(ldsning med stoppskruv)
(set screw locking)

Axelhal 20-55mm
Shaft dia. 20-55mm

FE T

UCFA

Best. nr. Axelhdl Matt i mm / Dimensions in mm Bult st.

Code Shaftdia. | H J L Ly A Aq Ao N Ny No B S Ag |Bolt size
UCFA 201 12 102 78 60 54 25.5 12 15 10 10 40 31.0 12.7 33.3 M 8
UCFA 202 15 102 78 60 54 25.5 12 15 10 10 40 31.0 12.7 33.3 M 8
UCFA 203 17 102 78 60 54 255 12 15 10 10 40 31.0 12.7 33.3 M 8
UCFA 204 20 102 78 60 54 255 12 15 10 10 40 31.0 12.7 33.3 M 8
UCFA 205 25 125 98 68 65 27.0 14 16 12 13 51 34.0 14.3 35.7 M 10
UCFA 206 30 144 117 80 72 31.0 14 18 12 13 58 38.1 15.9 40.2 M 10
UCFA 207 35 161 130 90 82 34.0 16 19 15 15 66 429 175 44.4 M 12
UCFA 208 40 175 144 100 87 36.0 16 21 15 15 71 49.2 19.0 51.2 M 12
UCFA 209 45 181 148 108 90 38.0 18 22 15 15 72 49.2 19.0 52.2 M 12
UCFA 210 50 190 157 115 94 40.0 18 22 15 15 76 51.6 19.0 54.6 M 12
UCFA 211 55 219 184 130 104 43.0 20 25 16 17 86 55.6 22.2 58.4 M 14

Reservation fér mattférandringar / Reservation for dimensional changes
66 Matti mm / Dimensions in mm



{TRANSMEM

TRANSMISSIONSLEVERANTOREN AB
www.translev.se info@translev.se
tif: 08-446 39 90 fax: 08-756 44 73

KEDJEHJUL FOR BANDKEDJOR
SPROCKETS FOR TABLE TOP CHAINS

For Bandkedja i plast / For Plastic Table Top Chains

Kedjans
Best. nr. Tandantal delning L

Code No. of teeth|Chain Pitch Do B L d A (]
DL-381-17 17 38.1 105.47 20 42 85 13 16
DL-381-19 19 38.1 117.35 20 42 95 13 16
DL-381-21 21 38.1 129.26 20 42 105 13 16
DL-381-23 23 38.1 141.22 20 42 120 13 16
DL-381-25 25 38.1 153.21 20 42 130 13 16
DL-381-27 27 38.1 165.20 20 42 145 13 16
DL-381-29 29 38.1 177.27 20 42 155 13 16
DL-381-31 31 38.1 189.28 20 42 167 13 16

For Bandkedja av Stal / For steel Table Top Chains

Kedjans Kan aven levereras
L Best. nr. Tandantal | delning med andra tandantal
Code INo. of teeth|Chain Pitch Do B L och i annat material.
% ST-381-17 17 38.1 105.47 20 42
/ ST-381-19 19 38.1 117.35 20 42 Other material
7 ST-381-21 21 38.1 129.26 20 42 and no. of teeth
8 e —— - p, ST-381-23 23 38.1 141.22 20 42 on request.
7 ST-381-25 25 38.1 153.21 20 42
/ ST-381-27 27 38.1 165.20 20 42
//// ST-381-29 29 38.1 177.27 20 42
ST-381-31 31 38.1 189.28 20 42
For Kurvgaende Bandkedja / For Sideflexing Table Top Chains .41.277
Best. nr. Tandantal [Delnings dia.
Code No. of teeth | Pitch dia. Yd B B max Vikt kg
HRTL-9 9 111.40 109.98 19 45 13 vd
HRTL-10 10 123.30 122.42 19 45 14 W4
HRTL-11 11 135.20 134.87 19 45 15 B
HRTL-12 12 14722 | 147.32 19 45 16 | W
HRTL-15 15 183.26 184.40 19 45 1.9
[
15.87

Returhjul for Bandkedja / Idler wheel for Table Top Chains

Best. nr. Tandantal
Code No. of teeth Yd B D L E
IW-21-T 21 130 25.0 63.5 44.50 55.5
IW-23-T 23 142 25.4 63.5 44.50 55.5
]
WW IW-25-T 25 155 25.4 63.5 44.50 55.5
2 7

Se aven Kapitel J1 for fler Kedjehjul for bandkedjor

Reservation fér mattférandringar / Reservation for dimensional changes
Matt i mm / Dimensions in mm 67



68

TRANSMISSIONSLEVERANTOREN AB

{TRANSLEM

www.translev.se
tif: 08-446 39 90

info@translev.se
fax: 08-756 44 73



	Spännförband.pdf
	Sidor från 11_RCK_CLAMPING_ELEMENTS_gb 2.pdf
	11_RCK_CLAMPING_ELEMENTS_gb.pdf

	B.pdf



